Washoe County School District 2019-20 Class Size by School and Grade

			Teacher	
School	Grade	Enrollment	Allocations	Class Size
Elementary Schools:				
ALLEN ELEMENTARY SCHOOL	К	79	4.0	19.75
ALLEN ELEMENTARY SCHOOL	1	70	4.0	17.50
ALLEN ELEMENTARY SCHOOL	2	64	4.0	16.00
ALLEN ELEMENTARY SCHOOL	3	65	3.0	21.67
ALLEN ELEMENTARY SCHOOL	4	71	3.0	23.67
ALLEN ELEMENTARY SCHOOL	5	68	2.0	34.00
ANDERSON ELEMENTARY SCHOOL	К	78	4.0	19.50
ANDERSON ELEMENTARY SCHOOL	1	61	4.0	15.25
ANDERSON ELEMENTARY SCHOOL	2	68	4.0	17.00
ANDERSON ELEMENTARY SCHOOL	3	79	4.0	19.75
ANDERSON ELEMENTARY SCHOOL	4	52	2.0	26.00
ANDERSON ELEMENTARY SCHOOL	5	64	2.0	32.00
ANDERSON ELEMENTARY SCHOOL	6	58	2.0	29.00
BEASLEY ELEMENTARY SCHOOL	K	94	4.0	23.50
BEASLEY ELEMENTARY SCHOOL	1	127	7.0	18.14
BEASLEY ELEMENTARY SCHOOL	2	116	6.0	19.33
BEASLEY ELEMENTARY SCHOOL	3	118	5.0	23.60
BEASLEY ELEMENTARY SCHOOL	4	106	4.0	26.50
BEASLEY ELEMENTARY SCHOOL	5	109	4.0	27.25
BECK ELEMENATARY SCHOOL	К	79	4.0	19.75
BECK ELEMENATARY SCHOOL	1	82	4.0	20.50
BECK ELEMENATARY SCHOOL	2	90	5.0	18.00
BECK ELEMENATARY SCHOOL	3	85	4.0	21.25
BECK ELEMENATARY SCHOOL	4	87	3.0	29.00
BECK ELEMENATARY SCHOOL	5	71	2.0	35.50
BECK ELEMENATARY SCHOOL	6	69	3.0	23.00
BENNETT ELEMENTARY SCHOOL	K	65	3.0	21.67
BENNETT ELEMENTARY SCHOOL	1	71	4.0	17.75
BENNETT ELEMENTARY SCHOOL	2	53	3.0	17.67
BENNETT ELEMENTARY SCHOOL	3	69	4.0	17.25
BENNETT ELEMENTARY SCHOOL	4	78	3.0	26.00
BENNETT ELEMENTARY SCHOOL	5	84	3.0	28.00
BOOTH ELEMENTARY SCHOOL	K	65	3.0	21.67
BOOTH ELEMENTARY SCHOOL	1	57	3.0	19.00
BOOTH ELEMENTARY SCHOOL	2	61	4.0	15.25
BOOTH ELEMENTARY SCHOOL	3	44	3.0	14.67
BOOTH ELEMENTARY SCHOOL	4	63	2.0	31.50
BOOTH ELEMENTARY SCHOOL	5	53	2.0	26.50
BOOTH ELEMENTARY SCHOOL	6	55	2.0	27.50
POULAKIDAS ELEMENTARY SCHOOL	K	170	7.0	24.29
POULAKIDAS ELEMENTARY SCHOOL	1	136	7.0	19.43
POULAKIDAS ELEMENTARY SCHOOL	2	116	6.0	19.33
POULAKIDAS ELEMENTARY SCHOOL	3	113	5.0	22.60
POULAKIDAS ELEMENTARY SCHOOL	4	131	5.0	26.20
POULAKIDAS ELEMENTARY SCHOOL	5	99	3.0	33.00
BROWN ELEMENTARY SCHOOL	K	95	4.0	23.75
BROWN ELEMENTARY SCHOOL	1	98	5.0	19.60
BROWN ELEMENTARY SCHOOL	2	101	6.0	16.83
5 ELLINEITIMIT SOLIOOL	_	101	0.0	10.03

			Teacher	
School	Grade	Enrollment	Allocations	Class Size
BROWN ELEMENTARY SCHOOL	3	73	3.0	24.33
BROWN ELEMENTARY SCHOOL	4	101	4.0	25.25
BROWN ELEMENTARY SCHOOL	5	107	4.0	26.75
CANNAN ELEMENTARY SCHOOL	K	78	4.0	19.50
CANNAN ELEMENTARY SCHOOL	1	71	5.0	14.20
CANNAN ELEMENTARY SCHOOL	2	72	5.0	14.40
CANNAN ELEMENTARY SCHOOL	3	73	4.0	18.25
CANNAN ELEMENTARY SCHOOL	4	68	2.0	34.00
CANNAN ELEMENTARY SCHOOL	5	70	2.0	35.00
CAUGHLIN RANCH ELEMENTARY	K	77	4.0	19.25
CAUGHLIN RANCH ELEMENTARY	1	84	5.0	16.80
CAUGHLIN RANCH ELEMENTARY	2	104	6.0	17.33
CAUGHLIN RANCH ELEMENTARY	3	64	2.0	32.00
CAUGHLIN RANCH ELEMENTARY	4	78	2.0	39.00
CAUGHLIN RANCH ELEMENTARY	5	92	3.0	30.67
CAUGHLIN RANCH ELEMENTARY	6	54	2.0	27.00
CORBETT ELEMENTARY SCHOOL	K	64	4.0	16.00
CORBETT ELEMENTARY SCHOOL	1	78	4.0	19.50
CORBETT ELEMENTARY SCHOOL	2	69	4.0	17.25
CORBETT ELEMENTARY SCHOOL	3	69	3.0	23.00
CORBETT ELEMENTARY SCHOOL	4	70	3.0	23.33
CORBETT ELEMENTARY SCHOOL	5	77	3.0	25.67
CORBETT ELEMENTARY SCHOOL	6	59	2.0	29.50
DESERT HEIGHTS ELEMENTARY	K	51	3.0	17.00
DESERT HEIGHTS ELEMENTARY	1	73	4.0	18.25
DESERT HEIGHTS ELEMENTARY	2	54	3.0	18.00
DESERT HEIGHTS ELEMENTARY	3	67	3.0	22.33
DESERT HEIGHTS ELEMENTARY	4	60	2.0	30.00
DESERT HEIGHTS ELEMENTARY	5	65	2.0	32.50
DESERT HEIGHTS ELEMENTARY	6	76	2.0	38.00
DIEDRICHSEN ELEMENTARY SCHOOL	K	52	3.0	17.33
DIEDRICHSEN ELEMENTARY SCHOOL	1	60	3.0	20.00
DIEDRICHSEN ELEMENTARY SCHOOL	2	72	4.0	18.00
DIEDRICHSEN ELEMENTARY SCHOOL	3	57	3.0	19.00
DIEDRICHSEN ELEMENTARY SCHOOL	4	62	2.0	31.00
DIEDRICHSEN ELEMENTARY SCHOOL	5	60	2.0	30.00
DODSON ELEMENTARY SCHOOL	K	56	3.0	18.67
DODSON ELEMENTARY SCHOOL	1	60	4.0	15.00
DODSON ELEMENTARY SCHOOL	2	49	3.0	16.33
DODSON ELEMENTARY SCHOOL	3	60	3.0	20.00
DODSON ELEMENTARY SCHOOL	4	52	2.0	26.00
DODSON ELEMENTARY SCHOOL	5	58	2.0	29.00
DODSON ELEMENTARY SCHOOL	6	58	2.0	29.00
DRAKE ELEMENTARY SCHOOL	K	38	2.0	19.00
DRAKE ELEMENTARY SCHOOL	1	41	2.0	20.50
DRAKE ELEMENTARY SCHOOL	2	36	2.0	18.00
DRAKE ELEMENTARY SCHOOL	3	41	2.0	20.50
DRAKE ELEMENTARY SCHOOL	4	35	1.0	35.00
DRAKE ELEMENTARY SCHOOL	5	39	2.0	19.50
DUNCAN ELEMENTARY SCHOOL	K	69	3.0	23.00
DUNCAN ELEMENTARY SCHOOL	1	57	4.0	14.25
DUNCAN ELEMENTARY SCHOOL	2	76	5.0	15.20

			Teacher	
School	Grade	Enrollment	Allocations	Class Size
DUNCAN ELEMENTARY SCHOOL	3	53	3.0	17.67
DUNCAN ELEMENTARY SCHOOL	4	74	3.0	24.67
DUNCAN ELEMENTARY SCHOOL	5	57	2.0	28.50
DUNN ELEMENTARY SCHOOL	K	99	4.0	24.75
DUNN ELEMENTARY SCHOOL	1	78	5.0	15.60
DUNN ELEMENTARY SCHOOL	2	96	6.0	16.00
DUNN ELEMENTARY SCHOOL	3	97	5.0	19.40
DUNN ELEMENTARY SCHOOL	4	71	3.0	23.67
DUNN ELEMENTARY SCHOOL	5	71	3.0	23.67
ELMCREST ELEMENTARY SCHOOL	K	48	3.0	16.00
ELMCREST ELEMENTARY SCHOOL	1	63	4.0	15.75
ELMCREST ELEMENTARY SCHOOL	2	47	3.0	15.67
ELMCREST ELEMENTARY SCHOOL	3	53	3.0	17.67
ELMCREST ELEMENTARY SCHOOL	4	55	2.0	27.50
ELMCREST ELEMENTARY SCHOOL	5	52	2.0	26.00
GREENBRAE ELEMENTARY SCHOOL	K	47	2.0	23.50
GREENBRAE ELEMENTARY SCHOOL	1	56	3.0	18.67
GREENBRAE ELEMENTARY SCHOOL	2	51	3.0	17.00
GREENBRAE ELEMENTARY SCHOOL	3	49	2.0	24.50
GREENBRAE ELEMENTARY SCHOOL	4	45	2.0	22.50
GREENBRAE ELEMENTARY SCHOOL	5	53	2.0	26.50
GOMES ELEMENTARY SCHOOL	K	119	5.0	23.80
GOMES ELEMENTARY SCHOOL	1	117	7.0	16.71
GOMES ELEMENTARY SCHOOL	2	113	7.0	16.14
GOMES ELEMENTARY SCHOOL	3	118	6.0	19.67
GOMES ELEMENTARY SCHOOL	4	140	5.0	28.00
GOMM ELEMENTARY SCHOOL	K	64	3.0	21.33
GOMM ELEMENTARY SCHOOL	1	72	3.0	24.00
GOMM ELEMENTARY SCHOOL	2	64	3.0	21.33
GOMM ELEMENTARY SCHOOL	3	69	3.0	23.00
GOMM ELEMENTARY SCHOOL	4	75	2.0	37.50
GOMM ELEMENTARY SCHOOL	5	69	2.0	34.50
GOMM ELEMENTARY SCHOOL	6	45	2.0	22.50
HIDDEN VALLEY ELEMENTARY	K	69	3.0	23.00
HIDDEN VALLEY ELEMENTARY	1	62	3.0	20.67
HIDDEN VALLEY ELEMENTARY	2	69	4.0	17.25
HIDDEN VALLEY ELEMENTARY	3	57	3.0	19.00
HIDDEN VALLEY ELEMENTARY	4	53	2.0	26.50
HIDDEN VALLEY ELEMENTARY	5	42	2.0	21.00
HIDDEN VALLEY ELEMENTARY	6	52	2.0	26.00
HUFFAKER ELEMENTARY SCHOOL	K	81	4.0	20.25
HUFFAKER ELEMENTARY SCHOOL	1	76	4.0	19.00
HUFFAKER ELEMENTARY SCHOOL	2	59	3.0	19.67
HUFFAKER ELEMENTARY SCHOOL	3	45	2.0	22.50
HUFFAKER ELEMENTARY SCHOOL	4	48	2.0	24.00
HUFFAKER ELEMENTARY SCHOOL	5	52	2.0	26.00
HUFFAKER ELEMENTARY SCHOOL	6	43	2.0	21.50
HUNTER LAKE ELEMENTARY SCHOOL	K	72	3.0	24.00
HUNTER LAKE ELEMENTARY SCHOOL	1	55	3.0	18.33
HUNTER LAKE ELEMENTARY SCHOOL	2	56	3.0	18.67
HUNTER LAKE ELEMENTARY SCHOOL	3	50	2.0	25.00
HUNTER LAKE ELEMENTARY SCHOOL	4	53	2.0	26.50

			Teacher	
School	Grade	Enrollment	Allocations	Class Size
HUNTER LAKE ELEMENTARY SCHOOL	5	44	2.0	22.00
HUNTER LAKE ELEMENTARY SCHOOL	6	48	2.0	24.00
HUNSBERGER ELEMENTARY SCHOOL	K	93	4.0	23.25
HUNSBERGER ELEMENTARY SCHOOL	1	91	5.0	18.20
HUNSBERGER ELEMENTARY SCHOOL	2	85	5.0	17.00
HUNSBERGER ELEMENTARY SCHOOL	3	86	4.0	21.50
HUNSBERGER ELEMENTARY SCHOOL	4	117	3.0	39.00
HUNSBERGER ELEMENTARY SCHOOL	5	110	3.0	36.67
HUNSBERGER ELEMENTARY SCHOOL	6	90	3.0	30.00
INCLINE ELEMENTARY SCHOOL	K	43	2.0	21.50
INCLINE ELEMENTARY SCHOOL	1	59	3.0	19.67
INCLINE ELEMENTARY SCHOOL	2	33	2.0	16.50
INCLINE ELEMENTARY SCHOOL	3	47	2.0	23.50
INCLINE ELEMENTARY SCHOOL	4	56	2.0	28.00
INCLINE ELEMENTARY SCHOOL	5	52	2.0	26.00
JUNIPER ELEMENTARY SCHOOL	K	74	3.0	24.67
JUNIPER ELEMENTARY SCHOOL	1	66	4.0	16.50
JUNIPER ELEMENTARY SCHOOL	2	89	5.0	17.80
JUNIPER ELEMENTARY SCHOOL	3	73	3.0	24.33
JUNIPER ELEMENTARY SCHOOL	4	81	3.0	27.00
JUNIPER ELEMENTARY SCHOOL	5	65	2.0	32.50
LEMMON VALLEY ELEMENTARY	K	92	4.0	23.00
LEMMON VALLEY ELEMENTARY	1	89	5.0	17.80
LEMMON VALLEY ELEMENTARY	2	110	6.0	18.33
LEMMON VALLEY ELEMENTARY	3	86	4.0	21.50
LEMMON VALLEY ELEMENTARY	4	103	4.0	25.75
LEMMON VALLEY ELEMENTARY	5	88	3.0	29.33
LENZ ELEMENTARY SCHOOL	K	93	4.0	23.25
LENZ ELEMENTARY SCHOOL	1	84	5.0	16.80
LENZ ELEMENTARY SCHOOL	2	89	4.0	22.25
LENZ ELEMENTARY SCHOOL	3	75	3.0	25.00
LENZ ELEMENTARY SCHOOL	4	64	2.0	32.00
LENZ ELEMENTARY SCHOOL	5	61	2.0	30.50
LENZ ELEMENTARY SCHOOL	6	68	2.0	34.00
LINCOLN PARK ELEMENTARY SCHOOL	K	76	4.0	19.00
LINCOLN PARK ELEMENTARY SCHOOL	1	86	5.0	17.20
LINCOLN PARK ELEMENTARY SCHOOL	2	63	4.0	15.75
LINCOLN PARK ELEMENTARY SCHOOL	3	59	3.0	19.67
LINCOLN PARK ELEMENTARY SCHOOL	4	57	2.0	28.50
LINCOLN PARK ELEMENTARY SCHOOL	5	55	2.0	27.50
LODER ELEMENTARY SCHOOL	K	69	3.0	23.00
LODER ELEMENTARY SCHOOL	1	77	5.0	15.40
LODER ELEMENTARY SCHOOL	2	65	4.0	16.25
LODER ELEMENTARY SCHOOL	3	83	4.0	20.75
LODER ELEMENTARY SCHOOL	4	75	3.0	25.00
LODER ELEMENTARY SCHOOL	5	79	3.0	26.33
LODER ELEMENTARY SCHOOL	6	85	3.0	28.33
MATHEWS ELEMENTARY SCHOOL	K	91	4.0	22.75
MATHEWS ELEMENTARY SCHOOL	1	89	6.0	14.83
MATHEWS ELEMENTARY SCHOOL	2	87	6.0	14.50
MATHEWS ELEMENTARY SCHOOL	3	86	4.0	21.50
MATHEWS ELEMENTARY SCHOOL	4	84	3.0	28.00

			Teacher	
School	Grade	Enrollment	Allocations	Class Size
MATHEWS ELEMENTARY SCHOOL	5	96	3.0	32.00
MAXWELL ELEMENTARY SCHOOL	K	70	3.0	23.33
MAXWELL ELEMENTARY SCHOOL	1	64	4.0	16.00
MAXWELL ELEMENTARY SCHOOL	2	68	4.0	17.00
MAXWELL ELEMENTARY SCHOOL	3	66	3.0	22.00
MAXWELL ELEMENTARY SCHOOL	4	73	3.0	24.33
MAXWELL ELEMENTARY SCHOOL	5	73	3.0	24.33
MITCHELL ELEMENTARY SCHOOL	K	65	3.0	21.67
MITCHELL ELEMENTARY SCHOOL	1	52	3.0	17.33
MITCHELL ELEMENTARY SCHOOL	2	75	5.0	15.00
MITCHELL ELEMENTARY SCHOOL	3	54	3.0	18.00
MITCHELL ELEMENTARY SCHOOL	4	59	2.0	29.50
MITCHELL ELEMENTARY SCHOOL	5	76	3.0	25.33
MOSS ELEMENTARY SCHOOL	K	60	3.0	20.00
MOSS ELEMENTARY SCHOOL	1	63	3.0	21.00
MOSS ELEMENTARY SCHOOL	2	58	3.0	19.33
MOSS ELEMENTARY SCHOOL	3	53	2.0	26.50
MOSS ELEMENTARY SCHOOL	4	64	2.0	32.00
MOSS ELEMENTARY SCHOOL	5	65	2.0	32.50
MT ROSE ELEMENTARY SCHOOL	K	56	3.0	18.67
MT ROSE ELEMENTARY SCHOOL	1	70	4.0	17.50
MT ROSE ELEMENTARY SCHOOL	2	60	3.0	20.00
MT ROSE ELEMENTARY SCHOOL	3	47	2.0	23.50
MT ROSE ELEMENTARY SCHOOL	4	62	2.0	31.00
MT ROSE ELEMENTARY SCHOOL	5	51	2.0	25.50
MT ROSE ELEMENTARY SCHOOL	6	70	2.0	35.00
MT ROSE ELEMENTARY SCHOOL	7	35	1.0	35.00
MT ROSE ELEMENTARY SCHOOL	8	32	1.0	32.00
PALMER ELEMENTARY SCHOOL	K	97	4.0	24.25
PALMER ELEMENTARY SCHOOL	1	72	4.0	18.00
PALMER ELEMENTARY SCHOOL	2	86	5.0	17.20
PALMER ELEMENTARY SCHOOL	3	67	4.0	16.75
PALMER ELEMENTARY SCHOOL	4	75	3.0	25.00
PALMER ELEMENTARY SCHOOL	5	62	2.0	31.00
PEAVINE ELEMENTARY SCHOOL	K	71	3.0	23.67
PEAVINE ELEMENTARY SCHOOL	1	55	3.0	18.33
PEAVINE ELEMENTARY SCHOOL	2	57	3.0	19.00
PEAVINE ELEMENTARY SCHOOL	3	61	3.0	20.33
PEAVINE ELEMENTARY SCHOOL	4	51	2.0	25.50
PEAVINE ELEMENTARY SCHOOL	5	55	2.0	27.50
PLEASANT VALLEY ELEMENTARY	K	59	3.0	19.67
PLEASANT VALLEY ELEMENTARY	1	58	3.0	19.33
PLEASANT VALLEY ELEMENTARY	2	71	4.0	17.75
PLEASANT VALLEY ELEMENTARY	3	63	3.0	21.00
PLEASANT VALLEY ELEMENTARY	4	64	2.0	32.00
PLEASANT VALLEY ELEMENTARY	5	72	3.0	24.00
DONNER SPRINGS ELEMENTARY	K	103	5.0	20.60
DONNER SPRINGS ELEMENTARY	1	90	5.0	18.00
DONNER SPRINGS ELEMENTARY	2	73	4.0	18.25
DONNER SPRINGS ELEMENTARY	3	94	4.0	23.50
DONNER SPRINGS ELEMENTARY	4	78	3.0	26.00
DONNER SPRINGS ELEMENTARY	5	89	3.0	29.67

			Teacher	
School	Grade	Enrollment	Allocations	Class Size
DONNER SPRINGS ELEMENTARY	6	74	3.0	24.67
RISLEY ELEMENTARY SCHOOL	K	79	4.0	19.75
RISLEY ELEMENTARY SCHOOL	1	84	5.0	16.80
RISLEY ELEMENTARY SCHOOL	2	80	5.0	16.00
RISLEY ELEMENTARY SCHOOL	3	80	4.0	20.00
RISLEY ELEMENTARY SCHOOL	4	76	3.0	25.33
RISLEY ELEMENTARY SCHOOL	5	58	2.0	29.00
LEMELSON STEM ACAD ELEM SCHL	K	49	3.0	16.33
LEMELSON STEM ACAD ELEM SCHL	1	47	3.0	15.67
LEMELSON STEM ACAD ELEM SCHL	2	51	3.0	17.00
LEMELSON STEM ACAD ELEM SCHL	3	47	2.0	23.50
LEMELSON STEM ACAD ELEM SCHL	4	37	2.0	18.50
LEMELSON STEM ACAD ELEM SCHL	5	43	2.0	21.50
SILVER LAKE ELEMENTARY SCHOOL	K	119	6.0	19.83
SILVER LAKE ELEMENTARY SCHOOL	1	98	5.0	19.60
SILVER LAKE ELEMENTARY SCHOOL	2	116	6.0	19.33
SILVER LAKE ELEMENTARY SCHOOL	3	110	5.0	22.00
SILVER LAKE ELEMENTARY SCHOOL	4	105	4.0	26.25
SMITH (KATE) ELEMENTARY SCHOOL	K	34	2.0	17.00
SMITH (KATE) ELEMENTARY SCHOOL	1	50	3.0	16.67
SMITH (KATE) ELEMENTARY SCHOOL	2	41	3.0	13.67
SMITH (KATE) ELEMENTARY SCHOOL	3	34	2.0	17.00
SMITH (KATE) ELEMENTARY SCHOOL	4	39	2.0	19.50
SMITH (KATE) ELEMENTARY SCHOOL	5	43	2.0	21.50
SMITH (ALICE) ELEMENTARY SCHL	K	103	4.0	25.75
SMITH (ALICE) ELEMENTARY SCHL	1	101	6.0	16.83
SMITH (ALICE) ELEMENTARY SCHL	2	93	6.0	15.50
SMITH (ALICE) ELEMENTARY SCHL	3	98	5.0	19.60
SMITH (ALICE) ELEMENTARY SCHL	4	109	4.0	27.25
SMITH (ALICE) ELEMENTARY SCHL	5	121	4.0	30.25
SMITH (ALICE) ELEMENTARY SCHL	6	127	4.0	31.75
SMITHRIDGE ELEMENTARY SCHOOL	K	80	4.0	20.00
SMITHRIDGE ELEMENTARY SCHOOL	1	103	6.0	17.17
SMITHRIDGE ELEMENTARY SCHOOL	2	91	6.0	15.17
SMITHRIDGE ELEMENTARY SCHOOL	3	115	6.0	19.17
SMITHRIDGE ELEMENTARY SCHOOL	4	83	3.0	27.67
SMITHRIDGE ELEMENTARY SCHOOL	5	97	3.0	32.33
SPANISH SPRINGS ELEMENTARY SCHOOL	K	105	5.0	21.00
SPANISH SPRINGS ELEMENTARY SCHOOL	1	114	6.0	19.00
SPANISH SPRINGS ELEMENTARY SCHOOL	2	137	8.0	17.13
SPANISH SPRINGS ELEMENTARY SCHOOL	3	135	6.0	22.50
SPANISH SPRINGS ELEMENTARY SCHOOL	4	150	5.0	30.00
SPANISH SPRINGS ELEMENTARY SCHOOL	5	118	4.0	29.50
STEAD ELEMENTARY SCHOOL	K	101	5.0	20.20
STEAD ELEMENTARY SCHOOL	1	91	6.0	15.17
STEAD ELEMENTARY SCHOOL	2	83	6.0	13.83
STEAD ELEMENTARY SCHOOL	3	107	6.0	17.83
STEAD ELEMENTARY SCHOOL	4	89	3.0	29.67
STEAD ELEMENTARY SCHOOL	5	107	4.0	26.75
STEAD ELEMENTARY SCHOOL	6	105	4.0	26.25
SUN VALLEY ELEMENTARY SCHOOL	K	86	4.0	21.50
SUN VALLEY ELEMENTARY SCHOOL	1	80	5.0	16.00

			Teacher	
School	Grade	Enrollment	Allocations	Class Size
SUN VALLEY ELEMENTARY SCHOOL	2	84	5.0	16.80
SUN VALLEY ELEMENTARY SCHOOL	3	93	5.0	18.60
SUN VALLEY ELEMENTARY SCHOOL	4	78	3.0	26.00
SUN VALLEY ELEMENTARY SCHOOL	5	98	3.0	32.67
TAYLOR ELEMENTARY SCHOOL	K	104	5.0	20.80
TAYLOR ELEMENTARY SCHOOL	1	102	6.0	17.00
TAYLOR ELEMENTARY SCHOOL	2	116	6.0	19.33
TAYLOR ELEMENTARY SCHOOL	3	119	5.0	23.80
TAYLOR ELEMENTARY SCHOOL	4	111	4.0	27.75
TAYLOR ELEMENTARY SCHOOL	5	96	3.0	32.00
TOWLES ELEMENTARY SCHOOL	K	55	3.0	18.33
TOWLES ELEMENTARY SCHOOL	1	45	2.0	22.50
TOWLES ELEMENTARY SCHOOL	2	50	3.0	16.67
TOWLES ELEMENTARY SCHOOL	3	45	2.0	22.50
TOWLES ELEMENTARY SCHOOL	4	54	2.0	27.00
TOWLES ELEMENTARY SCHOOL	5	47	2.0	23.50
VERDI ELEMENTARY SCHOOL	K	43	2.0	21.50
VERDI ELEMENTARY SCHOOL	1	40	2.0	20.00
VERDI ELEMENTARY SCHOOL	2	42	2.0	21.00
VERDI ELEMENTARY SCHOOL	3	43	2.0	21.50
VERDI ELEMENTARY SCHOOL	4	39	2.0	19.50
VERDI ELEMENTARY SCHOOL	5	48	2.0	24.00
VETERANS MEMORIAL ELEMENTARY	K	55	3.0	18.33
VETERANS MEMORIAL ELEMENTARY	1	61	4.0	15.25
VETERANS MEMORIAL ELEMENTARY	2	55	4.0	13.75
VETERANS MEMORIAL ELEMENTARY	3	57	3.0	19.00
VETERANS MEMORIAL ELEMENTARY	4	57	2.0	28.50
VETERANS MEMORIAL ELEMENTARY	5	45	2.0	22.50
VETERANS MEMORIAL ELEMENTARY	6	68	2.0	34.00
WARNER ELEMENTARY SCHOOL	K	51	3.0	17.00
WARNER ELEMENTARY SCHOOL	1	69	4.0	17.25
WARNER ELEMENTARY SCHOOL	2	46	3.0	15.33
WARNER ELEMENTARY SCHOOL	3	42	2.0	21.00
WARNER ELEMENTARY SCHOOL	4	40	2.0	20.00
WARNER ELEMENTARY SCHOOL	5	53	2.0	26.50
WESTERGARD ELEMENTARY SCHOOL	K	90	4.0	22.50
WESTERGARD ELEMENTARY SCHOOL	1	82	4.0	20.50
WESTERGARD ELEMENTARY SCHOOL	2	104	6.0	17.33
WESTERGARD ELEMENTARY SCHOOL	3	74	3.0	24.67
WESTERGARD ELEMENTARY SCHOOL	4	92	3.0	30.67
WESTERGARD ELEMENTARY SCHOOL	5	122	4.0	30.50
WHITEHEAD ELEMENTARY SCHOOL	K	49	2.0	24.50
WHITEHEAD ELEMENTARY SCHOOL	1	61	3.0	20.33
WHITEHEAD ELEMENTARY SCHOOL	2	68	4.0	17.00
WHITEHEAD ELEMENTARY SCHOOL	3	56	3.0	18.67
WHITEHEAD ELEMENTARY SCHOOL	4	55	2.0	27.50
WHITEHEAD ELEMENTARY SCHOOL	5	63	2.0	31.50
WINNEMUCCA ELEMENTARY SCHOOL	K	118	6.0	19.67
WINNEMUCCA ELEMENTARY SCHOOL	1	103	5.0	20.60
WINNEMUCCA ELEMENTARY SCHOOL	2	85	4.0	21.25
WINNEMUCCA ELEMENTARY SCHOOL	3	84	4.0	21.00
WINNEMUCCA ELEMENTARY SCHOOL	4	96	3.0	32.00

			Teacher	
School	Grade	Enrollment	Allocations	Class Size
WINNEMUCCA ELEMENTARY SCHOOL	5	83	3.0	27.67
MELTON ELEMENTARY	K	78	4.0	19.50
MELTON ELEMENTARY	1	99	5.0	19.80
MELTON ELEMENTARY	2	99	5.0	19.80
MELTON ELEMENTARY	3	97	4.0	24.25
MELTON ELEMENTARY	4	95	4.0	23.75
MELTON ELEMENTARY	5	93	3.0	31.00
VANGORDER ELEMENTARY SCHOOL	K	109	5.0	21.80
VANGORDER ELEMENTARY SCHOOL	1	134	8.0	16.75
VANGORDER ELEMENTARY SCHOOL	2	134	8.0	16.75
VANGORDER ELEMENTARY SCHOOL	3	119	5.0	23.80
VANGORDER ELEMENTARY SCHOOL	4	125	4.0	31.25
VANGORDER ELEMENTARY SCHOOL	5	125	4.0	31.25
DOUBLE DIAMOND ELEMENTARY SCHOOL	K	104	5.0	20.80
DOUBLE DIAMOND ELEMENTARY SCHOOL	1	94	5.0	18.80
DOUBLE DIAMOND ELEMENTARY SCHOOL	2	73	4.0	18.25
DOUBLE DIAMOND ELEMENTARY SCHOOL	3	93	4.0	23.25
DOUBLE DIAMOND ELEMENTARY SCHOOL	4	72	3.0	24.00
DOUBLE DIAMOND ELEMENTARY SCHOOL	5	84	3.0	28.00
SEPULVEDA ELEMENTARY SCHOOL	K	126	6.0	21.00
SEPULVEDA ELEMENTARY SCHOOL	1	123	7.0	17.57
SEPULVEDA ELEMENTARY SCHOOL	2	113	6.0	18.83
SEPULVEDA ELEMENTARY SCHOOL	3	116	5.0	23.20
SEPULVEDA ELEMENTARY SCHOOL	4	125	4.0	31.25
SEPULVEDA ELEMENTARY SCHOOL	5	120	4.0	30.00
HALL ELEMENTARY SCHOOL	K	86	4.0	21.50
HALL ELEMENTARY SCHOOL	1	67	4.0	16.75
HALL ELEMENTARY SCHOOL	2	95	5.0	19.00
HALL ELEMENTARY SCHOOL	3	85	4.0	21.25
HALL ELEMENTARY SCHOOL	4	99	3.0	33.00
HALL ELEMENTARY SCHOOL	5	85	3.0	28.33
NATCHEZ	1-5	111	9.0	12.33

C.h. I	C)	F	# -£ 6!	61- C'
School ddle Schools:	Class	Enrollment	# of Classes	Class Size
ARCHIE CLAYTON PRE-A.P. ACADEMY	ACCEL ANALYZE WAR	26	2	13.00
ARCHIE CLAYTON PRE-A.P. ACADEMY	ACCEL CHALLENGES	31	3	10.33
ARCHIE CLAYTON PRE-A.P. ACADEMY	ACCEL CRIT OF AMER HIST	28	2	14.00
ARCHIE CLAYTON PRE-A.P. ACADEMY	ACCEL CRITICS OF LANG 6	23	1	23.00
ARCHIE CLAYTON PRE-A.P. ACADEMY	ACCEL CRITICS OF LANG 7	28	2	14.00
ARCHIE CLAYTON PRE-A.P. ACADEMY	ACCEL CRITICS OF LANG 8	26	2	13.00
ARCHIE CLAYTON PRE-A.P. ACADEMY	ACCEL HIST PERSPECT 6	23	1	23.00
ARCHIE CLAYTON PRE-A.P. ACADEMY	ACCEL HONORS BIOLOGY	26	2	13.00
ARCHIE CLAYTON PRE-A.P. ACADEMY	ACCEL HS INT MATH I	24	2	12.00
ARCHIE CLAYTON PRE-A.P. ACADEMY	ACCEL HS INT MATH II	20	1	20.00
ARCHIE CLAYTON PRE-A.P. ACADEMY	ACCEL MATH 6	22	1	22.00
ARCHIE CLAYTON PRE-A.P. ACADEMY	ACCEL PHYS SCI INVEST 7	28	2	14.00
ARCHIE CLAYTON PRE-A.P. ACADEMY	ACCEL SCIENCE INVEST 6	23	1	23.00
ARCHIE CLAYTON PRE-A.P. ACADEMY	ADV BAND	21	2	10.50
ARCHIE CLAYTON PRE-A.P. ACADEMY	ADV ORCHESTRA	28	2	14.00
ARCHIE CLAYTON PRE-A.P. ACADEMY	ALGEBRA 1	30	1	30.00
ARCHIE CLAYTON PRE-A.P. ACADEMY	ART	150	5	30.00
ARCHIE CLAYTON PRE-A.P. ACADEMY	BEGIN BAND	85	2	42.50
ARCHIE CLAYTON PRE-A.P. ACADEMY	CHORUS	101	4	25.25
ARCHIE CLAYTON PRE-A.P. ACADEMY	COMPUTERS & APPS	117	5	23.40
ARCHIE CLAYTON PRE-A.P. ACADEMY	ELA 7	234	8	29.25
ARCHIE CLAYTON PRE-A.P. ACADEMY	ELA 8	230	8	28.75
ARCHIE CLAYTON PRE-A.P. ACADEMY	ELA SUPPORT	38	2	19.00
ARCHIE CLAYTON PRE-A.P. ACADEMY	ENRICH / INTERV	797	36	22.14
ARCHIE CLAYTON PRE-A.P. ACADEMY	G6: ELA	189	7	27.00
ARCHIE CLAYTON PRE-A.P. ACADEMY	G6: SOCIAL STUDIES	210	7	30.00
ARCHIE CLAYTON PRE-A.P. ACADEMY	HEALTH & FITNESS	21	1	21.00
ARCHIE CLAYTON PRE-A.P. ACADEMY	INTERM BAND	31	2	15.50
ARCHIE CLAYTON PRE-A.P. ACADEMY	INTERM ORCHESTRA	44	2	22.00
ARCHIE CLAYTON PRE-A.P. ACADEMY	LEADERSHIP	23	1	23.00
ARCHIE CLAYTON PRE-A.P. ACADEMY	MATH 6	192	7	27.43
ARCHIE CLAYTON PRE-A.P. ACADEMY	MATH 7	197	7	28.14
ARCHIE CLAYTON PRE-A.P. ACADEMY	MATH 7-8	39	1	39.00
ARCHIE CLAYTON PRE-A.P. ACADEMY	MATH 8	198	7	28.29
ARCHIE CLAYTON PRE-A.P. ACADEMY	MLTCUL ART & CRFT	31	1	31.00
ARCHIE CLAYTON PRE-A.P. ACADEMY	ORCHESTRA	82	2	41.00
ARCHIE CLAYTON PRE-A.P. ACADEMY	PE	367	12	30.58
ARCHIE CLAYTON PRE-A.P. ACADEMY	PE 6	103	2	51.50
ARCHIE CLAYTON PRE-A.P. ACADEMY	READ 180	60	5	12.00
ARCHIE CLAYTON PRE-A.P. ACADEMY	SCIENCE 6	211	7	30.14
ARCHIE CLAYTON PRE-A.P. ACADEMY	SCIENCE 7	261	8	32.63
ARCHIE CLAYTON PRE-A.P. ACADEMY	SCIENCE 7	245	8	30.63
ARCHIE CLAYTON PRE-A.P. ACADEMY	SOCIAL STUDIES 7	260	8	32.50
ARCHIE CLAYTON PRE-A.P. ACADEMY	SOCIAL STUDIES 8	246	8	30.75
ARCHIE CLAYTON PRE-A.P. ACADEMY	SPANISH	16	1	16.00
ARCHIE CLAYTON PRE-A.P. ACADEMY	SPANISH 1	35	1	35.00
ARCHIE CLAYTON PRE-A.P. ACADEMY	SPANISH 2	15	1	15.00
ARCHIE CLAYTON PRE-A.P. ACADEMY	STUDENT AMBASSADORS	22	1	22.00
ARCHIE CLAYTON PRE-A.P. ACADEMY	TECH OF SCIENCE	115	5	23.00
ARCHIE CLAYTON PRE-A.P. ACADEMY	THE HEALTHY YOU	13	1	13.00
ARCHIE CLAYTON PRE-A.P. ACADEMY	WRITERS CRAFT	24	1	24.00
BILLINGHURST MIDDLE SCHOOL	ADV BAND	41	1	41.00
BILLINGHURST MIDDLE SCHOOL	ADV BAND ADV ORCHESTRA	52	1	52.00

School	Class	Enrollment	# of Classes	Class Size
BILLINGHURST MIDDLE SCHOOL	ALGEBRA 1	102	3	34.00
BILLINGHURST MIDDLE SCHOOL	ART	195	6	32.50
BILLINGHURST MIDDLE SCHOOL	BASKETBALL	96	2	48.00
BILLINGHURST MIDDLE SCHOOL	CHORUS	77	2	38.50
BILLINGHURST MIDDLE SCHOOL	COMPUTERS & APPS	87	3	29.00
BILLINGHURST MIDDLE SCHOOL	CONCERT CHOIR	38	1	38.00
BILLINGHURST MIDDLE SCHOOL	CURRENT EVENTS	30	1	30.00
BILLINGHURST MIDDLE SCHOOL	DRAMA	28	1	28.00
BILLINGHURST MIDDLE SCHOOL	ELA 7	363	12	30.25
BILLINGHURST MIDDLE SCHOOL	ELA 8	331	12	27.58
BILLINGHURST MIDDLE SCHOOL	ELA SUPPORT	14	1	14.00
BILLINGHURST MIDDLE SCHOOL	FRENCH 1	53	2	26.50
BILLINGHURST MIDDLE SCHOOL	FRENCH 2	23	1	23.00
BILLINGHURST MIDDLE SCHOOL	G6: ART	31	1	31.00
BILLINGHURST MIDDLE SCHOOL	G6: BAND	128	3	42.67
BILLINGHURST MIDDLE SCHOOL	G6: CHORUS	123	3	41.00
BILLINGHURST MIDDLE SCHOOL	G6: ELA	344	12	28.67
BILLINGHURST MIDDLE SCHOOL	G6: EXPLORATORY	31	1	31.00
BILLINGHURST MIDDLE SCHOOL	G6: FORENSICS	33	1	33.00
BILLINGHURST MIDDLE SCHOOL	G6: MATH	344	12	28.67
BILLINGHURST MIDDLE SCHOOL	G6: PE/HEALTH	41	1	41.00
BILLINGHURST MIDDLE SCHOOL	G6: S.L.B.	342	12	28.50
BILLINGHURST MIDDLE SCHOOL	G6: SCIENCE	349	12	29.08
BILLINGHURST MIDDLE SCHOOL	G6: SOCIAL STUDIES	349	12	29.08
BILLINGHURST MIDDLE SCHOOL	G6: STRINGS	103	3	34.33
BILLINGHURST MIDDLE SCHOOL	HOME ECONOMICS	195	6	32.50
BILLINGHURST MIDDLE SCHOOL	INTERM BAND	68	2	34.00
BILLINGHURST MIDDLE SCHOOL	INTERM ORCHESTRA	64	2	32.00
BILLINGHURST MIDDLE SCHOOL	MATH 7	263	9	29.22
BILLINGHURST MIDDLE SCHOOL	MATH 7-8	98	3	32.67
BILLINGHURST MIDDLE SCHOOL	MATH 8	229	9	25.44
BILLINGHURST MIDDLE SCHOOL	MLTCUL ART & CRFT	30	1	30.00
BILLINGHURST MIDDLE SCHOOL	PE	249	8	31.13
BILLINGHURST MIDDLE SCHOOL	PE 6	44	1	44.00
BILLINGHURST MIDDLE SCHOOL	SCIENCE 7	366	12	30.50
BILLINGHURST MIDDLE SCHOOL	SCIENCE 8	331	12	27.58
BILLINGHURST MIDDLE SCHOOL	SOCIAL STUDIES 7	365	12	30.42
BILLINGHURST MIDDLE SCHOOL	SOCIAL STUDIES 8	332	12	27.67
BILLINGHURST MIDDLE SCHOOL	SPANISH 1	298	8	37.25
BILLINGHURST MIDDLE SCHOOL	SPANISH 2	141	4	35.25
BILLINGHURST MIDDLE SCHOOL	STEM LAB	193	6	32.17
BILLINGHURST MIDDLE SCHOOL	THE HEALTHY YOU	32	1	32.00
BILLINGHURST MIDDLE SCHOOL	VOLLEYBALL	74	2	37.00
COLD SPRINGS MIDDLE SCHOOL	ADV BAND	37	1	37.00
COLD SPRINGS MIDDLE SCHOOL	ADV ORCHESTRA	56	2	28.00
COLD SPRINGS MIDDLE SCHOOL	ADVISORY	24	1	24.00
COLD SPRINGS MIDDLE SCHOOL	ADVISORY 7	237	10	23.70
COLD SPRINGS MIDDLE SCHOOL	ADVISORY 8	251	10	25.10
COLD SPRINGS MIDDLE SCHOOL	ALGEBRA 1	61	2	30.50
COLD SPRINGS MIDDLE SCHOOL	CHORUS	59	2	29.50
COLD SPRINGS MIDDLE SCHOOL	ELA 7	269	8	33.63
COLD SPRINGS MIDDLE SCHOOL	ELA 8	277	8	34.63
COLD SPRINGS MIDDLE SCHOOL	EXPLORATORY 7	71	3	23.67

School	Class	Enrollment	# of Classes	Class Size
COLD SPRINGS MIDDLE SCHOOL	FAM & CNSMR SCI	67	2	33.50
COLD SPRINGS MIDDLE SCHOOL	G5: ADVISORY	222	8	27.75
COLD SPRINGS MIDDLE SCHOOL	G5: COMPUTERS	64	2	32.00
COLD SPRINGS MIDDLE SCHOOL	G5: ELA	222	7	31.71
COLD SPRINGS MIDDLE SCHOOL	G5: EXPLORATORY	163	6	27.17
COLD SPRINGS MIDDLE SCHOOL	G5: MATH	222	7	31.71
COLD SPRINGS MIDDLE SCHOOL	G5: MUSIC	62	2	31.00
COLD SPRINGS MIDDLE SCHOOL	G5: SCIENCE	223	7	31.86
COLD SPRINGS MIDDLE SCHOOL	G5: SOCIAL STUDIES	212	7	30.29
COLD SPRINGS MIDDLE SCHOOL	G6: ADVISORY	218	10	21.80
COLD SPRINGS MIDDLE SCHOOL	G6: BAND	84	2	42.00
COLD SPRINGS MIDDLE SCHOOL	G6: CHORUS	56	2	28.00
COLD SPRINGS MIDDLE SCHOOL	G6: ELA	227	7	32.43
COLD SPRINGS MIDDLE SCHOOL	G6: EXPLORATORY	46	2	23.00
COLD SPRINGS MIDDLE SCHOOL	G6: MATH	227	7	32.43
COLD SPRINGS MIDDLE SCHOOL	G6: PE/HEALTH	96	4	24.00
COLD SPRINGS MIDDLE SCHOOL	G6: SCIENCE	230	7	32.86
COLD SPRINGS MIDDLE SCHOOL	G6: SOCIAL STUDIES	227	7	32.43
COLD SPRINGS MIDDLE SCHOOL	G6: STRINGS	90	2	45.00
COLD SPRINGS MIDDLE SCHOOL	HOME ECONOMICS	96	3	32.00
COLD SPRINGS MIDDLE SCHOOL	INTERM BAND	57	2	28.50
COLD SPRINGS MIDDLE SCHOOL	INTERM ORCHESTRA	91	2	45.50
COLD SPRINGS MIDDLE SCHOOL	LEADERSHIP	41	1	41.00
COLD SPRINGS MIDDLE SCHOOL	MATH 7	196	6	32.67
COLD SPRINGS MIDDLE SCHOOL	MATH 7-8	71	2	35.50
COLD SPRINGS MIDDLE SCHOOL	MATH 8	216	6	36.00
COLD SPRINGS MIDDLE SCHOOL	PE	257	8	32.13
COLD SPRINGS MIDDLE SCHOOL	READ 180	133	10	13.30
COLD SPRINGS MIDDLE SCHOOL	SCIENCE 7	269	8	33.63
COLD SPRINGS MIDDLE SCHOOL	SCIENCE 8	279	8	34.88
COLD SPRINGS MIDDLE SCHOOL	SOC STUDIES 8	277	8	34.63
COLD SPRINGS MIDDLE SCHOOL	SOCIAL STUDIES 7	267	8	33.38
COLD SPRINGS MIDDLE SCHOOL	STEM LAB	65	2	32.50
DARREL SWOPE MIDDLE SCHOOL	ACCEL ALGEBRA 1	12	1	12.00
DARREL SWOPE MIDDLE SCHOOL	ACCEL ANALYZE WAR	43	2	21.50
DARREL SWOPE MIDDLE SCHOOL	ACCEL CHALLENGES	144	6	24.00
DARREL SWOPE MIDDLE SCHOOL	ACCEL CRIT OF AMER HIST	57	2	28.50
DARREL SWOPE MIDDLE SCHOOL	ACCEL CRITICS OF LANG 6	44	2	22.00
DARREL SWOPE MIDDLE SCHOOL	ACCEL CRITICS OF LANG 7	57	2	28.50
DARREL SWOPE MIDDLE SCHOOL	ACCEL CRITICS OF LANG 8	43	2	21.50
DARREL SWOPE MIDDLE SCHOOL	ACCEL HIST PERSPECT 6	44	2	22.00
DARREL SWOPE MIDDLE SCHOOL	ACCEL HONORS BIOLOGY	43	2	21.50
DARREL SWOPE MIDDLE SCHOOL	ACCEL HS INT MATH I	56	3	18.67
DARREL SWOPE MIDDLE SCHOOL	ACCEL HS INT MATH II	28	2	14.00
DARREL SWOPE MIDDLE SCHOOL	ACCEL MATH 6	40	2	20.00
DARREL SWOPE MIDDLE SCHOOL	ACCEL PHYS SCI INVEST 7	57	2	28.50
DARREL SWOPE MIDDLE SCHOOL	ACCEL SCIENCE INVEST 6	44	2	22.00
DARREL SWOPE MIDDLE SCHOOL	ADV BAND	61	2	30.50
DARREL SWOPE MIDDLE SCHOOL	ADV ORCHESTRA	23	1	23.00
DARREL SWOPE MIDDLE SCHOOL	ADVISORY 6	44	2	22.00
DARREL SWOPE MIDDLE SCHOOL	ADVISORY 7	303	11	27.55
DARREL SWOPE MIDDLE SCHOOL	ADVISORY 8	272	10	27.20
DARREL SWOPE MIDDLE SCHOOL	ALGEBRA 1	78	3	26.00
DARREL SWOPE MIDDLE SCHOOL	ART	185	6	30.83

School				
SCHOOL	Class	Enrollment	# of Classes	Class Size
DARREL SWOPE MIDDLE SCHOOL	BEGIN BAND	36	1	36.00
DARREL SWOPE MIDDLE SCHOOL	BEGIN ORCHESTRA	32	1	32.00
DARREL SWOPE MIDDLE SCHOOL	CHORUS	42	1	42.00
DARREL SWOPE MIDDLE SCHOOL	COMPUTERS & APPS	62	2	31.00
DARREL SWOPE MIDDLE SCHOOL	CREATIVE WRITING	58	2	29.00
DARREL SWOPE MIDDLE SCHOOL	CULINARY ARTS	93	3	31.00
DARREL SWOPE MIDDLE SCHOOL	DRAMA	208	6	34.67
DARREL SWOPE MIDDLE SCHOOL	ELA 7	303	12	25.25
DARREL SWOPE MIDDLE SCHOOL	ELA 8	322	12	26.83
DARREL SWOPE MIDDLE SCHOOL	ENRICH / INTERV	44	2	22.00
DARREL SWOPE MIDDLE SCHOOL	ENRICH / INTERV 7	303	11	27.55
DARREL SWOPE MIDDLE SCHOOL	ENRICH / INTERV 8	273	10	27.30
DARREL SWOPE MIDDLE SCHOOL	FINANCIAL MATH	28	1	28.00
DARREL SWOPE MIDDLE SCHOOL	HOME ECONOMICS	97	3	32.33
DARREL SWOPE MIDDLE SCHOOL	INTERM BAND	61	2	30.50
DARREL SWOPE MIDDLE SCHOOL DARREL SWOPE MIDDLE SCHOOL	INTERM ORCHESTRA	21	1	21.00
DARREL SWOPE MIDDLE SCHOOL	JAZZ BAND	54 27	3	18.00
DARREL SWOPE MIDDLE SCHOOL	JOURNALISM		1	27.00
DARREL SWOPE MIDDLE SCHOOL	LEADERSHIP	78	2	39.00
DARREL SWOPE MIDDLE SCHOOL	MATH 7	243	10	24.30
DARREL SWOPE MIDDLE SCHOOL	MATH 7-8	59	2	29.50
DARREL SWOPE MIDDLE SCHOOL	MATH 8	245	9	27.22
DARREL SWOPE MIDDLE SCHOOL	PE	472	12	39.33
DARREL SWOPE MIDDLE SCHOOL	PE 6	44	1	44.00
DARREL SWOPE MIDDLE SCHOOL	ROBOTICS	62	2	31.00
DARREL SWOPE MIDDLE SCHOOL	SCIENCE 7	303	12	25.25
DARREL SWOPE MIDDLE SCHOOL	SCIENCE 8	322	12	26.83
DARREL SWOPE MIDDLE SCHOOL	SOCIAL STUDIES 7	301	12	25.08
DARREL SWOPE MIDDLE SCHOOL	SOCIAL STUDIES 8	322	12	26.83
DARREL SWOPE MIDDLE SCHOOL	SPANISH 1	107	3	35.67
DARREL SWOPE MIDDLE SCHOOL	SPANISH 2	73	3	24.33
DARREL SWOPE MIDDLE SCHOOL	STEM LAB	132	4	33.00
DARREL SWOPE MIDDLE SCHOOL	WE THE PEOPLE	15	1	15.00
DARREL SWOPE MIDDLE SCHOOL	YEARBOOK	50	2	25.00
DESERT SKIES MIDDLE SCHOOL	ADVISORY	1047	51	20.53
DESERT SKIES MIDDLE SCHOOL	ALGEBRA 1	32	1	32.00
DESERT SKIES MIDDLE SCHOOL	ART	198	8	24.75
DESERT SKIES MIDDLE SCHOOL	BAND	115	4	28.75
DESERT SKIES MIDDLE SCHOOL	BEGIN BAND	161	4	40.25
DESERT SKIES MIDDLE SCHOOL	BEGIN ORCHESTRA	144	4	36.00
DESERT SKIES MIDDLE SCHOOL	CHORUS	147	4	36.75
DESERT SKIES MIDDLE SCHOOL	COMPUTER SCIENCE & APPS	91	4	22.75
DESERT SKIES MIDDLE SCHOOL	ELA 7	362	12	30.17
DESERT SKIES MIDDLE SCHOOL	ELA 8	319	12	26.58
DESERT SKIES MIDDLE SCHOOL	G6: ELA	354	12	29.50
DESERT SKIES MIDDLE SCHOOL DESERT SKIES MIDDLE SCHOOL	G6: MATH	354	12	29.50
DESERT SKIES MIDDLE SCHOOL	G6: SCIENCE	353	12	29.42
DESERT SKIES MIDDLE SCHOOL	G6: SOCIAL STUDIES	353	12	29.42
DESERT SKIES MIDDLE SCHOOL	LEADERSHIP	86	4	21.50
DESERT SKIES MIDDLE SCHOOL	LIVING STEAM	159	8	19.88
DESERT SKIES MIDDLE SCHOOL	MATH 7	331	11	30.09
DESERT SKIES MIDDLE SCHOOL	MATH 7-8	31	1 11	31.00
DESERT SKIES MIDDLE SCHOOL	MATH 8	288		26.18

School	Class	Enrollment	# of Classes	Class Size
DESERT SKIES MIDDLE SCHOOL	ORCHESTRA	107	4	26.75
DESERT SKIES MIDDLE SCHOOL	PAES LAB	22	2	11.00
DESERT SKIES MIDDLE SCHOOL	PE	613	16	38.31
DESERT SKIES MIDDLE SCHOOL	SCIENCE 7	361	12	30.08
DESERT SKIES MIDDLE SCHOOL	SCIENCE 8	320	12	26.67
DESERT SKIES MIDDLE SCHOOL	SCIENCE LAB	1034	36	28.72
DESERT SKIES MIDDLE SCHOOL	SOCIAL STUDIES 7	361	12	30.08
DESERT SKIES MIDDLE SCHOOL	SOCIAL STUDIES 8	319	12	26.58
DESERT SKIES MIDDLE SCHOOL	SOCIAL STUDIES LAB	1033	36	28.69
DESERT SKIES MIDDLE SCHOOL	STEM LAB	106	4	26.50
DESERT SKIES MIDDLE SCHOOL	YEARBOOK	26	1	26.00
E. OTIS VAUGHN MIDDLE SCHOOL	ENRICH/ ADVISOR SSR 8 S1	299	12	24.92
E. OTIS VAUGHN MIDDLE SCHOOL	ENRICH/ADVIS SSR 7 S1	329	13	25.31
E. OTIS VAUGHN MIDDLE SCHOOL	HEALTH & FITNESS	328	12	27.33
E. OTIS VAUGHN MIDDLE SCHOOL	MYP ADV MARIACHI S1	24	1	24.00
E. OTIS VAUGHN MIDDLE SCHOOL	MYP ADV ORCHESTRA S1	28	1	28.00
E. OTIS VAUGHN MIDDLE SCHOOL	MYP ALG 1 S1	72	2	36.00
E. OTIS VAUGHN MIDDLE SCHOOL	MYP APPLPRJCT DESIGN S1	244	15	16.27
E. OTIS VAUGHN MIDDLE SCHOOL	MYP ART 1	202	6	33.67
E. OTIS VAUGHN MIDDLE SCHOOL	MYP BEG GUITAR S1	58	3	19.33
E. OTIS VAUGHN MIDDLE SCHOOL	MYP BEGIN ORCHESTRA S1	19	1	19.00
E. OTIS VAUGHN MIDDLE SCHOOL	MYP BRASS BAND S1	26	1	26.00
E. OTIS VAUGHN MIDDLE SCHOOL	MYP CONCERT BAND S1	44	1	44.00
E. OTIS VAUGHN MIDDLE SCHOOL	MYP CONCERT CHOIR S1	33	1	33.00
E. OTIS VAUGHN MIDDLE SCHOOL	MYP DRAMA 1	44	2	22.00
E. OTIS VAUGHN MIDDLE SCHOOL	MYP ENG LANG & LIT 7 S1	329	12	27.42
E. OTIS VAUGHN MIDDLE SCHOOL	MYP ENG LANG & LIT 8 S1	295	10	29.50
E. OTIS VAUGHN MIDDLE SCHOOL	MYP FRENCH 1 S1	60	2	30.00
E. OTIS VAUGHN MIDDLE SCHOOL	MYP FRENCH 2 S1	48	2	24.00
E. OTIS VAUGHN MIDDLE SCHOOL	MYP INDIV & SOC 7 S1	328	12	27.33
E. OTIS VAUGHN MIDDLE SCHOOL	MYP INDIV & SOC 8 S1	300	10	30.00
E. OTIS VAUGHN MIDDLE SCHOOL	MYP INT MARIACHI S1	29	1	29.00
E. OTIS VAUGHN MIDDLE SCHOOL	MYP INTERM ORCHESTRA S1	22	1	22.00
E. OTIS VAUGHN MIDDLE SCHOOL	MYP INTRO TO SPAN LITERACY 1-2	49	2	24.50
E. OTIS VAUGHN MIDDLE SCHOOL	MYP INTRO TO SPAN LITERACY 3	89	3	29.67
E. OTIS VAUGHN MIDDLE SCHOOL	MYP INTRO TO SPAN LITERACY 4	66	2	33.00
E. OTIS VAUGHN MIDDLE SCHOOL	MYP LEADERSHIP DESIGN S1	25	1	25.00
E. OTIS VAUGHN MIDDLE SCHOOL	MYP MATH 7 S1	269	10	26.90
E. OTIS VAUGHN MIDDLE SCHOOL	MYP MATH 7-8 S1	63	2	31.50
E. OTIS VAUGHN MIDDLE SCHOOL	MYP MATH 8 S1	228	8	28.50
E. OTIS VAUGHN MIDDLE SCHOOL	MYP PHE 1 S1	569	6	94.83
E. OTIS VAUGHN MIDDLE SCHOOL	MYP SCIENCE 7 S1	328	12	27.33
E. OTIS VAUGHN MIDDLE SCHOOL	MYP SCIENCE 8 S1	300	10	30.00
E. OTIS VAUGHN MIDDLE SCHOOL	MYP SPANISH 1 S1	168	6	28.00
E. OTIS VAUGHN MIDDLE SCHOOL	MYP SPANISH 2 S1	136	5	27.20
E. OTIS VAUGHN MIDDLE SCHOOL	MYP TECH DESIGN S1	366	13	28.15
E. OTIS VAUGHN MIDDLE SCHOOL	MYP WOODWINDS S1	35	1	35.00
E. OTIS VAUGHN MIDDLE SCHOOL	READ 180 S1	110	6	18.33
EDWARD L. PINE MIDDLE SCHOOL	ACCEL ANALYZE WAR	41	2	20.50
EDWARD L. PINE MIDDLE SCHOOL	ACCEL CHALLENGES	99	6	16.50
EDWARD L. PINE MIDDLE SCHOOL	ACCEL CRIT OF AMER HIST	39	2	19.50
EDWARD L. PINE MIDDLE SCHOOL	ACCEL CRITICS OF LANG 6	20	1	20.00
EDWARD L. PINE MIDDLE SCHOOL	ACCEL CRITICS OF LANG 7	39	2	19.50
EDWARD L. PINE MIDDLE SCHOOL	ACCEL CRITICS OF LANG 8	41	2	20.50

School	Class	Enrollment	# of Classes	Class Size
EDWARD L. PINE MIDDLE SCHOOL	ACCEL HIST PERSPECT 6	20	1	20.00
EDWARD L. PINE MIDDLE SCHOOL	ACCEL HONORS BIOLOGY	41	2	20.50
EDWARD L. PINE MIDDLE SCHOOL	ACCEL HS INT MATH I	38	2	19.00
EDWARD L. PINE MIDDLE SCHOOL	ACCEL HS INT MATH II	38	2	19.00
EDWARD L. PINE MIDDLE SCHOOL	ACCEL MATH 6	19	1	19.00
EDWARD L. PINE MIDDLE SCHOOL	ACCEL PHYS SCI INVEST 7	39	3	13.00
EDWARD L. PINE MIDDLE SCHOOL	ACCEL SCIENCE INVEST 6	20	1	20.00
EDWARD L. PINE MIDDLE SCHOOL	ADV BAND	41	1	41.00
EDWARD L. PINE MIDDLE SCHOOL	ADV CHORUS	50	1	50.00
EDWARD L. PINE MIDDLE SCHOOL	ADV ORCHESTRA	38	1	38.00
EDWARD L. PINE MIDDLE SCHOOL	ADVISORY	32	3	10.67
EDWARD L. PINE MIDDLE SCHOOL	ALGEBRA 1	84	3	28.00
EDWARD L. PINE MIDDLE SCHOOL	ART	127	4	31.75
EDWARD L. PINE MIDDLE SCHOOL	BEGIN CHORUS	16	1	16.00
EDWARD L. PINE MIDDLE SCHOOL	CHORUS	20	1	20.00
EDWARD L. PINE MIDDLE SCHOOL	COMPUTERS & APPS	94	3	31.33
EDWARD L. PINE MIDDLE SCHOOL	CURRENT EVENTS	75	3	25.00
EDWARD L. PINE MIDDLE SCHOOL	ELA 7	349	12	29.08
EDWARD L. PINE MIDDLE SCHOOL	ELA 8	329	13	25.31
EDWARD L. PINE MIDDLE SCHOOL	ENRICH / INTERV	674	30	22.47
EDWARD L. PINE MIDDLE SCHOOL	G6: ART	51	2	25.50
EDWARD L. PINE MIDDLE SCHOOL	G6: BAND	33	1	33.00
EDWARD L. PINE MIDDLE SCHOOL	G6: ELA	151	5	30.20
EDWARD L. PINE MIDDLE SCHOOL	G6: MATH	153	5	30.60
EDWARD L. PINE MIDDLE SCHOOL	G6: PE/HEALTH	49	1	49.00
EDWARD L. PINE MIDDLE SCHOOL	G6: READING	123	4	30.75
EDWARD L. PINE MIDDLE SCHOOL	G6: SCIENCE	152	5	30.40
EDWARD L. PINE MIDDLE SCHOOL	G6: SOCIAL STUDIES	150	5	30.00
EDWARD L. PINE MIDDLE SCHOOL	G6: STRINGS	35	1	35.00
EDWARD L. PINE MIDDLE SCHOOL	INTERM BAND	54	1	54.00
EDWARD L. PINE MIDDLE SCHOOL	INTERM ORCHESTRA	61	2	30.50
EDWARD L. PINE MIDDLE SCHOOL	JAZZ BAND	24	1	24.00
EDWARD L. PINE MIDDLE SCHOOL	MARIACHI	31	1	31.00
EDWARD L. PINE MIDDLE SCHOOL	MATH 7	279	10	27.90
EDWARD L. PINE MIDDLE SCHOOL	MATH 7-8	81	3	27.00
EDWARD L. PINE MIDDLE SCHOOL	MATH 8	258	11	23.45
EDWARD L. PINE MIDDLE SCHOOL	PE	344	9	38.22
EDWARD L. PINE MIDDLE SCHOOL	PERCUSSION BAND	11	1	11.00
EDWARD L. PINE MIDDLE SCHOOL	READ 180	102	5	20.40
EDWARD L. PINE MIDDLE SCHOOL	SCIENCE 7	357	14	25.50
EDWARD L. PINE MIDDLE SCHOOL	SCIENCE 8	343	13	26.38
EDWARD L. PINE MIDDLE SCHOOL	SOC STUDIES 8	331	13	25.46
EDWARD L. PINE MIDDLE SCHOOL	SOCIAL STUDIES 7	349	12	29.08
EDWARD L. PINE MIDDLE SCHOOL	SPANISH 1	89	3	29.67
EDWARD L. PINE MIDDLE SCHOOL	SPANISH 2	55	2	27.50
EDWARD L. PINE MIDDLE SCHOOL	STEM LAB	153	5	30.60
EDWARD L. PINE MIDDLE SCHOOL	STEM RESEARCH & DEV	46	2	23.00
FRED W. TRANER MIDDLE SCHOOL	21st CENTURY LEARNING	106	6	17.67
FRED W. TRANER MIDDLE SCHOOL	ALGEBRA 1	24	1	24.00
FRED W. TRANER MIDDLE SCHOOL	ART	165	6	27.50
FRED W. TRANER MIDDLE SCHOOL	BAND	48	2	24.00
FRED W. TRANER MIDDLE SCHOOL	CHORUS	19	1	19.00
FRED W. TRANER MIDDLE SCHOOL	COMPUTER SCIENCE & APPS	75	4	18.75

School	Class	Enrollment	# of Classes	Class Size
FRED W. TRANER MIDDLE SCHOOL	ELA 8	238	9	26.44
FRED W. TRANER MIDDLE SCHOOL	ENRICH / INTERV	341	16	21.31
FRED W. TRANER MIDDLE SCHOOL	G6: BAND	74	2	37.00
FRED W. TRANER MIDDLE SCHOOL	G6: CHORUS	60	2	30.00
FRED W. TRANER MIDDLE SCHOOL	G6: ELA	223	8	27.88
FRED W. TRANER MIDDLE SCHOOL	G6: MATH	224	8	28.00
FRED W. TRANER MIDDLE SCHOOL	G6: SCIENCE	225	8	28.13
FRED W. TRANER MIDDLE SCHOOL	G6: SOCIAL STUDIES	223	8	27.88
FRED W. TRANER MIDDLE SCHOOL	G6: STRINGS	79	2	39.50
FRED W. TRANER MIDDLE SCHOOL	INTRO TO SPANISH LITERACY 1-2	36	2	18.00
FRED W. TRANER MIDDLE SCHOOL	MARIACHI	46	2	23.00
FRED W. TRANER MIDDLE SCHOOL	MATH 7	180	7	25.71
FRED W. TRANER MIDDLE SCHOOL	MATH 7-8	39	1	39.00
FRED W. TRANER MIDDLE SCHOOL	MATH 8	216	9	24.00
FRED W. TRANER MIDDLE SCHOOL	ORCHESTRA	30	1	30.00
FRED W. TRANER MIDDLE SCHOOL	PE	314	12	26.17
		-		-
FRED W. TRANER MIDDLE SCHOOL	READ 180	99	6	16.50
FRED W. TRANER MIDDLE SCHOOL	SCIENCE 7	219	8	27.38
FRED W. TRANER MIDDLE SCHOOL	SCIENCE 8	239	9	26.56
FRED W. TRANER MIDDLE SCHOOL	SOC STUDIES 8	239	9	26.56
FRED W. TRANER MIDDLE SCHOOL	SOCIAL STUDIES 7	219	8	27.38
FRED W. TRANER MIDDLE SCHOOL	SPANISH 1	36	2	18.00
GEORGE L. DILWORTH S.T.E.M ACADEMY	ADV BAND	13	1	13.00
GEORGE L. DILWORTH S.T.E.M ACADEMY	ADV ORCHESTRA	15	1	15.00
GEORGE L. DILWORTH S.T.E.M ACADEMY	ADVISORY 6	224	10	22.40
GEORGE L. DILWORTH S.T.E.M ACADEMY	ADVISORY 7	253	12	21.08
GEORGE L. DILWORTH S.T.E.M ACADEMY	ADVISORY 8	253	10	25.30
GEORGE L. DILWORTH S.T.E.M ACADEMY	ALGEBRA 1	22	1	22.00
GEORGE L. DILWORTH S.T.E.M ACADEMY	ART	114	3	38.00
GEORGE L. DILWORTH S.T.E.M ACADEMY	AVID	357	15	23.80
GEORGE L. DILWORTH S.T.E.M ACADEMY	ELA 7	254	11	23.09
GEORGE L. DILWORTH S.T.E.M ACADEMY	ELA 8	255	9	28.33
GEORGE L. DILWORTH S.T.E.M ACADEMY	ENGINEERING DESIGN 8	27	1	27.00
GEORGE L. DILWORTH S.T.E.M ACADEMY	G6: ART	75	2	37.50
GEORGE L. DILWORTH S.T.E.M ACADEMY	G6: BAND	32	1	32.00
GEORGE L. DILWORTH S.T.E.M ACADEMY	G6: CHORUS	29	1	29.00
GEORGE L. DILWORTH S.T.E.M ACADEMY	G6: ELA	224	10	22.40
GEORGE L. DILWORTH S.T.E.M ACADEMY	G6: MATH	223	10	22.30
GEORGE L. DILWORTH S.T.E.M ACADEMY	G6: PE/HEALTH	109	3	36.33
GEORGE L. DILWORTH S.T.E.M ACADEMY	G6: SCIENCE	224	8	28.00
GEORGE L. DILWORTH S.T.E.M ACADEMY	G6: SOCIAL STUDIES	224	8	28.00
GEORGE L. DILWORTH S.T.E.M ACADEMY	G6: STEM	17	1	17.00
GEORGE L. DILWORTH S.T.E.M ACADEMY	G6: STRINGS	53	2	26.50
GEORGE L. DILWORTH S.T.E.M ACADEMY	INTERM BAND	25	1	25.00
GEORGE L. DILWORTH S.T.E.M ACADEMY	INTERM ORCHESTRA	67	2	33.50
GEORGE L. DILWORTH S.T.E.M ACADEMY	LEADERSHIP	30	1	30.00
GEORGE L. DILWORTH S.T.E.M ACADEMY	MATH 7	239	9	26.56
GEORGE L. DILWORTH S.T.E.M ACADEMY	MATH 7-8	18	1	18.00
GEORGE L. DILWORTH S.T.E.M ACADEMY	MATH 8	233	8	29.13
GEORGE L. DILWORTH S.T.E.M ACADEMY	MEDIA	25	1	25.00
GEORGE L. DILWORTH S.T.E.M ACADEMY	MUSIC APPREC 7	27	1	27.00
GEORGE L. DILWORTH S.T.E.M ACADEMY	SCIENCE 7	255	9	28.33
OLUNGE E. DIEWUNTE 3. I.E.IVI ACADEIVIT	SCIENCE /	233	7	20.33
GEORGE L. DILWORTH S.T.E.M ACADEMY	SCIENCE 8	255	9	28.33

School	Class	Enrollment	# of Classes	Class Size
GEORGE L. DILWORTH S.T.E.M ACADEMY	SOCIAL STUDIES 8	255	9	28.33
GEORGE L. DILWORTH S.T.E.M ACADEMY	STEM LAB	147	5	29.40
GEORGE L. DILWORTH S.T.E.M ACADEMY	STEM PE KINESIOLOGY	152	3	50.67
INCLINE MIDDLE SCHOOL	ADV BAND	26	1	26.00
INCLINE MIDDLE SCHOOL	ADVANCED LANG ARTS	36	2	18.00
INCLINE MIDDLE SCHOOL	ADVISORY	198	10	19.80
INCLINE MIDDLE SCHOOL	ALGEBRA 1	16	1	16.00
INCLINE MIDDLE SCHOOL	ART	28	1	28.00
INCLINE MIDDLE SCHOOL	AVID	14	1	14.00
INCLINE MIDDLE SCHOOL	COMPUTER SCIENCE & APPS	23	1	23.00
INCLINE MIDDLE SCHOOL	ELA 7	70	3	23.33
INCLINE MIDDLE SCHOOL	ELA 8	76	3	25.33
INCLINE MIDDLE SCHOOL	ENRICH / INTERV 7	37	2	18.50
INCLINE MIDDLE SCHOOL	ENRICH / INTERV 8	43	2	21.50
INCLINE MIDDLE SCHOOL	G6: ART	21	1	21.00
INCLINE MIDDLE SCHOOL	G6: BAND	17	1	17.00
INCLINE MIDDLE SCHOOL	G6: ELA	51	3	17.00
INCLINE MIDDLE SCHOOL	G6: MATH	31	2	15.50
INCLINE MIDDLE SCHOOL	G6: MATH HONORS	20	1	20.00
INCLINE MIDDLE SCHOOL	G6: PE/HEALTH	37	3	12.33
INCLINE MIDDLE SCHOOL	G6: READING	51	2	25.50
INCLINE MIDDLE SCHOOL	G6: SCIENCE	51	3	17.00
INCLINE MIDDLE SCHOOL	G6: SOCIAL STUDIES	38	3	12.67
INCLINE MIDDLE SCHOOL	G6: STRINGS	11	1	11.00
INCLINE MIDDLE SCHOOL	JAZZ BAND	13	1	13.00
INCLINE MIDDLE SCHOOL	MATH 7	46	2	23.00
INCLINE MIDDLE SCHOOL	MATH 7-8	23	1	23.00
INCLINE MIDDLE SCHOOL	MATH 8	60	2	30.00
INCLINE MIDDLE SCHOOL	PE 7	69	3	23.00
INCLINE MIDDLE SCHOOL	PE 8	27	1	27.00
INCLINE MIDDLE SCHOOL	SCIENCE 7	70	3	23.33
INCLINE MIDDLE SCHOOL	SCIENCE 8	72	3	24.00
INCLINE MIDDLE SCHOOL	SOC STUDIES 8	76	3	25.33
INCLINE MIDDLE SCHOOL	SOCIAL STUDIES 7	52	3	17.33
INCLINE MIDDLE SCHOOL	SPANISH 1	23	1	23.00
INCLINE MIDDLE SCHOOL	TECH OF SCIENCE	25	1	25.00
KENDYL DEPOALI MIDDLE SCHOOL	21st CENTURY LEARNING	342	10	34.20
KENDYL DEPOALI MIDDLE SCHOOL	ACADEMIC SUCCESS	396	14	28.29
KENDYL DEPOALI MIDDLE SCHOOL	ADV BAND	58	1	58.00
KENDYL DEPOALI MIDDLE SCHOOL	ADV ORCHESTRA	41	1	41.00
KENDYL DEPOALI MIDDLE SCHOOL	ADVISORY 7	367	14	26.21
KENDYL DEPOALI MIDDLE SCHOOL	ADVISORY 8	373	13	28.69
KENDYL DEPOALI MIDDLE SCHOOL	ALGEBRA 1	114	3	38.00
KENDYL DEPOALI MIDDLE SCHOOL	ART	212	7	30.29
KENDYL DEPOALI MIDDLE SCHOOL	BAND	75	3	25.00
KENDYL DEPOALI MIDDLE SCHOOL	CHORUS	114	4	28.50
KENDYL DEPOALI MIDDLE SCHOOL	COMPUTER SCIENCE & APPS	184	6	30.67
KENDYL DEPOALI MIDDLE SCHOOL	ELA 7	429	16	26.81
KENDYL DEPOALI MIDDLE SCHOOL	ELA 8	442	16	27.63
KENDYL DEPOALI MIDDLE SCHOOL	G6: ADVISORY	398	14	28.43
KENDYL DEPOALI MIDDLE SCHOOL	G6: ART	368	10	36.80
KENDYL DEPOALI MIDDLE SCHOOL	G6: BAND	141	4	35.25
KENDYL DEPOALI MIDDLE SCHOOL	G6: CHORUS	124	4	31.00
KENDYL DEPOALI MIDDLE SCHOOL	G6: ELA	394	14	28.14

School	Class	Enrollment	# of Classes	Class Size
KENDYL DEPOALI MIDDLE SCHOOL	G6: MATH	394	14	28.14
KENDYL DEPOALI MIDDLE SCHOOL	G6: PE/HEALTH	387	10	38.70
KENDYL DEPOALI MIDDLE SCHOOL	G6: SCIENCE	394	14	28.14
KENDYL DEPOALI MIDDLE SCHOOL	G6: SOCIAL STUDIES	394	14	28.14
KENDYL DEPOALI MIDDLE SCHOOL	G6: STRINGS	112	4	28.00
KENDYL DEPOALI MIDDLE SCHOOL	GOLDEN STRINGS	30	1	30.00
KENDYL DEPOALI MIDDLE SCHOOL	INTERM ORCHESTRA	60	3	20.00
KENDYL DEPOALI MIDDLE SCHOOL	JAZZ BAND	44	1	44.00
KENDYL DEPOALI MIDDLE SCHOOL	LEADERSHIP	186	5	37.20
KENDYL DEPOALI MIDDLE SCHOOL	MATH 7	325	13	25.00
KENDYL DEPOALI MIDDLE SCHOOL	MATH 7-8	102	4	25.50
KENDYL DEPOALI MIDDLE SCHOOL	MATH 8	330	13	25.38
KENDYL DEPOALI MIDDLE SCHOOL	PE	488	11	44.36
KENDYL DEPOALI MIDDLE SCHOOL	PERFORM DRAMA	31	1	31.00
KENDYL DEPOALI MIDDLE SCHOOL	READ 180	50	4	12.50
KENDYL DEPOALI MIDDLE SCHOOL	SCIENCE 7	427	15	28.47
KENDYL DEPOALI MIDDLE SCHOOL	SCIENCE 8	443	15	29.53
KENDYL DEPOALI MIDDLE SCHOOL	SOC STUDIES 8	442	15	29.47
KENDYL DEPOALI MIDDLE SCHOOL	SOCIAL STUDIES 7	426	15	28.40
KENDYL DEPOALI MIDDLE SCHOOL	SPANISH 1	157	4	39.25
KENDYL DEPOALI MIDDLE SCHOOL	SPANISH 2	83	2	41.50
KENDYL DEPOALI MIDDLE SCHOOL	STEAM	265	6	44.17
KENDYL DEPOALI MIDDLE SCHOOL	WELLNESS	328	7	46.86
KENDYL DEPOALI MIDDLE SCHOOL	YEARBOOK	62	2	31.00
LOU MENDIVE MIDDLE SCHOOL	ADV BAND	19	1	19.00
LOU MENDIVE MIDDLE SCHOOL	ADV ORCHESTRA	40	1	40.00
LOU MENDIVE MIDDLE SCHOOL	ADVISORY	890	34	26.18
LOU MENDIVE MIDDLE SCHOOL	ALGEBRA 1	57	2	28.50
LOU MENDIVE MIDDLE SCHOOL	ART	125	4	31.25
LOU MENDIVE MIDDLE SCHOOL	BEGIN BAND	81	3	27.00
LOU MENDIVE MIDDLE SCHOOL	BEGIN CHORUS	65	2	32.50
LOU MENDIVE MIDDLE SCHOOL	BEGIN ORCHESTRA	119	4	29.75
LOU MENDIVE MIDDLE SCHOOL	CELEBRATE FOODS	203	6	33.83
LOU MENDIVE MIDDLE SCHOOL	CHORUS	43	2	21.50
LOU MENDIVE MIDDLE SCHOOL	ELA 7	293	10	29.30
LOU MENDIVE MIDDLE SCHOOL	ELA 8	338	10	33.80
LOU MENDIVE MIDDLE SCHOOL	ENRICH / INTERV	937	34	27.56
LOU MENDIVE MIDDLE SCHOOL	G6: ART	62	2	31.00
LOU MENDIVE MIDDLE SCHOOL	G6: ELA	289	10	28.90
LOU MENDIVE MIDDLE SCHOOL	G6: MATH	288	10	28.80
LOU MENDIVE MIDDLE SCHOOL	G6: SCIENCE	291	10	29.10
LOU MENDIVE MIDDLE SCHOOL	G6: SOCIAL STUDIES	291	10	29.10
LOU MENDIVE MIDDLE SCHOOL	G6: STEM	30	1	30.00
LOU MENDIVE MIDDLE SCHOOL	GOLDEN STRINGS	27	1	27.00
LOU MENDIVE MIDDLE SCHOOL	INTERM BAND	32	1	32.00
LOU MENDIVE MIDDLE SCHOOL	INTERM ORCHESTRA	50	1	50.00
LOU MENDIVE MIDDLE SCHOOL	JAZZ BAND	21	1	21.00
LOU MENDIVE MIDDLE SCHOOL	MATH 7	198	7	28.29
LOU MENDIVE MIDDLE SCHOOL	MATH 7-8	94	3	31.33
LOU MENDIVE MIDDLE SCHOOL	MATH 8	279	8	34.88
LOU MENDIVE MIDDLE SCHOOL	MUSIC MANIA	42	2	21.00
LOU MENDIVE MIDDLE SCHOOL	PE	219	6	36.50
LOU MENDIVE MIDDLE SCHOOL	PE 6	132	5	26.40
LOU MENDIVE MIDDLE SCHOOL	PERCUSSION BAND	13	1	13.00

School	Class	Enrollment	# of Classes	Class Size
LOU MENDIVE MIDDLE SCHOOL	SCIENCE 7	295	10	29.50
LOU MENDIVE MIDDLE SCHOOL	SCIENCE 8	339	10	33.90
LOU MENDIVE MIDDLE SCHOOL	SOC STUDIES 8	338	10	33.80
LOU MENDIVE MIDDLE SCHOOL	SOCIAL STUDIES 7	297	10	29.70
LOU MENDIVE MIDDLE SCHOOL	SPANISH 1	120	4	30.00
LOU MENDIVE MIDDLE SCHOOL	SPANISH 2	41	2	20.50
LOU MENDIVE MIDDLE SCHOOL	STEM LAB	121	4	30.25
LOU MENDIVE MIDDLE SCHOOL	TOTAL FITNESS	35	1	35.00
LOU MENDIVE MIDDLE SCHOOL	YEARBOOK	16	1	16.00
MOUNT ROSE K-8 ACADEMY OF LANGUAGES	ADV BAND	34	1	34.00
MOUNT ROSE K-8 ACADEMY OF LANGUAGES	ADV ORCHESTRA	33	1	33.00
MOUNT ROSE K-8 ACADEMY OF LANGUAGES	ADVISORY 6	70	3	23.33
MOUNT ROSE K-8 ACADEMY OF LANGUAGES	ADVISORY 7	35	1	35.00
MOUNT ROSE K-8 ACADEMY OF LANGUAGES	ADVISORY 8	32	1	32.00
MOUNT ROSE K-8 ACADEMY OF LANGUAGES	ALGEBRA 1	32	1	32.00
MOUNT ROSE K-8 ACADEMY OF LANGUAGES	ARTS & CRAFTS	31	1	31.00
MOUNT ROSE K-8 ACADEMY OF LANGUAGES	BEG GUITAR	18	1	18.00
MOUNT ROSE K-8 ACADEMY OF LANGUAGES	CREATIVE WRITING	36	1	36.00
MOUNT ROSE K-8 ACADEMY OF LANGUAGES	ELA 7 HON	35	1	35.00
MOUNT ROSE K-8 ACADEMY OF LANGUAGES	ELA 8 HON	32	1	32.00
MOUNT ROSE K-8 ACADEMY OF LANGUAGES	G6: BAND	39	1	39.00
MOUNT ROSE K-8 ACADEMY OF LANGUAGES	G6: ELA	70	2	35.00
MOUNT ROSE K-8 ACADEMY OF LANGUAGES	G6: MATH	70	2	35.00
MOUNT ROSE K-8 ACADEMY OF LANGUAGES	G6: SCIENCE	70	2	35.00
MOUNT ROSE K-8 ACADEMY OF LANGUAGES	G6: SCIENCE SPANISH	36	1	36.00
MOUNT ROSE K-8 ACADEMY OF LANGUAGES	G6: SOCIAL STUDIES	70	2	35.00
MOUNT ROSE K-8 ACADEMY OF LANGUAGES	G6: STRINGS	31	1	31.00
MOUNT ROSE K-8 ACADEMY OF LANGUAGES	GLOBAL CITIZEN	16	1	16.00
MOUNT ROSE K-8 ACADEMY OF LANGUAGES	INTRO TO SPAN LITERACY 3-4	40	2	20.00
MOUNT ROSE K-8 ACADEMY OF LANGUAGES	INTRO TO SPANISH LITERACY 1-2	36	1	36.00
MOUNT ROSE K-8 ACADEMY OF LANGUAGES	LEADERSHIP	32	1	32.00
MOUNT ROSE K-8 ACADEMY OF LANGUAGES	MATH 7-8	35	1	35.00
MOUNT ROSE K-8 ACADEMY OF LANGUAGES		35	2	17.50
	SCIENCE 7 HON		2	
MOUNT ROSE K-8 ACADEMY OF LANGUAGES	SCIENCE 8	32		16.00
MOUNT ROSE K-8 ACADEMY OF LANGUAGES	SOCIAL STUDIES 7 (H)	35	1	35.00
MOUNT ROSE K-8 ACADEMY OF LANGUAGES	SOCIAL STUDIES 8 (H)	32	1	32.00
MOUNT ROSE K-8 ACADEMY OF LANGUAGES	WORLD CULTURES	17	1	17.00
SKY RANCH MIDDLE SCHOOL	21st CENTURY LEARNING	253	7	36.14
SKY RANCH MIDDLE SCHOOL	ACCEL ANALYZE WAR	48	3	16.00
SKY RANCH MIDDLE SCHOOL	ACCEL CRIT OF AMER HIST	45	2	22.50
SKY RANCH MIDDLE SCHOOL	ACCEL CRITICS OF LANG 6	59	3	19.67
SKY RANCH MIDDLE SCHOOL	ACCEL CRITICS OF LANG 7	45	2	22.50
SKY RANCH MIDDLE SCHOOL	ACCEL CRITICS OF LANG 8	48	2	24.00
SKY RANCH MIDDLE SCHOOL	ACCEL HIST PERSPECT 6	59	2	29.50
SKY RANCH MIDDLE SCHOOL	ACCEL HONORS BIOLOGY	49	3	16.33
SKY RANCH MIDDLE SCHOOL	ACCEL HS INT MATH I	45	2	22.50
SKY RANCH MIDDLE SCHOOL	ACCEL HS INT MATH II	47	2	23.50
SKY RANCH MIDDLE SCHOOL	ACCEL MATH 6	58	3	19.33
SKY RANCH MIDDLE SCHOOL	ACCEL PHYS SCI INVEST 7	44	2	22.00
SKY RANCH MIDDLE SCHOOL	ACCEL SCIENCE INVEST 6	59	3	19.67
SKY RANCH MIDDLE SCHOOL	ADV BAND	22	1	22.00
SKY RANCH MIDDLE SCHOOL	ADV ORCHESTRA	27	1	27.00
SKY RANCH MIDDLE SCHOOL	ADVISORY 6	466	21	22.19
SKY RANCH MIDDLE SCHOOL	ADVISORY 7	498	23	21.65

School	Class	Enrollment	# of Classes	Class Size
SKY RANCH MIDDLE SCHOOL	ADVISORY 8	392	17	23.06
SKY RANCH MIDDLE SCHOOL	ALGEBRA 1	62	2	31.00
SKY RANCH MIDDLE SCHOOL	ART 7	117	3	39.00
SKY RANCH MIDDLE SCHOOL	BEGIN BAND	202	4	50.50
SKY RANCH MIDDLE SCHOOL	BEGIN ORCHESTRA	117	4	29.25
SKY RANCH MIDDLE SCHOOL	CHORUS	42	1	42.00
SKY RANCH MIDDLE SCHOOL	CREATIVE WRITING	70	2	35.00
SKY RANCH MIDDLE SCHOOL	ELA 7	428	14	30.57
SKY RANCH MIDDLE SCHOOL	ELA 8	336	10	33.60
SKY RANCH MIDDLE SCHOOL	ENRICH 6	471	16	29.44
SKY RANCH MIDDLE SCHOOL	ENRICH 7	489	16	30.56
SKY RANCH MIDDLE SCHOOL	ENRICH 8	396	12	33.00
SKY RANCH MIDDLE SCHOOL	G6: ART	154	4	38.50
SKY RANCH MIDDLE SCHOOL	G6: CHORUS	144	4	36.00
SKY RANCH MIDDLE SCHOOL	G6: ELA	402	12	33.50
SKY RANCH MIDDLE SCHOOL	G6: MATH	403	12	33.58
SKY RANCH MIDDLE SCHOOL	G6: PE/HEALTH	332	8	41.50
SKY RANCH MIDDLE SCHOOL	G6: SCIENCE	405	12	33.75
SKY RANCH MIDDLE SCHOOL	G6: SOCIAL STUDIES	405	12	33.75
SKY RANCH MIDDLE SCHOOL	G6: STEM	149	4	37.25
SKY RANCH MIDDLE SCHOOL	GLOBAL CITIZEN	464	16	29.00
SKY RANCH MIDDLE SCHOOL	GRAPHIC DESIGN	172	5	34.40
SKY RANCH MIDDLE SCHOOL	INTERM BAND	58	2	29.00
SKY RANCH MIDDLE SCHOOL	INTERM ORCHESTRA	58	2	29.00
SKY RANCH MIDDLE SCHOOL	INTRO TO COMP PROG	105	3	35.00
SKY RANCH MIDDLE SCHOOL	LEADERSHIP	139	5	27.80
SKY RANCH MIDDLE SCHOOL	LIVING STEAM	98	3	32.67
SKY RANCH MIDDLE SCHOOL	LIVING STEM	74	2	37.00
SKY RANCH MIDDLE SCHOOL	MATH 7	355	11	32.27
SKY RANCH MIDDLE SCHOOL	MATH 7-8	71	2	35.50
SKY RANCH MIDDLE SCHOOL	MATH 8	271	8	33.88
SKY RANCH MIDDLE SCHOOL	MUSIC MANIA	44	2	22.00
SKY RANCH MIDDLE SCHOOL	PE 7	185	5	37.00
SKY RANCH MIDDLE SCHOOL	PE 8	97	4	24.25
SKY RANCH MIDDLE SCHOOL	SCIENCE 7	441	15	29.40
SKY RANCH MIDDLE SCHOOL	SCIENCE 8	344	11	31.27
SKY RANCH MIDDLE SCHOOL	SOC STUDIES 8	343	11	31.18
SKY RANCH MIDDLE SCHOOL	SOCIAL STUDIES 7	441	13	33.92
SKY RANCH MIDDLE SCHOOL	SPANISH	112	3	37.33
SKY RANCH MIDDLE SCHOOL	SPANISH 1	69	2	34.50
SKY RANCH MIDDLE SCHOOL	STEM LAB	112	3	37.33
SKY RANCH MIDDLE SCHOOL	TOTAL FITNESS	57	2	28.50
SKY RANCH MIDDLE SCHOOL	YEARBOOK	31	1	31.00
SPARKS MIDDLE SCHOOL	ADV ORCHESTRA	13	1	13.00
SPARKS MIDDLE SCHOOL	ADVISORY	765	33	23.18
SPARKS MIDDLE SCHOOL	ADVISORY 6	252	11	22.91
SPARKS MIDDLE SCHOOL	ADVISORY 7	262	10	26.20
SPARKS MIDDLE SCHOOL	ADVISORY 8	271	12	22.58
SPARKS MIDDLE SCHOOL	ALGEBRA 1	37	2	18.50
SPARKS MIDDLE SCHOOL	ART	170	5	34.00
SPARKS MIDDLE SCHOOL	AVID	133	5	26.60
SPARKS MIDDLE SCHOOL	CHORUS	64	2	32.00
SPARKS MIDDLE SCHOOL	COMPUTER SCIENCE & APPS	89	5	17.80
SPARKS MIDDLE SCHOOL	DANCE	17	1	17.00

School	Class	Enrollment	# of Classes	Class Size
SPARKS MIDDLE SCHOOL	ELA 7	245	8	30.63
SPARKS MIDDLE SCHOOL	ELA 8	229	9	25.44
SPARKS MIDDLE SCHOOL	ENRICH / INTERV	450	18	25.00
SPARKS MIDDLE SCHOOL	G6: ELA	235	8	29.38
SPARKS MIDDLE SCHOOL	G6: MATH	248	8	31.00
SPARKS MIDDLE SCHOOL	G6: SCIENCE	250	8	31.25
SPARKS MIDDLE SCHOOL	G6: SOCIAL STUDIES	238	8	29.75
SPARKS MIDDLE SCHOOL	INTERM ORCHESTRA	25	2	12.50
SPARKS MIDDLE SCHOOL	MARIACHI 1	77	3	25.67
SPARKS MIDDLE SCHOOL	MATH 7	211	6	35.17
SPARKS MIDDLE SCHOOL	MATH 7-8	57	2	28.50
SPARKS MIDDLE SCHOOL	MATH 8	222	7	31.71
SPARKS MIDDLE SCHOOL	ORCHESTRA	45	2	22.50
SPARKS MIDDLE SCHOOL	PE	375	10	37.50
SPARKS MIDDLE SCHOOL	SCIENCE 7	263	8	32.88
SPARKS MIDDLE SCHOOL	SCIENCE 8	259	9	28.78
SPARKS MIDDLE SCHOOL	SOCIAL STUDIES 7	248	8	31.00
SPARKS MIDDLE SCHOOL	SOCIAL STUDIES 8	241	9	26.78
SPARKS MIDDLE SCHOOL	STEM LAB	142	5	28.40
SPARKS MIDDLE SCHOOL	TOTAL FITNESS	132	4	33.00
WILLIAM OBRIEN S.T.E.M. ACADEMY	ADV BAND	38	1	38.00
WILLIAM OBRIEN S.T.E.M. ACADEMY	ADV CHORUS	21	1	21.00
WILLIAM OBRIEN S.T.E.M. ACADEMY	ADV ORCHESTRA	29	2	14.50
WILLIAM OBRIEN S.T.E.M. ACADEMY	ADVISORY	84	6	14.00
WILLIAM OBRIEN S.T.E.M. ACADEMY	ADVISORY 6	90	4	22.50
WILLIAM OBRIEN S.T.E.M. ACADEMY	ADVISORY 7	305	12	25.42
WILLIAM OBRIEN S.T.E.M. ACADEMY	ADVISORY 8	306	13	23.54
WILLIAM OBRIEN S.T.E.M. ACADEMY	ALGEBRA 1	31	1	31.00
WILLIAM OBRIEN S.T.E.M. ACADEMY	ART	143	4	35.75
WILLIAM OBRIEN S.T.E.M. ACADEMY	BEGIN BAND	48	1	48.00
WILLIAM OBRIEN S.T.E.M. ACADEMY	BEGIN CHORUS	31	1	31.00
WILLIAM OBRIEN S.T.E.M. ACADEMY	BEGIN ORCHESTRA	44	1	44.00
WILLIAM OBRIEN S.T.E.M. ACADEMY	CREATIVE WRITING	35	1	35.00
WILLIAM OBRIEN S.T.E.M. ACADEMY	ELA 7	342	12	28.50
WILLIAM OBRIEN S.T.E.M. ACADEMY	ELA 8	325	12	27.08
WILLIAM OBRIEN S.T.E.M. ACADEMY	EXPERIMENTAL SCI I	30	1	30.00
WILLIAM OBRIEN S.T.E.M. ACADEMY	G6: ELA	102	4	25.50
WILLIAM OBRIEN S.T.E.M. ACADEMY	G6: MATH	110	4	27.50
WILLIAM OBRIEN S.T.E.M. ACADEMY	G6: SCIENCE	115	4	28.75
WILLIAM OBRIEN S.T.E.M. ACADEMY	INTERM BAND	68	2	34.00
WILLIAM OBRIEN S.T.E.M. ACADEMY	INTERM CHORUS	54	1	54.00
WILLIAM OBRIEN S.T.E.M. ACADEMY	INTERM ORCHESTRA	73	2	36.50
WILLIAM OBRIEN S.T.E.M. ACADEMY	JAZZ BAND	16	1	16.00
WILLIAM OBRIEN S.T.E.M. ACADEMY	LEADERSHIP	31	1	31.00
WILLIAM OBRIEN S.T.E.M. ACADEMY	MATH 7	306	10	30.60
WILLIAM OBRIEN S.T.E.M. ACADEMY	MATH 9	46	2	23.00
WILLIAM OBRIEN S.T.E.M. ACADEMY	MATH 8	303	12	25.25
WILLIAM OBRIEN S.T.E.M. ACADEMY	PE	529	10	52.90
WILLIAM OBRIEN S.T.E.M. ACADEMY	PHOTOGRAPHY	32	1	32.00
WILLIAM OBRIEN S.T.E.M. ACADEMY	PLTW GTT	171	5	34.20
WILLIAM OBRIEN S.T.E.M. ACADEMY	SCIENCE 7	367	13	28.23
WILLIAM OBRIEN S.T.E.M. ACADEMY	SCIENCE 8	353	12	29.42
WILLIAM OBRIEN S.T.E.M. ACADEMY	SOC STUDIES 8	349	12	29.08

School	Class	Enrollment	# of Classes	Class Size
WILLIAM OBRIEN S.T.E.M. ACADEMY	SPANISH 1-2	157	5	31.40
WILLIAM OBRIEN S.T.E.M. ACADEMY	TOTAL FITNESS	47	2	23.50
WILLIAM OBRIEN S.T.E.M. ACADEMY	WRITERS CRAFT	35	1	35.00
WILLIAM OBRIEN S.T.E.M. ACADEMY	YEARBOOK	30	1	30.00
YVONNE SHAW MIDDLE SCHOOL	ADV BAND	21	1	21.00
YVONNE SHAW MIDDLE SCHOOL	ADV STEM LAB	43	2	21.50
YVONNE SHAW MIDDLE SCHOOL	ALGEBRA 1	49	2	24.50
YVONNE SHAW MIDDLE SCHOOL	ART 7	57	2	28.50
YVONNE SHAW MIDDLE SCHOOL	ART 8	60	2	30.00
YVONNE SHAW MIDDLE SCHOOL	BEGIN ORCHESTRA	16	1	16.00
YVONNE SHAW MIDDLE SCHOOL	CHORUS	17	1	17.00
YVONNE SHAW MIDDLE SCHOOL	COMPUTERS & APPS	37	1	37.00
YVONNE SHAW MIDDLE SCHOOL	COYOTE ENRICH 7	307	13	23.62
YVONNE SHAW MIDDLE SCHOOL	COYOTE ENRICH 8	321	13	24.69
YVONNE SHAW MIDDLE SCHOOL	ELA 7	298	10	29.80
YVONNE SHAW MIDDLE SCHOOL	ELA 8	309	10	30.90
YVONNE SHAW MIDDLE SCHOOL	G6: BAND	100	4	25.00
YVONNE SHAW MIDDLE SCHOOL	G6: CHORUS	93	4	23.25
YVONNE SHAW MIDDLE SCHOOL	G6: COYOTE ENRICHMENT	300	12	25.00
YVONNE SHAW MIDDLE SCHOOL	G6: ELA	299	10	29.90
YVONNE SHAW MIDDLE SCHOOL	G6: MATH	298	10	29.80
YVONNE SHAW MIDDLE SCHOOL	G6: SCIENCE	299	10	29.90
YVONNE SHAW MIDDLE SCHOOL	G6: SEMINAR	299	10	29.90
YVONNE SHAW MIDDLE SCHOOL	G6: SOCIAL STUDIES	299	10	29.90
YVONNE SHAW MIDDLE SCHOOL	G6: STRINGS	109	4	27.25
YVONNE SHAW MIDDLE SCHOOL	HOME & CAREERS	56	2	28.00
YVONNE SHAW MIDDLE SCHOOL	HOME ECONOMICS	52	2	26.00
YVONNE SHAW MIDDLE SCHOOL	INTERM BAND	26	1	26.00
YVONNE SHAW MIDDLE SCHOOL	INTERM ORCHESTRA	18	1	18.00
YVONNE SHAW MIDDLE SCHOOL	LEADERSHIP	46	1	46.00
YVONNE SHAW MIDDLE SCHOOL	MATH 7	236	8	29.50
YVONNE SHAW MIDDLE SCHOOL	MATH 7-8	58	2	29.00
YVONNE SHAW MIDDLE SCHOOL	MATH 8	265	8	33.13
YVONNE SHAW MIDDLE SCHOOL	MUSIC APPREC	13	1	13.00
YVONNE SHAW MIDDLE SCHOOL	PE 6	295	8	36.88
YVONNE SHAW MIDDLE SCHOOL	PE 7	99	3	33.00
YVONNE SHAW MIDDLE SCHOOL	PE 8	95	3	31.67
YVONNE SHAW MIDDLE SCHOOL	SCIENCE 7	307	10	30.70
YVONNE SHAW MIDDLE SCHOOL	SCIENCE 8	319	10	31.90
YVONNE SHAW MIDDLE SCHOOL	SEMINAR	135	5	27.00
YVONNE SHAW MIDDLE SCHOOL	SOC STUDIES 8	317	10	31.70
YVONNE SHAW MIDDLE SCHOOL	SOCIAL STUDIES 7	303	10	30.30
YVONNE SHAW MIDDLE SCHOOL	SPANISH	104	3	34.67
YVONNE SHAW MIDDLE SCHOOL	SPANISH 1	51	2	25.50
YVONNE SHAW MIDDLE SCHOOL	STEM LAB	63	2	31.50
YVONNE SHAW MIDDLE SCHOOL	STEM RESEARCH & DEV	60	2	30.00
YVONNE SHAW MIDDLE SCHOOL	YEARBOOK	20	1	20.00
h Schools:				
ACADEMY OF ARTS CAREERS & TECH	AG BUSINESS (H)	36	1	36.00
ACADEMY OF ARTS CAREERS & TECH	AG SCIENCE I	29	1	29.00
ACADEMY OF ARTS CAREERS & TECH	AG SCIENCE II (H)	17	1	17.00
ACADEMY OF ARTS CAREERS & TECH	ALGEBRA 2 S1	77	3	25.67
ACADEMY OF ARTS CAREERS & TECH	ALGEBRA 2 S1 (H)	70	3	23.33

School	Class	Enrollment	# of Classes	Class Size
ACADEMY OF ARTS CAREERS & TECH	AMER GOVT 1	70	2	35.00
ACADEMY OF ARTS CAREERS & TECH	AP BIOLOGY S1	32	1	32.00
ACADEMY OF ARTS CAREERS & TECH	AP CALCULUS AB S1	41	2	20.50
ACADEMY OF ARTS CAREERS & TECH	AP CHEMISTRY S1	21	1	21.00
ACADEMY OF ARTS CAREERS & TECH	AP COMP SCI PRIN	14	1	14.00
ACADEMY OF ARTS CAREERS & TECH	AP ENG LANG S1	67	3	22.33
ACADEMY OF ARTS CAREERS & TECH	AP ENG LIT S1	32	2	16.00
ACADEMY OF ARTS CAREERS & TECH	AP ENVIRON SCI S1	19	1	19.00
ACADEMY OF ARTS CAREERS & TECH	AP HUMAN GEOG S1	29	1	29.00
ACADEMY OF ARTS CAREERS & TECH	AP PHYSICS C: Mech S1	23	1	23.00
ACADEMY OF ARTS CAREERS & TECH	AP SPANISH LANGUAGE & CULTURE	42	2	21.00
ACADEMY OF ARTS CAREERS & TECH	AP US GOVT & POL S1	23	2	11.50
ACADEMY OF ARTS CAREERS & TECH	AP US HISTORY S1	22	1	22.00
ACADEMY OF ARTS CAREERS & TECH	AP WORLD HISTORY S1	49	2	24.50
ACADEMY OF ARTS CAREERS & TECH	ART 1	47	2	23.50
ACADEMY OF ARTS CAREERS & TECH	ART 3	21	1	21.00
ACADEMY OF ARTS CAREERS & TECH	AVID 3	21	1	21.00
ACADEMY OF ARTS CAREERS & TECH	BAKING I (H)	16	1	16.00
ACADEMY OF ARTS CAREERS & TECH	BIOLOGY 1 (H)	71	2	35.50
ACADEMY OF ARTS CAREERS & TECH	CHEMISTRY 1	34	2	17.00
ACADEMY OF ARTS CAREERS & TECH	CHEMISTRY 1 (H)	97	4	24.25
ACADEMY OF ARTS CAREERS & TECH	CMTY HEALTH SCI (H)	25	1	25.00
ACADEMY OF ARTS CAREERS & TECH	COMPUTER SCIENCE & APPS	64	3	21.33
ACADEMY OF ARTS CAREERS & TECH	CUL ARTS I	30	1	30.00
ACADEMY OF ARTS CAREERS & TECH	CULINARY ARTS II (H)	11	1	11.00
ACADEMY OF ARTS CAREERS & TECH	CULINARY ARTS II L	11	1	11.00
ACADEMY OF ARTS CAREERS & TECH	EMER MED SERVICES (H)	31	2	15.50
ACADEMY OF ARTS CAREERS & TECH	EMER MED TECH (H)	26	1	26.00
ACADEMY OF ARTS CAREERS & TECH	EMER MED TECH L	26	1	26.00
ACADEMY OF ARTS CAREERS & TECH	ENGLISH 1 (H)	98	3	32.67
ACADEMY OF ARTS CAREERS & TECH	ENGLISH 3	35	2	17.50
ACADEMY OF ARTS CAREERS & TECH	ENGLISH 3 (H)	109	4	27.25
ACADEMY OF ARTS CAREERS & TECH	ENGLISH 5	68	2	34.00
ACADEMY OF ARTS CAREERS & TECH	ENGLISH 7	94	3	31.33
ACADEMY OF ARTS CAREERS & TECH	FRML GEO 1 (H)	49	2	24.50
ACADEMY OF ARTS CAREERS & TECH	GEOMETRY 1	44	2	22.00
ACADEMY OF ARTS CAREERS & TECH	GRAPHIC DESG I	53	2	26.50
ACADEMY OF ARTS CAREERS & TECH	GRAPHIC DESG II (H)	13	1	13.00
ACADEMY OF ARTS CAREERS & TECH	GRAPHIC DESG II L	13	1	13.00
ACADEMY OF ARTS CAREERS & TECH	GREENHOUSE MGMT (H)	20	1	20.00
ACADEMY OF ARTS CAREERS & TECH	GREENHOUSE MGMT AS	16	1	16.00
ACADEMY OF ARTS CAREERS & TECH	HEALTH	54	2	27.00
ACADEMY OF ARTS CAREERS & TECH	HEALTH SCIENCE I	35	1	35.00
ACADEMY OF ARTS CAREERS & TECH	HLTH PROFESSIONS L	25	1	25.00
ACADEMY OF ARTS CAREERS & TECH	HSB PRIN MGMT (H)	11	1	11.00
ACADEMY OF ARTS CAREERS & TECH	HSB-LEADERSHIP	16	1	16.00
ACADEMY OF ARTS CAREERS & TECH	HSB-PRIN BUSINESS	14	1	14.00
ACADEMY OF ARTS CAREERS & TECH	HUM ANT/PHS 1 (H)	78	3	26.00
ACADEMY OF ARTS CAREERS & TECH	HUMAN DEVLOP I	34	1	34.00
ACADEMY OF ARTS CAREERS & TECH	MANUF TECH I	32	2	16.00
ACADEMY OF ARTS CAREERS & TECH	MANUF TECH II (H)	14	1	14.00
ACADEMY OF ARTS CAREERS & TECH	MANUF TECH II L	14	1	14.00
ACADEMY OF ARTS CAREERS & TECH	MANUF TECH III (H)	22	1	22.00
ACADEMY OF ARTS CAREERS & TECH	MANUF TECH III L	22	1	22.00

School	Class	Enrollment	# of Classes	Class Size
ACADEMY OF ARTS CAREERS & TECH	MEDICAL TERM (H)	31	1	31.00
ACADEMY OF ARTS CAREERS & TECH	METALWRKG I	45	2	22.50
ACADEMY OF ARTS CAREERS & TECH	MKTG II (H)	11	1	11.00
ACADEMY OF ARTS CAREERS & TECH	PE	269	7	38.43
ACADEMY OF ARTS CAREERS & TECH	РНОТО І	51	2	25.50
ACADEMY OF ARTS CAREERS & TECH	PHYSICS 1 (H)	32	2	16.00
ACADEMY OF ARTS CAREERS & TECH	PLANT SCI HORT (H)	15	1	15.00
ACADEMY OF ARTS CAREERS & TECH	PRE-CALC W/TRIG (H) S1	103	4	25.75
ACADEMY OF ARTS CAREERS & TECH	PRE-COLLEGE MATH	34	2	17.00
ACADEMY OF ARTS CAREERS & TECH	PROB/STAT/DM S1	36	2	18.00
ACADEMY OF ARTS CAREERS & TECH	SPANISH 1	124	4	31.00
ACADEMY OF ARTS CAREERS & TECH	SPANISH 3	110	4	27.50
ACADEMY OF ARTS CAREERS & TECH	SPANISH 5 (H)	45	2	22.50
ACADEMY OF ARTS CAREERS & TECH	STUDENT LEADERSHIP	34	1	34.00
ACADEMY OF ARTS CAREERS & TECH	TEACHING and TRAINING I	16	1	16.00
ACADEMY OF ARTS CAREERS & TECH	TEACHING and TRAINING II (H)	18	1	18.00
ACADEMY OF ARTS CAREERS & TECH	TEACHING and TRAINING II (11)	18	1	18.00
ACADEMY OF ARTS CAREERS & TECH		18		18.00
	TEACHING and TRAINING III (H)		1	
ACADEMY OF ARTS CAREERS & TECH	TEACHING and TRAINING III L	18	1	18.00
ACADEMY OF ARTS CAREERS & TECH	US HISTORY 1	118	4	29.50
ACADEMY OF ARTS CAREERS & TECH	VIDEO PROD I	31	2	15.50
ACADEMY OF ARTS CAREERS & TECH	VIDEO PROD II (H)	13	1	13.00
ACADEMY OF ARTS CAREERS & TECH	VIDEO PROD II L	13	1	13.00
ACADEMY OF ARTS CAREERS & TECH	VIDEO PROD III (H)	16	1	16.00
ACADEMY OF ARTS CAREERS & TECH	VIDEO PROD III L	16	1	16.00
ACADEMY OF ARTS CAREERS & TECH	WELDING TECH I	30	2	15.00
ACADEMY OF ARTS CAREERS & TECH	WELDING TECH II L	12	1	12.00
ACADEMY OF ARTS CAREERS & TECH	WORLD CUISINES	51	2	25.50
ACADEMY OF ARTS CAREERS & TECH	WORLD HISTORY 1	75	3	25.00
ACADEMY OF ARTS CAREERS & TECH	WRITING THROUGH FILM (H)	28	1	28.00
DAMONTE RANCH HIGH SCHOOL	2D 3D MULTIMED 1	29	1	29.00
DAMONTE RANCH HIGH SCHOOL	ACAP/JAZZ CHOIR	14	1	14.00
DAMONTE RANCH HIGH SCHOOL	ACTING STYLES	18	1	18.00
DAMONTE RANCH HIGH SCHOOL	ADV CHOIR	16	1	16.00
DAMONTE RANCH HIGH SCHOOL	ADV DRAMA	14	1	14.00
DAMONTE RANCH HIGH SCHOOL	ADV FB COND	31	1	31.00
DAMONTE RANCH HIGH SCHOOL	ADV INSTRUMNTL	12	1	12.00
DAMONTE RANCH HIGH SCHOOL	ALGEBRA 2 S1	266	9	29.56
DAMONTE RANCH HIGH SCHOOL	ALGEBRA 2 S1 (H)	154	5	30.80
DAMONTE RANCH HIGH SCHOOL	AMER GOVT 1	225	7	32.14
DAMONTE RANCH HIGH SCHOOL	AP BIOLOGY S1	105		35.00
			3	
DAMONTE RANCH HIGH SCHOOL	AP CALCULUS AB S1	62	2	31.00
DAMONTE RANCH HIGH SCHOOL	AP COMP SCI PRIN	18	1	18.00
DAMONTE RANCH HIGH SCHOOL	AP COMP SCI PRIN	350	11	31.82
DAMONTE RANCH HIGH SCHOOL	AP COMPUTER SCI A	32	2	16.00
DAMONTE RANCH HIGH SCHOOL	AP ENG LANG S1	55	2	27.50
DAMONTE RANCH HIGH SCHOOL	AP ENG LIT S1	11	1	11.00
DAMONTE RANCH HIGH SCHOOL	AP HUMAN GEOG S1	116	4	29.00
DAMONTE RANCH HIGH SCHOOL	AP MUSIC THEORY	12	1	12.00
DAMONTE RANCH HIGH SCHOOL	AP PHYSICS 1	36	2	18.00
DAMONTE RANCH HIGH SCHOOL	AP PHYSICS 2	16	1	16.00
DAMONTE RANCH HIGH SCHOOL	AP PSYCHOLOGY S1	20	1	20.00
DAMONTE RANCH HIGH SCHOOL	AP SPANISH LANGUAGE & CULTURE	25	1	25.00
DAMONTE RANCH HIGH SCHOOL	AP STATISTICS S1	12	1	12.00

School	Class	Enrollment	# of Classes	Class Size
DAMONTE RANCH HIGH SCHOOL	AP US GOVT & POL S1	49	2	24.50
DAMONTE RANCH HIGH SCHOOL	AP US HISTORY S1	89	4	22.25
DAMONTE RANCH HIGH SCHOOL	ART 1	175	5	35.00
DAMONTE RANCH HIGH SCHOOL	ART 3	18	1	18.00
DAMONTE RANCH HIGH SCHOOL	BALLET/CONTEMPORARY	34	1	34.00
DAMONTE RANCH HIGH SCHOOL	BBALL COND	101	2	50.50
DAMONTE RANCH HIGH SCHOOL	BEG DANCE	88	2	44.00
DAMONTE RANCH HIGH SCHOOL	BEG GUITAR	24	1	24.00
DAMONTE RANCH HIGH SCHOOL	BIOLOGY 1 (H)	179	5	35.80
DAMONTE RANCH HIGH SCHOOL	BOYS CROSS-COUNTRY	24	1	24.00
DAMONTE RANCH HIGH SCHOOL	BOYS SOCCER - JUNIOR VARSITY	19	1	19.00
DAMONTE RANCH HIGH SCHOOL	BOYS SOCCER - VARSITY	19	1	19.00
DAMONTE RANCH HIGH SCHOOL	BOYS TENNIS	11	1	11.00
DAMONTE RANCH HIGH SCHOOL	CERAMICS 1	95	3	31.67
DAMONTE RANCH HIGH SCHOOL	CHAMBER ORCH	19	1	19.00
DAMONTE RANCH HIGH SCHOOL	CHEERLEADING - JUNIOR VARSITY	26	1	26.00
DAMONTE RANCH HIGH SCHOOL	CHEERLEADING - VARSITY	31	1	31.00
DAMONTE RANCH HIGH SCHOOL	CHEMISTRY 1	300	11	27.27
DAMONTE RANCH HIGH SCHOOL	CHEMISTRY 1 (H)	181	6	30.17
DAMONTE RANCH HIGH SCHOOL	COLOR GUARD	18	1	18.00
DAMONTE RANCH HIGH SCHOOL	COMPUTER SCI II (H)	71	3	23.67
DAMONTE RANCH HIGH SCHOOL	COMPUTER SCIENCE & APPS	65	2	32.50
DAMONTE RANCH HIGH SCHOOL	CONCERT BAND	44	1	44.00
DAMONTE RANCH HIGH SCHOOL	CONCERT CHOIR	39	1	39.00
DAMONTE RANCH HIGH SCHOOL	CONCERT ORCH	37	1	37.00
DAMONTE RANCH HIGH SCHOOL	COND/WGHT TRNG	301	6	50.17
DAMONTE RANCH HIGH SCHOOL	DRAMA 1	42	1	42.00
DAMONTE RANCH HIGH SCHOOL	DRAMA 3	15	1	15.00
DAMONTE RANCH HIGH SCHOOL	DRAMATIC LIT	39	2	19.50
DAMONTE RANCH HIGH SCHOOL	EARLY COLLEGE MATH 095	57	2	28.50
DAMONTE RANCH HIGH SCHOOL	EARLY COLLEGE MATH 096	32	1	32.00
DAMONTE RANCH HIGH SCHOOL	EARTH SCI 1 (H)	113	3	37.67
DAMONTE RANCH HIGH SCHOOL	ENGLISH 1 (H)	187	5	37.40
DAMONTE RANCH HIGH SCHOOL	ENGLISH 3	294	9	32.67
DAMONTE RANCH HIGH SCHOOL	ENGLISH 3 (H)	123	5	24.60
DAMONTE RANCH HIGH SCHOOL	ENGLISH 5	201	6	33.50
DAMONTE RANCH HIGH SCHOOL	ENGLISH 7	201	6	33.50
DAMONTE RANCH HIGH SCHOOL	FOODS I	97	3	32.33
DAMONTE RANCH HIGH SCHOOL	FOODS II (H)	39	2	19.50
DAMONTE RANCH HIGH SCHOOL	FOODS III (H)	21	1	21.00
DAMONTE RANCH HIGH SCHOOL	FOOTBALL - FRESHMEN	29	1	29.00
DAMONTE RANCH HIGH SCHOOL	FOOTBALL - JUNIOR VARSITY	28	1	28.00
DAMONTE RANCH HIGH SCHOOL	FOOTBALL - VARSITY	35	1	35.00
DAMONTE RANCH HIGH SCHOOL	FRENCH 1	86	3	28.67
DAMONTE RANCH HIGH SCHOOL	FRENCH 3	50	2	25.00
DAMONTE RANCH HIGH SCHOOL	FRESHMAN SEMINAR	982	44	22.32
DAMONTE RANCH HIGH SCHOOL	FRML GEO 1 (H)	163	5	32.60
DAMONTE RANCH HIGH SCHOOL	GEOMETRY 1	286	10	28.60
DAMONTE RANCH HIGH SCHOOL	GIRLS CROSS-COUNTRY	18	10	18.00
DAMONTE RANCH HIGH SCHOOL	GIRLS CROSS-COUNTRY GIRLS SOCCER - JUNIOR VARSITY	17	1	17.00
DAMONTE RANCH HIGH SCHOOL	GIRLS SOCCER - JUNIOR VARSITY	16	1	16.00
DAMONTE RANCH HIGH SCHOOL	GIRLS SOCCER - VARSITY GIRLS TENNIS	17		17.00
DAMONTE RANCH HIGH SCHOOL	HEALTH	117	1 3	39.00
DAMONTE RANCH HIGH SCHOOL	HUM ANT/PHS 1 (H)	49	2	24.50

School	Class	Enrollment	# of Classes	Class Size
DAMONTE RANCH HIGH SCHOOL	INSTRUCTNL CNTR	1743	70	24.90
DAMONTE RANCH HIGH SCHOOL	INTRO TO YOGA	77	2	38.50
DAMONTE RANCH HIGH SCHOOL	JAG ELECTIVE G10 S1	11	1	11.00
DAMONTE RANCH HIGH SCHOOL	JAG ELECTIVE G11 S1	19	1	19.00
DAMONTE RANCH HIGH SCHOOL	JAG ELECTIVE G12 S1	16	1	16.00
DAMONTE RANCH HIGH SCHOOL	JAZZ BAND	32	1	32.00
DAMONTE RANCH HIGH SCHOOL	JAZZ/HIP-HOP	36	1	36.00
DAMONTE RANCH HIGH SCHOOL	MICROBIO 1 (H)	67	2	33.50
DAMONTE RANCH HIGH SCHOOL	MIXED CHOIR	42	1	42.00
DAMONTE RANCH HIGH SCHOOL	MYTH & MONSTERS	189	5	37.80
DAMONTE RANCH HIGH SCHOOL	NAVAL SCIENCE 1	69	4	17.25
DAMONTE RANCH HIGH SCHOOL	NAVAL SCIENCE 3	35	3	11.67
DAMONTE RANCH HIGH SCHOOL	NAVAL SCIENCE 7 (H)	22	1	22.00
DAMONTE RANCH HIGH SCHOOL	PHYSICS 1 (H)	50	2	25.00
DAMONTE RANCH HIGH SCHOOL	POWER WALKING	96	2	48.00
DAMONTE RANCH HIGH SCHOOL	PRE-CALC W/TRIG (H) S1	105	4	26.25
DAMONTE RANCH HIGH SCHOOL	PRE-COLLEGE MATH	60	2	30.00
DAMONTE RANCH HIGH SCHOOL	PROB/STAT/DM S1	69	2	34.50
DAMONTE RANCH HIGH SCHOOL	SINFONIA ORCH	29	1	29.00
DAMONTE RANCH HIGH SCHOOL	SPANISH 1	259	8	32.38
DAMONTE RANCH HIGH SCHOOL	SPANISH 3	214	7	30.57
		53	2	26.50
DAMONTE RANCH HIGH SCHOOL	SPANISH 5 (H)			
DAMONTE RANCH HIGH SCHOOL	STUDENT LEADERSHIP	36	1	36.00
DAMONTE RANCH HIGH SCHOOL	TAP/THEATRE DANCE	24	1	24.00
DAMONTE RANCH HIGH SCHOOL	TEAM SPORTS	201	4	50.25
DAMONTE RANCH HIGH SCHOOL	TECH/PRCSN BAND	15	1	15.00
DAMONTE RANCH HIGH SCHOOL	THEATER PERF	11	1	11.00
DAMONTE RANCH HIGH SCHOOL	THEATRE TECH I	41	1	41.00
DAMONTE RANCH HIGH SCHOOL	US HISTORY 1	369	10	36.90
DAMONTE RANCH HIGH SCHOOL	VIDEO PROD III (H)	16	1	16.00
DAMONTE RANCH HIGH SCHOOL	VOLLEYBALL - FRESHMEN	13	1	13.00
DAMONTE RANCH HIGH SCHOOL	VOLLEYBALL - JUNIOR VARSITY	13	1	13.00
DAMONTE RANCH HIGH SCHOOL	VOLLEYBALL - VARSITY	13	1	13.00
DAMONTE RANCH HIGH SCHOOL	WIND ENSEMBLE	34	1	34.00
DAMONTE RANCH HIGH SCHOOL	WORLD HISTORY 1	335	10	33.50
DAMONTE RANCH HIGH SCHOOL	YEARBOOK	17	1	17.00
EARL WOOSTER HIGH SCHOOL	ADV THEATER	11	1	11.00
EARL WOOSTER HIGH SCHOOL	ADVISORY	192	11	17.45
EARL WOOSTER HIGH SCHOOL	ALGEBRA 1 SUPPORT	18	1	18.00
EARL WOOSTER HIGH SCHOOL	ALGEBRA 2 S1	299	12	24.92
EARL WOOSTER HIGH SCHOOL	ALGEBRA 2 S1 (H)	91	4	22.75
EARL WOOSTER HIGH SCHOOL	ALGEBRA 2 SUPPORT	28	1	28.00
EARL WOOSTER HIGH SCHOOL	AMER GOVT 1	276	11	25.09
EARL WOOSTER HIGH SCHOOL	AP CALCULUS AB S1	25	1	25.00
EARL WOOSTER HIGH SCHOOL	AP COMP SCI PRIN	19	1	19.00
EARL WOOSTER HIGH SCHOOL	AP ENG LANG S1	77	3	25.67
EARL WOOSTER HIGH SCHOOL	AP ENG LIT S1	40	2	20.00
EARL WOOSTER HIGH SCHOOL	AP ENVIRON SCI S1	17	1	17.00
EARL WOOSTER HIGH SCHOOL	AP HUMAN GEOG S1	38	1	38.00
EARL WOOSTER HIGH SCHOOL	AP SPANISH LANGUAGE & CULTURE	140	6	23.33
EARL WOOSTER HIGH SCHOOL	AP SPANISH LITERATURE	44	2	22.00
EARL WOOSTER HIGH SCHOOL	AP STATISTICS S1	20	1	20.00
EARL WOOSTER HIGH SCHOOL	AP US GOVT & POL S1	42	2	21.00
EARL WOOSTER HIGH SCHOOL	AP US HISTORY S1	71	2	35.50

School	Class	Enrollment	# of Classes	Class Size
EARL WOOSTER HIGH SCHOOL	AP WORLD HISTORY S1	118	4	29.50
EARL WOOSTER HIGH SCHOOL	ASTRONOMY	164	5	32.80
EARL WOOSTER HIGH SCHOOL	BIOLOGY 1 (H)	91	3	30.33
EARL WOOSTER HIGH SCHOOL	CALLIGRAPHY 1	57	2	28.50
EARL WOOSTER HIGH SCHOOL	CERAMICS 1	91	3	30.33
EARL WOOSTER HIGH SCHOOL	CERAMICS 3	32	2	16.00
EARL WOOSTER HIGH SCHOOL	CHEMISTRY 1	169	6	28.17
EARL WOOSTER HIGH SCHOOL	CHEMISTRY 1 (H)	111	4	27.75
EARL WOOSTER HIGH SCHOOL	CHINESE 1	33	1	33.00
EARL WOOSTER HIGH SCHOOL	CHINESE 3	16	1	16.00
EARL WOOSTER HIGH SCHOOL	COMPUTER SCIENCE & APPS	158	5	31.60
EARL WOOSTER HIGH SCHOOL	CONCERT ORCH	38	1	38.00
EARL WOOSTER HIGH SCHOOL	COND/WGHT TRNG	342	7	48.86
EARL WOOSTER HIGH SCHOOL	DRAWING 1	145	4	36.25
EARL WOOSTER HIGH SCHOOL	DRAWING 3	33	2	16.50
EARL WOOSTER HIGH SCHOOL	ENERGY TECH I	58	2	29.00
EARL WOOSTER HIGH SCHOOL	ENERGY TECH II (H)	16	1	16.00
EARL WOOSTER HIGH SCHOOL	ENGLISH 1 (H)	88	3	29.33
EARL WOOSTER HIGH SCHOOL	ENGLISH 3	239	9	26.56
EARL WOOSTER HIGH SCHOOL	ENGLISH 3 (H)	157	5	31.40
EARL WOOSTER HIGH SCHOOL	ENGLISH 5	256	9	28.44
EARL WOOSTER HIGH SCHOOL	ENGLISH 7	238	9	26.44
EARL WOOSTER HIGH SCHOOL		141	5	28.20
	ENVIRON SCI 1			
EARL WOOSTER HIGH SCHOOL	FIT/WELL 1	168	4	42.00
EARL WOOSTER HIGH SCHOOL	FIT/WELL 3	225	5	45.00
EARL WOOSTER HIGH SCHOOL	FRENCH 1	60	2	30.00
EARL WOOSTER HIGH SCHOOL	FRENCH 3	45	2	22.50
EARL WOOSTER HIGH SCHOOL	FRENCH 5 (H)	15	1	15.00
EARL WOOSTER HIGH SCHOOL	FRESHMAN SEMINAR	299	13	23.00
EARL WOOSTER HIGH SCHOOL	FRML GEO 1 (H)	84	3	28.00
EARL WOOSTER HIGH SCHOOL	GEOMETRY 1	329	13	25.31
EARL WOOSTER HIGH SCHOOL	HEALTH	153	5	30.60
EARL WOOSTER HIGH SCHOOL	HORTICULTURE SCIENCE	104	3	34.67
EARL WOOSTER HIGH SCHOOL	HSROTC I	103	5	20.60
EARL WOOSTER HIGH SCHOOL	HSROTC SPECL TMS	41	2	20.50
EARL WOOSTER HIGH SCHOOL	HUM ANT/PHS 1 (H)	81	3	27.00
EARL WOOSTER HIGH SCHOOL	IB BIOLOGY SL	42	2	21.00
EARL WOOSTER HIGH SCHOOL	IB CHEMISTRY SL	18	1	18.00
EARL WOOSTER HIGH SCHOOL	IB ENGLISH HL I	66	3	22.00
EARL WOOSTER HIGH SCHOOL	IB ENGLISH HLII	33	2	16.50
EARL WOOSTER HIGH SCHOOL	IB ENGLISH SL II	17	1	17.00
EARL WOOSTER HIGH SCHOOL	IB FRENCH B SL I	11	1	11.00
EARL WOOSTER HIGH SCHOOL	IB HIST AMER HL I	63	2	31.50
EARL WOOSTER HIGH SCHOOL	IB HIST AMER HL II	62	2	31.00
EARL WOOSTER HIGH SCHOOL	IB MATH HL I	22	1	22.00
EARL WOOSTER HIGH SCHOOL	IB MATH HL II	20	1	20.00
EARL WOOSTER HIGH SCHOOL	IB MATH STUDIES SL	30	1	30.00
EARL WOOSTER HIGH SCHOOL	IB MUSIC SL I	13	1	13.00
EARL WOOSTER HIGH SCHOOL	IB PHYSICS SL	14	1	14.00
EARL WOOSTER HIGH SCHOOL	IB PPS I	14	1	14.00
EARL WOOSTER HIGH SCHOOL	IB PPS II	16	1	16.00
EARL WOOSTER HIGH SCHOOL	IB PSYCHOLOGY SL I	41	2	20.50
EARL WOOSTER HIGH SCHOOL	IB SPANISH SL I (7-8)	27	1	27.00
LAME VVOOSTER HIGH SCHOOL	10 31 / (NO)	13	1	13.00

School	Class	Enrollment	# of Classes	Class Size
EARL WOOSTER HIGH SCHOOL	IB SPANISH SL II (9-10)	17	1	17.00
EARL WOOSTER HIGH SCHOOL	IB THRY OF KNOW I	31	1	31.00
EARL WOOSTER HIGH SCHOOL	IB THRY OF KNOW I EE	16	1	16.00
EARL WOOSTER HIGH SCHOOL	IB THRY OF KNOW II	40	1	40.00
EARL WOOSTER HIGH SCHOOL	IB VISUAL ART SL I	11	1	11.00
EARL WOOSTER HIGH SCHOOL	JAG ELECTIVE G10 S1	24	1	24.00
EARL WOOSTER HIGH SCHOOL	JAG ELECTIVE G11 S1	26	1	26.00
EARL WOOSTER HIGH SCHOOL	JAG ELECTIVE G12 S1	13	1	13.00
EARL WOOSTER HIGH SCHOOL	JAZZ BAND	18	1	18.00
EARL WOOSTER HIGH SCHOOL	JOURNALISM	18	1	18.00
EARL WOOSTER HIGH SCHOOL	JUNIOR SEMINAR	357	12	29.75
EARL WOOSTER HIGH SCHOOL	LIFETIME FITNESS	45	1	45.00
EARL WOOSTER HIGH SCHOOL	MARCH/SYMP BAND	28	1	28.00
EARL WOOSTER HIGH SCHOOL	MARCH/WIND ENSEMBLE	25	1	25.00
EARL WOOSTER HIGH SCHOOL	METALWRKG I	63	2	31.50
EARL WOOSTER HIGH SCHOOL	METALWRKG II (H)	61	2	30.50
EARL WOOSTER HIGH SCHOOL	METALWRKG III (H)	25	1	25.00
EARL WOOSTER HIGH SCHOOL	MURAL ART	35	1	35.00
EARL WOOSTER HIGH SCHOOL	MYP INDIV & SOC	313	10	31.30
EARL WOOSTER HIGH SCHOOL	OFF CAMPUS 1	59	1	59.00
EARL WOOSTER HIGH SCHOOL	OFF CAMPUS 2	19	1	19.00
EARL WOOSTER HIGH SCHOOL	OFF CAMPUS 6	33	1	33.00
EARL WOOSTER HIGH SCHOOL	OFF CAMPUS 7	69	1	69.00
EARL WOOSTER HIGH SCHOOL	PHOTO I	90	3	30.00
		51	3	17.00
EARL WOOSTER HIGH SCHOOL	PHOTO II (H)			
EARL WOOSTER HIGH SCHOOL	PHYSICAL SCI 1	176	6	29.33
EARL WOOSTER HIGH SCHOOL	PHYSICS 1 (H)	60	2	30.00
EARL WOOSTER HIGH SCHOOL	POWER WALKING	110	2	55.00
EARL WOOSTER HIGH SCHOOL	PRE-CALC W/TRIG (H) S1	122	4	30.50
EARL WOOSTER HIGH SCHOOL	PRE-COLLEGE MATH	89	3	29.67
EARL WOOSTER HIGH SCHOOL	PROB/STAT/DM S1	94	3	31.33
EARL WOOSTER HIGH SCHOOL	PUBLIC RELATIONS 1	25	1	25.00
EARL WOOSTER HIGH SCHOOL	SENIOR SEMINAR	320	13	24.62
EARL WOOSTER HIGH SCHOOL	SOCCER & CONDITIONING	100	2	50.00
EARL WOOSTER HIGH SCHOOL	SOPHOMORE SEMINAR	369	13	28.38
EARL WOOSTER HIGH SCHOOL	SPANISH 1	98	3	32.67
EARL WOOSTER HIGH SCHOOL	SPANISH 3	113	4	28.25
EARL WOOSTER HIGH SCHOOL	SPANISH 5 (H)	73	3	24.33
EARL WOOSTER HIGH SCHOOL	SPANISH LITERACY 3	68	2	34.00
EARL WOOSTER HIGH SCHOOL	SPANISH LITERACY 5 (H)	95	3	31.67
EARL WOOSTER HIGH SCHOOL	SPEECH/DEBATE	14	1	14.00
EARL WOOSTER HIGH SCHOOL	STUDENT LEADERSHIP	51	1	51.00
EARL WOOSTER HIGH SCHOOL	THEATER 1	40	2	20.00
EARL WOOSTER HIGH SCHOOL	US HISTORY 1	311	10	31.10
EARL WOOSTER HIGH SCHOOL	WORLD HISTORY 1	287	9	31.89
EARL WOOSTER HIGH SCHOOL	WRITING THROUGH FILM (H)	55	2	27.50
EARL WOOSTER HIGH SCHOOL	YEARBOOK	33	1	33.00
EDWARD C. REED HIGH SCHOOL	ACADEM SUCCESS	17	1	17.00
EDWARD C. REED HIGH SCHOOL	ADV ALGEBRA 3 S1	110	4	27.50
EDWARD C. REED HIGH SCHOOL	ADV CHOIR	46	1	46.00
EDWARD C. REED HIGH SCHOOL	ADV FB COND	48	1	48.00
EDWARD C. REED HIGH SCHOOL	ADV JAZZ BAND	16	1	16.00
EDWARD C. REED HIGH SCHOOL	ALGEBRA 2 S1	408	14	29.14
EDWARD C. REED HIGH SCHOOL	ALGEBRA 2 S1 (H)	92	3	30.67

School	Class	Enrollment	# of Classes	Class Size
EDWARD C. REED HIGH SCHOOL	AMER GOVT 1	365	12	30.42
EDWARD C. REED HIGH SCHOOL	AP AM GOVT/PPL S1	16	1	16.00
EDWARD C. REED HIGH SCHOOL	AP BIOLOGY S1	29	1	29.00
EDWARD C. REED HIGH SCHOOL	AP CALCULUS AB S1	32	1	32.00
EDWARD C. REED HIGH SCHOOL	AP CHEMISTRY S1	15	1	15.00
EDWARD C. REED HIGH SCHOOL	AP ENG LANG S1	66	2	33.00
EDWARD C. REED HIGH SCHOOL	AP ENG LIT S1	28	1	28.00
EDWARD C. REED HIGH SCHOOL	AP ENVIRON SCI S1	20	1	20.00
EDWARD C. REED HIGH SCHOOL	AP EUROP HIST S1	49	2	24.50
EDWARD C. REED HIGH SCHOOL	AP MICRO ECON S1	26	1	26.00
EDWARD C. REED HIGH SCHOOL	AP MUSIC THEORY	26	1	26.00
EDWARD C. REED HIGH SCHOOL	AP PHYSICS 1	36	1	36.00
EDWARD C. REED HIGH SCHOOL	AP PSYCHOLOGY S1	28	1	28.00
EDWARD C. REED HIGH SCHOOL	AP SPANISH LANGUAGE & CULTURE	62	2	31.00
EDWARD C. REED HIGH SCHOOL	AP SPANISH LITERATURE	16	1	16.00
EDWARD C. REED HIGH SCHOOL	AP STATISTICS S1	15	1	15.00
EDWARD C. REED HIGH SCHOOL	AP US GOVT & POL S1	76	3	25.33
EDWARD C. REED HIGH SCHOOL	AP US HISTORY S1	68	2	34.00
EDWARD C. REED HIGH SCHOOL	ASTRONOMY	58	2	29.00
	ATH COND/WT TRN	277	6	46.17
EDWARD C. REED HIGH SCHOOL	,			
EDWARD C. REED HIGH SCHOOL	AUTO TECH I	117	4	29.25
EDWARD C. REED HIGH SCHOOL	AUTO TECH II (H)	19	1	19.00
EDWARD C. REED HIGH SCHOOL	AUTO TECH II L	19	1	19.00
EDWARD C. REED HIGH SCHOOL	BBALL COND	43	1	43.00
EDWARD C. REED HIGH SCHOOL	BIOLOGY 1 (H)	114	3	38.00
EDWARD C. REED HIGH SCHOOL	BIOMED I	36	1	36.00
EDWARD C. REED HIGH SCHOOL	BIOMED II (H)	21	1	21.00
EDWARD C. REED HIGH SCHOOL	BIOMED III (H)	21	1	21.00
EDWARD C. REED HIGH SCHOOL	BIOMEDICAL II LAB	21	1	21.00
EDWARD C. REED HIGH SCHOOL	BIOMEDICAL LAB III	21	1	21.00
EDWARD C. REED HIGH SCHOOL	CERAMICS 1	173	5	34.60
EDWARD C. REED HIGH SCHOOL	CERAMICS 3	32	1	32.00
EDWARD C. REED HIGH SCHOOL	CHAMBER ORCH	13	1	13.00
EDWARD C. REED HIGH SCHOOL	CHEM LAB (H)	15	1	15.00
EDWARD C. REED HIGH SCHOOL	CHEMISTRY 1	224	7	32.00
EDWARD C. REED HIGH SCHOOL	CHEMISTRY 1 (H)	146	5	29.20
EDWARD C. REED HIGH SCHOOL	COMPUTER SCIENCE & APPS	255	9	28.33
EDWARD C. REED HIGH SCHOOL	CONCERT BAND	34	1	34.00
EDWARD C. REED HIGH SCHOOL	CONCERT CHOIR	47	1	47.00
EDWARD C. REED HIGH SCHOOL	CONCERT ORCH	23	1	23.00
EDWARD C. REED HIGH SCHOOL	CREATIVE WRITING	31	1	31.00
EDWARD C. REED HIGH SCHOOL	DRAWING 1	135	4	33.75
EDWARD C. REED HIGH SCHOOL	DRAWING 5 (H)	11	1	11.00
EDWARD C. REED HIGH SCHOOL	EARTH SCI 1 (H)	27	1	27.00
EDWARD C. REED HIGH SCHOOL	EARTH SCIENCE 1	166	5	33.20
EDWARD C. REED HIGH SCHOOL	ENERGY TECH I	67	2	33.50
EDWARD C. REED HIGH SCHOOL	ENERGY TECH II (H)	25	2	12.50
EDWARD C. REED HIGH SCHOOL	ENERGY TECH III (H)	20		20.00
EDWARD C. REED HIGH SCHOOL	` '	144	1 4	36.00
	ENGLISH 1 (H) ENGLISH 3			
EDWARD C. REED HIGH SCHOOL		406	13	31.23
EDWARD C. REED HIGH SCHOOL	ENGLISH 3 (H)	158	5	31.60
EDWARD C. REED HIGH SCHOOL	ENGLISH 5	277	9	30.78
EDWARD C. REED HIGH SCHOOL	ENGLISH 7	241	8	30.13

School	Class	Enrollment	# of Classes	Class Size
EDWARD C. REED HIGH SCHOOL	FNDTNS IN ART	88	3	29.33
EDWARD C. REED HIGH SCHOOL	FOODS I	146	5	29.20
EDWARD C. REED HIGH SCHOOL	FOODS II (H)	20	1	20.00
EDWARD C. REED HIGH SCHOOL	FOUNDATIONS PERSONAL FINANCE	85	3	28.33
EDWARD C. REED HIGH SCHOOL	FRML GEO 1 (H)	73	2	36.50
EDWARD C. REED HIGH SCHOOL	GEOMETRY 1	475	17	27.94
EDWARD C. REED HIGH SCHOOL	GRAPHIC DESG I	84	3	28.00
EDWARD C. REED HIGH SCHOOL	HEALTH	275	9	30.56
EDWARD C. REED HIGH SCHOOL	HSROTC SPECL TMS	41	1	41.00
EDWARD C. REED HIGH SCHOOL	HUM ANT/PHS 1 (H)	30	1	30.00
EDWARD C. REED HIGH SCHOOL	HUMAN DEVLOP AS	24	1	24.00
EDWARD C. REED HIGH SCHOOL	HUMAN DEVLOP I	104	3	34.67
EDWARD C. REED HIGH SCHOOL	HUMAN DEVLOP II (H)	35	1	35.00
EDWARD C. REED HIGH SCHOOL	HUMAN DEVLOP III (H)	34	2	17.00
EDWARD C. REED HIGH SCHOOL	INTRO TO YOGA	68	2	34.00
EDWARD C. REED HIGH SCHOOL	JAG ELECTIVE G12 S1	35	2	17.50
EDWARD C. REED HIGH SCHOOL	JAG ELECTIVE G12 S1 JAZZ BAND	20	1	20.00
EDWARD C. REED HIGH SCHOOL	JOB EXP	78	7	11.14
EDWARD C. REED HIGH SCHOOL	• •	78 26	1	26.00
	MANUF TECH I			
EDWARD C. REED HIGH SCHOOL	MARCH/SYMP BAND	39	1	39.00
EDWARD C. REED HIGH SCHOOL	MARCHING BAND	94	1	94.00
EDWARD C. REED HIGH SCHOOL	MEDICAL TERM (H)	33	1	33.00
EDWARD C. REED HIGH SCHOOL	METALWRKG I	94	3	31.33
EDWARD C. REED HIGH SCHOOL	METALWRKG II (H)	21	2	10.50
EDWARD C. REED HIGH SCHOOL	MIL SCI I	95	4	23.75
EDWARD C. REED HIGH SCHOOL	MIL SCI II (H)	51	4	12.75
EDWARD C. REED HIGH SCHOOL	MYTHOLOGY	103	3	34.33
EDWARD C. REED HIGH SCHOOL	OFF CAMPUS 1	62	1	62.00
EDWARD C. REED HIGH SCHOOL	OFF CAMPUS 2	23	1	23.00
EDWARD C. REED HIGH SCHOOL	OFF CAMPUS 4	17	1	17.00
EDWARD C. REED HIGH SCHOOL	OFF CAMPUS 5	36	1	36.00
EDWARD C. REED HIGH SCHOOL	OFF CAMPUS 6	214	1	214.00
EDWARD C. REED HIGH SCHOOL	OFF CAMPUS 7	290	1	290.00
EDWARD C. REED HIGH SCHOOL	PAINTING 1	70	2	35.00
EDWARD C. REED HIGH SCHOOL	PAINTING 3	27	1	27.00
EDWARD C. REED HIGH SCHOOL	PAINTING 5 (H)	14	1	14.00
EDWARD C. REED HIGH SCHOOL	PAIUTE LANG 1	12	1	12.00
EDWARD C. REED HIGH SCHOOL	PE	351	7	50.14
EDWARD C. REED HIGH SCHOOL	PE 10-11-12	364	8	45.50
EDWARD C. REED HIGH SCHOOL	PHYSICAL SCI 1	184	6	30.67
EDWARD C. REED HIGH SCHOOL	PHYSICS 1 (H)	56	2	28.00
EDWARD C. REED HIGH SCHOOL	PRE-CALC W/TRIG (H) S1	175	5	35.00
EDWARD C. REED HIGH SCHOOL	PRE-CALC W/TRIG (H) S1 PRE-COLLEGE MATH	104		34.67
EDWARD C. REED HIGH SCHOOL	PRIN BUS MKTG		3	
		74	3	24.67
EDWARD C. REED HIGH SCHOOL	PROB/STAT/DM S1	105	3	35.00
EDWARD C. REED HIGH SCHOOL	PSYCH HISTORY/ FILM	31	1	31.00
EDWARD C. REED HIGH SCHOOL	PSYCH IN LIT (H)	109	3	36.33
EDWARD C. REED HIGH SCHOOL	PSYCHOLOGY 1	135	4	33.75
EDWARD C. REED HIGH SCHOOL	READ 180 I	72	5	14.40
EDWARD C. REED HIGH SCHOOL	READ 180 III	18	1	18.00
EDWARD C. REED HIGH SCHOOL	SHAKESPEARE (H)	175	5	35.00
EDWARD C. REED HIGH SCHOOL	SINFONIA ORCH	48	1	48.00
EDWARD C. REED HIGH SCHOOL	SOCCER & CONDITIONING	47	1	47.00
EDWARD C. REED HIGH SCHOOL	SPANISH 1	266	8	33.25

School	Class	Enrollment	# of Classes	Class Size	
EDWARD C. REED HIGH SCHOOL	SPANISH 3	227	7	32.43	
EDWARD C. REED HIGH SCHOOL	SPANISH 5 (H)	77	3	25.67	
EDWARD C. REED HIGH SCHOOL	SPANISH LITERACY 3	26	1	26.00	
EDWARD C. REED HIGH SCHOOL	SPANISH LITERACY 5 (H)	35	1	35.00	
EDWARD C. REED HIGH SCHOOL	STUDENT LEADERSHIP	25	1	25.00	
EDWARD C. REED HIGH SCHOOL	THEATER 1	57	2	28.50	
EDWARD C. REED HIGH SCHOOL	THEATER 3	11	1	11.00	
EDWARD C. REED HIGH SCHOOL	UKULELE 1	25	1	25.00	
EDWARD C. REED HIGH SCHOOL	US HISTORY 1	482	17	28.35	
EDWARD C. REED HIGH SCHOOL	VOCAL/SOLO ENS	17	1	17.00	
EDWARD C. REED HIGH SCHOOL	VOLLEYBALL	43	1	43.00	
EDWARD C. REED HIGH SCHOOL	VSNS CHORAL	16	1	16.00	
EDWARD C. REED HIGH SCHOOL	WELDING TECH I	21	2	10.50	
EDWARD C. REED HIGH SCHOOL	WOMEN'S CHORUS	30	1	30.00	
EDWARD C. REED HIGH SCHOOL	WORLD GEOG 1 (H)	98	3	32.67	
EDWARD C. REED HIGH SCHOOL	WORLD HISTORY 1	403	13	31.00	
EDWARD C. REED HIGH SCHOOL	YEARBOOK	20	1	20.00	
EDWARD C. REED HIGH SCHOOL	ZOOLOGY S1	44	2	22.00	
GALENA HIGH SCHOOL	ACADEM SUCCESS	164	8	20.50	
	ACAP/JAZZ CHOIR	20		20.00	
GALENA HIGH SCHOOL	- /		1		
GALENA HIGH SCHOOL	ADV COND/WT TRN	96	1	96.00	
GALENA HIGH SCHOOL	ADV JOURNALISM	12	1	12.00	
GALENA HIGH SCHOOL	ADV YEARBOOK	15	1	15.00	
GALENA HIGH SCHOOL	AEROBICS	52	2	26.00	
GALENA HIGH SCHOOL	ALGEBRA 2 S1	122	4	30.50	
GALENA HIGH SCHOOL	ALGEBRA 2 S1 (H)	210	6	35.00	
GALENA HIGH SCHOOL	AMER GOVT 1	250	7	35.71	
GALENA HIGH SCHOOL	AP BIOLOGY S1	36	1	36.00	
GALENA HIGH SCHOOL	AP CALCULUS AB S1	51	2	25.50	
GALENA HIGH SCHOOL	AP COMPUTER SCI PRINCIPLES	27	1	27.00	
GALENA HIGH SCHOOL	AP ENG LANG S1	89	3	29.67	
GALENA HIGH SCHOOL	AP ENG LIT S1	99	3	33.00	
GALENA HIGH SCHOOL	AP ENVIRON SCI S1	72	2	36.00	
GALENA HIGH SCHOOL	AP EUROP HIST S1	18	1	18.00	
GALENA HIGH SCHOOL	AP FRENCH LANGUAGE	20	1	20.00	
GALENA HIGH SCHOOL	AP HUMAN GEOG S1	138	4	34.50	
GALENA HIGH SCHOOL	AP PSYCHOLOGY S1	122	4	30.50	
GALENA HIGH SCHOOL	AP SPANISH LANGUAGE & CULTURE	74	2	37.00	
GALENA HIGH SCHOOL	AP STATISTICS S1	84	3	28.00	
GALENA HIGH SCHOOL	AP STUDIO ART: DRAWING	11	1	11.00	
GALENA HIGH SCHOOL	AP US GOVT & POL S1	61	2	30.50	
GALENA HIGH SCHOOL	AP US HISTORY S1	108	4	27.00	
GALENA HIGH SCHOOL	BBALL COND	46	1	46.00	
GALENA HIGH SCHOOL	BEG GUITAR	31	2	15.50	
GALENA HIGH SCHOOL	BIOLOGY 1 (H)	180	11	16.36	
GALENA HIGH SCHOOL	CERAMICS 1	17	1	17.00	
GALENA HIGH SCHOOL	CHAMBER ORCH	18	1	18.00	
GALENA HIGH SCHOOL	CHEMISTRY 1 (H)	260	8	32.50	
GALENA HIGH SCHOOL	COMPUTER SCIENCE & APPS	149	5	29.80	
GALENA HIGH SCHOOL	CONCERT CHOIR	18		18.00	
			1		
GALENA HIGH SCHOOL	CONCERT ORCH	18	1	18.00	
GALENA HIGH SCHOOL GALENA HIGH SCHOOL	CONSTITECT III (II)	58	2	29.00	
CALENA HIGH SCHUU	CONST TECH III (H)	11	1	11.00	

School	Class	Enrollment	# of Classes	Class Size
GALENA HIGH SCHOOL	DRAWING 1	23	1	23.00
GALENA HIGH SCHOOL	EARLY COLLEGE MATH 095	33	1	33.00
GALENA HIGH SCHOOL	EARTH SCIENCE 1	124	4	31.00
GALENA HIGH SCHOOL	ENGLISH 1 (H)	181	5	36.20
GALENA HIGH SCHOOL	ENGLISH 3	124	4	31.00
GALENA HIGH SCHOOL	ENGLISH 3 (H)	204	6	34.00
GALENA HIGH SCHOOL	ENGLISH 5	272	8	34.00
GALENA HIGH SCHOOL	ENGLISH 7	192	6	32.00
GALENA HIGH SCHOOL	FITNESS/WT TRNG	139	4	34.75
GALENA HIGH SCHOOL	FNDTNS IN ART	226	6	37.67
GALENA HIGH SCHOOL	FOODS I	77	3	25.67
GALENA HIGH SCHOOL	FOODS II (H)	16	1	16.00
GALENA HIGH SCHOOL	FRENCH 1	78	3	26.00
GALENA HIGH SCHOOL	FRENCH 3	29	1	29.00
GALENA HIGH SCHOOL	FRENCH 5 (H)	19	1	19.00
GALENA HIGH SCHOOL	FRESHMAN SEMINAR	220	8	27.50
GALENA HIGH SCHOOL	FRML GEO 1 (H)	101	3	33.67
GALENA HIGH SCHOOL	GEOMETRY 1	246	8	30.75
GALENA HIGH SCHOOL	HEALTH	211	6	35.17
GALENA HIGH SCHOOL	HSROTC ADV LDR (H)	11	1	11.00
GALENA HIGH SCHOOL	HSROTC I	76	5	15.20
GALENA HIGH SCHOOL	HUM ANT/PHS 1 (H)	109	3	36.33
GALENA HIGH SCHOOL	HUMAN DEVLOP I	33	2	16.50
GALENA HIGH SCHOOL	INTRO TO DARKROOM PHOTO	71	2	35.50
GALENA HIGH SCHOOL	JAZZ BAND	11	1	11.00
GALENA HIGH SCHOOL	JOURNALISM	18	1	18.00
GALENA HIGH SCHOOL	MARCH/SYMP BAND	66	2	33.00
GALENA HIGH SCHOOL	METALWRKG I	50	4	12.50
GALENA HIGH SCHOOL	METALWRKG II (H)	21	2	10.50
GALENA HIGH SCHOOL	METALWRKG III (H)	11	1	11.00
GALENA HIGH SCHOOL	MICROBIO 1 (H)	138	4	34.50
GALENA HIGH SCHOOL	OFF CAMPUS 1	86	1	86.00
GALENA HIGH SCHOOL	OFF CAMPUS 3	40	1	40.00
GALENA HIGH SCHOOL	OFF CAMPUS 4	67	1	67.00
GALENA HIGH SCHOOL	OFF CAMPUS 6	71	1	71.00
GALENA HIGH SCHOOL	OFF CAMPUS 7	199	1	199.00
GALENA HIGH SCHOOL	PE 10-11-12	102	3	34.00
GALENA HIGH SCHOOL	PE 9-10	206	5	41.20
GALENA HIGH SCHOOL	PE OPTIONS	14	1	14.00
GALENA HIGH SCHOOL	PHYSICAL SCI 1	130	5	26.00
GALENA HIGH SCHOOL	PHYSICS 1 (H)	25	1	25.00
GALENA HIGH SCHOOL	PLTW AEROSPACE ENG (H)	58	2	29.00
GALENA HIGH SCHOOL	PLTW ENG DESG	84	3	28.00
GALENA HIGH SCHOOL	PLTW ENG DESG DEV	52	2	26.00
GALENA HIGH SCHOOL	PLTW PRIN ENG (H)	63	3	21.00
GALENA HIGH SCHOOL	PRE-CALC W/TRIG (H) S1	214	6	35.67
GALENA HIGH SCHOOL	PRE-COLLEGE MATH	107	3	35.67
GALENA HIGH SCHOOL	PREP FOR AP	184	6	30.67
GALENA HIGH SCHOOL	SINFONIA ORCH	16	1	16.00
GALENA HIGH SCHOOL	SPANISH 1	161	5	32.20
GALENA HIGH SCHOOL	SPANISH 3	137	4	34.25
GALENA HIGH SCHOOL	SPANISH 5 (H)	111	4	27.75
GALENA HIGH SCHOOL	SPANISH 9-10 (H)	15	1	15.00
GALENA HIGH SCHOOL	SPANISH LITERACY 3	40	2	20.00

School	Class	Enrollment	# of Classes	Class Size
GALENA HIGH SCHOOL	SPANISH LITERACY 5 (H)	33	1	33.00
GALENA HIGH SCHOOL	SPTS MED/COND	27	1	27.00
GALENA HIGH SCHOOL	STAGE CREW	30	1	30.00
GALENA HIGH SCHOOL	STUDENT LEADERSHIP	46	1	46.00
GALENA HIGH SCHOOL	US HISTORY 1	253	8	31.63
GALENA HIGH SCHOOL	WEB DESG DEV I	17	1	17.00
GALENA HIGH SCHOOL	WORLD HISTORY 1	192	6	32.00
GALENA HIGH SCHOOL	YEARBOOK	24	1	24.00
INCLINE HIGH SCHOOL	ACADEMIC SUCCESS	81	6	13.50
INCLINE HIGH SCHOOL	ADV ALGEBRA 3 S1	21	2	10.50
INCLINE HIGH SCHOOL	ALGEBRA 2 S1	32	2	16.00
INCLINE HIGH SCHOOL	ALGEBRA 2 S1 (H)	41	2	20.50
INCLINE HIGH SCHOOL	AMER GOVT 1	36	2	18.00
INCLINE HIGH SCHOOL	AP ENG LANG S1	18	1	18.00
INCLINE HIGH SCHOOL	AP ENVIRON SCI S1	17	1	17.00
INCLINE HIGH SCHOOL	AP HUMAN GEOG S1	38	2	19.00
	AP PHYSICS 1		1	20.00
INCLINE HIGH SCHOOL INCLINE HIGH SCHOOL	AP PHYSICS 1 AP SEMINAR	20 22	2	11.00
	-			
INCLINE HIGH SCHOOL	AP SPANISH LANGUAGE & CULTURE	12	1	12.00
INCLINE HIGH SCHOOL	AP US GOVT & POL S1	13	1	13.00
INCLINE HIGH SCHOOL	AP US HISTORY S1	11	1	11.00
INCLINE HIGH SCHOOL	ART 1	32	2	16.00
INCLINE HIGH SCHOOL	ART 3	22	2	11.00
INCLINE HIGH SCHOOL	BIOLOGY 1 (H)	30	1	30.00
INCLINE HIGH SCHOOL	CERAMICS 1	20	1	20.00
INCLINE HIGH SCHOOL	CHEMISTRY 1 (H)	55	2	27.50
INCLINE HIGH SCHOOL	COMPUTER SCIENCE & APPS	23	2	11.50
INCLINE HIGH SCHOOL	COND/WGHT TRNG	40	2	20.00
INCLINE HIGH SCHOOL	EARTH SCIENCE 1	37	2	18.50
INCLINE HIGH SCHOOL	ENGLISH 1 (H)	42	2	21.00
INCLINE HIGH SCHOOL	ENGLISH 3	45	2	22.50
INCLINE HIGH SCHOOL	ENGLISH 3 (H)	34	2	17.00
INCLINE HIGH SCHOOL	ENGLISH 5	63	3	21.00
INCLINE HIGH SCHOOL	ENGLISH 7	44	2	22.00
INCLINE HIGH SCHOOL	ENGLISH SUPPORT	42		10.50
INCLINE HIGH SCHOOL	FOODS I	30	4	
			2	15.00
INCLINE HIGH SCHOOL	FRENCH 1	12	1	12.00
INCLINE HIGH SCHOOL	FRESHMAN SEMINAR	52	3	17.33
INCLINE HIGH SCHOOL	FRML GEO 1 (H)	82	4	20.50
INCLINE HIGH SCHOOL	HEALTH	23	2	11.50
INCLINE HIGH SCHOOL	JAZZ BAND	13	1	13.00
INCLINE HIGH SCHOOL	PE	67	3	22.33
INCLINE HIGH SCHOOL	PHYSICAL SCI 1	47	2	23.50
INCLINE HIGH SCHOOL	PRE-CALC W/TRIG (H) S1	36	2	18.00
INCLINE HIGH SCHOOL	SPANISH 1	15	1	15.00
INCLINE HIGH SCHOOL	SPANISH 3	31	2	15.50
INCLINE HIGH SCHOOL	SPANISH 5 (H)	21	1	21.00
INCLINE HIGH SCHOOL	SPANISH LITERACY 3	13	1	13.00
INCLINE HIGH SCHOOL	STUDENT LEADERSHIP	23	1	23.00
INCLINE HIGH SCHOOL	US HISTORY 1	71	3	23.67
INCLINE HIGH SCHOOL	WELDING TECH I	15	1	15.00
INCLINE HIGH SCHOOL	WORLD GEOG 1	46	2	23.00
INNOVATIONS HIGH SCHOOL	AMER GOVT 1	21	2	10.50
INNOVATIONS HIGH SCHOOL	ENGLISH 4	13	1	13.00

School	Class	Enrollment	# of Classes	Class Size
INNOVATIONS HIGH SCHOOL	ENGLISH 6	25	2	12.50
INNOVATIONS HIGH SCHOOL	ENGLISH 7	15	1	15.00
INNOVATIONS HIGH SCHOOL	GEOMETRY 1	23	2	11.50
INNOVATIONS HIGH SCHOOL	GEOMETRY 2	13	1	13.00
INNOVATIONS HIGH SCHOOL	LIFETIME FIT/YOGA	11	1	11.00
INNOVATIONS HIGH SCHOOL	MUSIC APPREC	13	1	13.00
INNOVATIONS HIGH SCHOOL	US HISTORY 1	11	1	11.00
INNOVATIONS HIGH SCHOOL	WORLD HISTORY 1	38	3	12.67
NORTH VALLEYS HIGH SCHOOL	ACADEM SUCCESS	46	2	23.00
NORTH VALLEYS HIGH SCHOOL	ADV ALGEBRA 3 S1	22	1	22.00
NORTH VALLEYS HIGH SCHOOL	ADV CHOIR	14	1	14.00
NORTH VALLEYS HIGH SCHOOL	AG MECH TECH I	87	3	29.00
NORTH VALLEYS HIGH SCHOOL	AG MECH TECH II (H)	25	1	25.00
NORTH VALLEYS HIGH SCHOOL	AG SCIENCE I	36	1	36.00
NORTH VALLEYS HIGH SCHOOL	ALGEBRA 2 S1	329	10	32.90
NORTH VALLEYS HIGH SCHOOL	ALGEBRA 2 S1 (H)	88	3	29.33
NORTH VALLEYS HIGH SCHOOL	AMER GOVT 1	351	10	35.10
NORTH VALLEYS HIGH SCHOOL	AP AM GOVT/PPL S1	17	10	17.00
NORTH VALLEYS HIGH SCHOOL	AP BIOLOGY S1	40	1	40.00
NORTH VALLEYS HIGH SCHOOL	AP CALCULUS AB S1	42	2	21.00
NORTH VALLEYS HIGH SCHOOL		29		29.00
	AP COMPLITED SCI PRINCIPLES		1	
NORTH VALLEYS HIGH SCHOOL	AP COMPUTER SCI PRINCIPLES	36	1	36.00
NORTH VALLEYS HIGH SCHOOL	AP ENG LANG S1	95	4	23.75
NORTH VALLEYS HIGH SCHOOL	AP ENG LIT S1	101	3	33.67
NORTH VALLEYS HIGH SCHOOL	AP ENVIRON SCI S1	25	1	25.00
NORTH VALLEYS HIGH SCHOOL	AP EUROP HIST S1	44	2	22.00
NORTH VALLEYS HIGH SCHOOL	AP PHYSICS 1	14	1	14.00
NORTH VALLEYS HIGH SCHOOL	AP PSYCHOLOGY S1	30	1	30.00
NORTH VALLEYS HIGH SCHOOL	AP SPANISH LANGUAGE & CULTURE	28	1	28.00
NORTH VALLEYS HIGH SCHOOL	AP STATISTICS S1	30	1	30.00
NORTH VALLEYS HIGH SCHOOL	AP US GOVT & POL S1	101	3	33.67
NORTH VALLEYS HIGH SCHOOL	AP US HISTORY S1	154	5	30.80
NORTH VALLEYS HIGH SCHOOL	ART 1	164	5	32.80
NORTH VALLEYS HIGH SCHOOL	ART 3	60	2	30.00
NORTH VALLEYS HIGH SCHOOL	ASTRONOMY	146	4	36.50
NORTH VALLEYS HIGH SCHOOL	ATH COND/WT TRN	110	2	55.00
NORTH VALLEYS HIGH SCHOOL	BBALL COND	96	2	48.00
NORTH VALLEYS HIGH SCHOOL	BIOLOGY 1 (H)	133	4	33.25
NORTH VALLEYS HIGH SCHOOL	CADD I	27	1	27.00
NORTH VALLEYS HIGH SCHOOL	CERAMICS 1	123	4	30.75
NORTH VALLEYS HIGH SCHOOL	CERAMICS 3	24	1	24.00
NORTH VALLEYS HIGH SCHOOL	CERAMICS 5 (H)	14	1	14.00
NORTH VALLEYS HIGH SCHOOL	CHAMBER ORCH (H)	29	1	29.00
NORTH VALLEYS HIGH SCHOOL	CHEMISTRY 1 (H)	251	8	31.38
NORTH VALLEYS HIGH SCHOOL	COLLEGE PREP	51	2	25.50
NORTH VALLEYS HIGH SCHOOL	COLOR GUARD	11	1	11.00
NORTH VALLEYS HIGH SCHOOL	COMPUTER SCIENCE & APPS	245	8	30.63
NORTH VALLEYS HIGH SCHOOL	CONCEPTUAL PHYSICS S1	63	2	31.50
NORTH VALLEYS HIGH SCHOOL	CONCERT CHOIR	30	1	30.00
NORTH VALLEYS HIGH SCHOOL	CONCERT ORCH	44	1	44.00
NORTH VALLEYS HIGH SCHOOL	COND/WGHT TRNG	262	6	43.67
NORTH VALLEYS HIGH SCHOOL	CUL ARTS I CULINARY ARTS II (H)	134 29	2	33.50 14.50
NORTH VALLEYS HIGH SCHOOL				

School	Class	Enrollment	# of Classes	Class Size
NORTH VALLEYS HIGH SCHOOL	DIESEL TECH I	118	4	29.50
NORTH VALLEYS HIGH SCHOOL	DRAMA WORKSHOP	19	1	19.00
NORTH VALLEYS HIGH SCHOOL	EARTH SCIENCE 1	260	8	32.50
NORTH VALLEYS HIGH SCHOOL	ENGLISH 1 (H)	137	4	34.25
NORTH VALLEYS HIGH SCHOOL	ENGLISH 3	362	12	30.17
NORTH VALLEYS HIGH SCHOOL	ENGLISH 3 (H)	163	5	32.60
NORTH VALLEYS HIGH SCHOOL	ENGLISH 5	396	11	36.00
NORTH VALLEYS HIGH SCHOOL	ENGLISH 7	333	11	30.27
NORTH VALLEYS HIGH SCHOOL	ENRICH/INTERV	937	44	21.30
NORTH VALLEYS HIGH SCHOOL	ENVIRON SCI 1	64	2	32.00
NORTH VALLEYS HIGH SCHOOL	FILM & ARTS	27	1	27.00
NORTH VALLEYS HIGH SCHOOL	FRENCH 1	66	2	33.00
NORTH VALLEYS HIGH SCHOOL	FRENCH 3	41	1	41.00
NORTH VALLEYS HIGH SCHOOL	FRENCH 5 (H)	22	1	22.00
NORTH VALLEYS HIGH SCHOOL	FRESHMAN SEMINAR	567	20	28.35
NORTH VALLEYS HIGH SCHOOL	FRML GEO 1 (H)	80	3	26.67
NORTH VALLEYS HIGH SCHOOL	GEOMETRY 1	548	17	32.24
NORTH VALLEYS HIGH SCHOOL	HEALTH	205	6	34.17
NORTH VALLEYS HIGH SCHOOL	HSROTC I	96	5	19.20
NORTH VALLEYS HIGH SCHOOL	HSROTC SPECL TMS	13	1	13.00
NORTH VALLEYS HIGH SCHOOL	HUM ANT/PHS 1 (H)	119	4	29.75
NORTH VALLEYS HIGH SCHOOL	INTRO TO YOGA	76	2	38.00
NORTH VALLEYS HIGH SCHOOL	LIFE SPORTS	314	6	52.33
NORTH VALLEYS HIGH SCHOOL	MARCH/SYMP BAND	24	1	24.00
NORTH VALLEYS HIGH SCHOOL	MARCHING BAND (H)	31	1	31.00
NORTH VALLEYS HIGH SCHOOL	PHOTO I	161	5	32.20
NORTH VALLEYS HIGH SCHOOL	PHOTO II (H)	30	2	15.00
NORTH VALLEYS HIGH SCHOOL	PHYSICAL SCI 1	135	4	33.75
NORTH VALLEYS HIGH SCHOOL	PLANT SCI HORT (H)	12	1	12.00
NORTH VALLEYS HIGH SCHOOL	POWER WALKING	148	3	49.33
NORTH VALLEYS HIGH SCHOOL	PRE-CALC W/TRIG (H) S1	77	2	38.50
NORTH VALLEYS HIGH SCHOOL	PRE-COLLEGE MATH	238	7	34.00
NORTH VALLEYS HIGH SCHOOL	PROB/STAT/DM S1	69	2	34.50
NORTH VALLEYS HIGH SCHOOL	SINFONIA ORCH	26	1	26.00
NORTH VALLEYS HIGH SCHOOL	SOCCER & CONDITIONING	78	2	39.00
NORTH VALLEYS HIGH SCHOOL	SPANISH 1	191	6	31.83
NORTH VALLEYS HIGH SCHOOL	SPANISH 3	69	2	34.50
NORTH VALLEYS HIGH SCHOOL	SPANISH 5 (H)	23	1	23.00
NORTH VALLEYS HIGH SCHOOL	SPANISH LITERACY 3	89	3	29.67
NORTH VALLEYS HIGH SCHOOL	SPANISH LITERACY 5 (H)	34	1	34.00
NORTH VALLEYS HIGH SCHOOL	STUDENT LEADERSHIP	47	1	47.00
NORTH VALLEYS HIGH SCHOOL	TEAM SPORTS	45	1	45.00
NORTH VALLEYS HIGH SCHOOL	TECH/PRCSN BAND	11	1	11.00
NORTH VALLEYS HIGH SCHOOL	THEATER 1	65	2	32.50
NORTH VALLEYS HIGH SCHOOL	THEATER 3	12	1	12.00
NORTH VALLEYS HIGH SCHOOL	UKULELE 1	30	1	30.00
NORTH VALLEYS HIGH SCHOOL	US HISTORY 1	360	11	32.73
NORTH VALLEYS HIGH SCHOOL	VOLLEYBALL	55	1	55.00
NORTH VALLEYS HIGH SCHOOL	WORLD GEOG 1 (H)	137	4	34.25
NORTH VALLEYS HIGH SCHOOL	WORLD HIST 1 (H)	119	4	29.75
NORTH VALLEYS HIGH SCHOOL	WORLD HISTORY 1	384	12	32.00
NORTH VALLEYS HIGH SCHOOL	YEARBOOK	18	1	18.00
PROCTER R. HUG HIGH SCHOOL	ACAP/JAZZ CHOIR (H)	16	1	16.00
PROCTER R. HUG HIGH SCHOOL	ACCEL ENG 1/ AP LIT S1	19	1	19.00

School	Class	Enrollment	# of Classes	Class Size
PROCTER R. HUG HIGH SCHOOL	ACCEL ENG 3/ AP LANG S1	74	5	14.80
PROCTER R. HUG HIGH SCHOOL	ACCEL ENG 5/AP SEM S1	61	3	20.33
PROCTER R. HUG HIGH SCHOOL	ACCEL ENG 7/AP RES S1	51	3	17.00
PROCTER R. HUG HIGH SCHOOL	ADV ALGEBRA 3 S1	88	3	29.33
PROCTER R. HUG HIGH SCHOOL	ALGEBRA 2 S1	245	9	27.22
PROCTER R. HUG HIGH SCHOOL	ALGEBRA 2 S1 (H)	103	4	25.75
PROCTER R. HUG HIGH SCHOOL	AMER GOVT 1	247	8	30.88
PROCTER R. HUG HIGH SCHOOL	AP AM GOVT/PPL S1	20	1	20.00
PROCTER R. HUG HIGH SCHOOL	AP BIOLOGY S1	69	3	23.00
PROCTER R. HUG HIGH SCHOOL	AP CALCULUS AB S1	25	2	12.50
PROCTER R. HUG HIGH SCHOOL	AP CHEMISTRY S1	13	1	13.00
PROCTER R. HUG HIGH SCHOOL	AP COMP SCI PRIN	46	2	23.00
PROCTER R. HUG HIGH SCHOOL	AP ENG LANG S1	51	2	25.50
PROCTER R. HUG HIGH SCHOOL	AP ENG LIT S1	45	2	22.50
PROCTER R. HUG HIGH SCHOOL	AP ENVIRON SCI S1	32	2	16.00
PROCTER R. HUG HIGH SCHOOL	AP HUMAN GEOG S1	47	2	23.50
PROCTER R. HUG HIGH SCHOOL	AP PHYSICS 1	28	2	14.00
PROCTER R. HUG HIGH SCHOOL	AP PHYSICS 2	15	1	15.00
PROCTER R. HUG HIGH SCHOOL	AP PSYCHOLOGY S1	25	1	25.00
PROCTER R. HUG HIGH SCHOOL	AP SPANISH LANGUAGE & CULTURE	42	2	21.00
PROCTER R. HUG HIGH SCHOOL	AP SPANISH LITERATURE	13	1	13.00
PROCTER R. HUG HIGH SCHOOL	AP STATISTICS S1	55	2	27.50
PROCTER R. HUG HIGH SCHOOL	AP US GOVT & POL S1	72	4	18.00
PROCTER R. HUG HIGH SCHOOL	AP US HISTORY S1	122	4	30.50
PROCTER R. HUG HIGH SCHOOL	AP WORLD HISTORY S1	78	4	19.50
PROCTER R. HUG HIGH SCHOOL	AF WORLD HISTORY 31 ART 1	161	5	32.20
		47	3	
PROCTER R. HUG HIGH SCHOOL	ART 3 ASTRONOMY	91		15.67 30.33
PROCTER R. HUG HIGH SCHOOL			3	
PROCTER R. HUG HIGH SCHOOL	ATH COND/WT TRN	45	1	45.00
PROCTER R. HUG HIGH SCHOOL	BAKING I (H)	32	2	16.00
PROCTER R. HUG HIGH SCHOOL	BAKING I L	32	2	16.00
PROCTER R. HUG HIGH SCHOOL	BBALL COND	37	1	37.00
PROCTER R. HUG HIGH SCHOOL	BEG DRAMA	35	2	17.50
PROCTER R. HUG HIGH SCHOOL	BEG GUITAR	20	1	20.00
PROCTER R. HUG HIGH SCHOOL	BIOLOGY 1 (H)	66	2	33.00
PROCTER R. HUG HIGH SCHOOL	CERAMICS 1	107	3	35.67
PROCTER R. HUG HIGH SCHOOL	CERAMICS 3	26	1	26.00
PROCTER R. HUG HIGH SCHOOL	CERAMICS 5 (H)	11	1	11.00
PROCTER R. HUG HIGH SCHOOL	CHAMBER ORCH (H)	13	1	13.00
PROCTER R. HUG HIGH SCHOOL	CHEMISTRY 1	217	7	31.00
PROCTER R. HUG HIGH SCHOOL	CHEMISTRY 1 (H)	102	4	25.50
PROCTER R. HUG HIGH SCHOOL	COMPUTER SCIENCE & APPS	226	7	32.29
PROCTER R. HUG HIGH SCHOOL	CONCERT BAND	25	1	25.00
PROCTER R. HUG HIGH SCHOOL	CONCERT ORCH	31	1	31.00
PROCTER R. HUG HIGH SCHOOL	COND/WGHT TRNG	158	5	31.60
PROCTER R. HUG HIGH SCHOOL	CUL ARTS I	63	2	31.50
PROCTER R. HUG HIGH SCHOOL	DRAWING 1	34	1	34.00
PROCTER R. HUG HIGH SCHOOL	ENGLISH 1 (H)	88	3	29.33
PROCTER R. HUG HIGH SCHOOL	ENGLISH 3	233	8	29.13
PROCTER R. HUG HIGH SCHOOL	ENGLISH 3 (H)	87	3	29.00
PROCTER R. HUG HIGH SCHOOL	ENGLISH 5	176	6	29.33
PROCTER R. HUG HIGH SCHOOL	ENGLISH 5 (H)	60	2	30.00
PROCTER R. HUG HIGH SCHOOL	ENGLISH 7	206	7	29.43
PROCTER R. HUG HIGH SCHOOL	ENVIRON SCI 1	76	3	25.33

School	Class	Enrollment	# of Classes	Class Size
PROCTER R. HUG HIGH SCHOOL	FITNESS/WT TRNG	60	2	30.00
PROCTER R. HUG HIGH SCHOOL	FORENSIC SCI 1	83	3	27.67
PROCTER R. HUG HIGH SCHOOL	FRENCH 1	52	2	26.00
PROCTER R. HUG HIGH SCHOOL	FRENCH 3	35	2	17.50
PROCTER R. HUG HIGH SCHOOL	FRENCH 5 (H)	15	1	15.00
PROCTER R. HUG HIGH SCHOOL	FRESHMAN SEMINAR	436	19	22.95
PROCTER R. HUG HIGH SCHOOL	FRML GEO 1 (H)	58	2	29.00
PROCTER R. HUG HIGH SCHOOL	GEOMETRY 1	370	13	28.46
PROCTER R. HUG HIGH SCHOOL	HEALTH	201	6	33.50
PROCTER R. HUG HIGH SCHOOL	HEALTH SCIENCE I	24	1	24.00
PROCTER R. HUG HIGH SCHOOL	HISTORY THROUGH FILM	20	1	20.00
PROCTER R. HUG HIGH SCHOOL	HUM ANT/PHS 1 (H)	64	2	32.00
PROCTER R. HUG HIGH SCHOOL	HUMAN DEVLOP I	43	2	21.50
PROCTER R. HUG HIGH SCHOOL	HUMAN DEVLOP II (H)	28	2	14.00
PROCTER R. HUG HIGH SCHOOL	HUMAN DEVLOP III (H)	25	1	25.00
PROCTER R. HUG HIGH SCHOOL	INTRO TO YOGA	36	1	36.00
PROCTER R. HUG HIGH SCHOOL	JAZZ BAND (H)	16	1	16.00
PROCTER R. HUG HIGH SCHOOL	JOURNALISM	18	1	18.00
PROCTER R. HUG HIGH SCHOOL	MARIACHI 3	19	1	19.00
PROCTER R. HUG HIGH SCHOOL	MARIACHI 4	21	1	21.00
PROCTER R. HUG HIGH SCHOOL	MEDICAL TERM (H)	32	1	32.00
PROCTER R. HUG HIGH SCHOOL	MIL SCI I	147	12	12.25
PROCTER R. HUG HIGH SCHOOL	MIL SCI II (H)	61	6	10.17
PROCTER R. HUG HIGH SCHOOL	PAINTING 1	37	1	37.00
PROCTER R. HUG HIGH SCHOOL	PE	288	7	41.14
PROCTER R. HUG HIGH SCHOOL	PE 10-11-12	131	3	43.67
PROCTER R. HUG HIGH SCHOOL	PE 9-10	121	3	40.33
PROCTER R. HUG HIGH SCHOOL	РНОТО І	100	3	33.33
PROCTER R. HUG HIGH SCHOOL	PHOTO II (H)	51	2	25.50
PROCTER R. HUG HIGH SCHOOL	PHYSICAL SCI 1	85	3	28.33
PROCTER R. HUG HIGH SCHOOL	PRE-CALC W/TRIG (H) S1	64	2	32.00
PROCTER R. HUG HIGH SCHOOL	PROB/STAT/DM S1	85	4	21.25
PROCTER R. HUG HIGH SCHOOL	PSYCH IN LIT (H)	19	1	19.00
PROCTER R. HUG HIGH SCHOOL	SCULPTURE 1	64	2	32.00
PROCTER R. HUG HIGH SCHOOL	SENIOR SEMINAR	78	2	39.00
PROCTER R. HUG HIGH SCHOOL	SINFONIA ORCH	20	1	20.00
PROCTER R. HUG HIGH SCHOOL	SPANISH 1	58	2	29.00
PROCTER R. HUG HIGH SCHOOL	SPANISH 3	49	3	16.33
PROCTER R. HUG HIGH SCHOOL	SPANISH 5 (H)	17	1	17.00
PROCTER R. HUG HIGH SCHOOL	SPANISH LITERACY 3	133	4	33.25
PROCTER R. HUG HIGH SCHOOL	SPANISH LITERACY 5 (H)	73	3	24.33
PROCTER R. HUG HIGH SCHOOL	SPEECH/DEBATE	23	1	23.00
PROCTER R. HUG HIGH SCHOOL	SPORTS MED I (H)	28	1	28.00
PROCTER R. HUG HIGH SCHOOL	SPORTS MED II (H)	26	1	26.00
PROCTER R. HUG HIGH SCHOOL	STUDENT LEADERSHIP	24	1	24.00
PROCTER R. HUG HIGH SCHOOL	TEAM SPORTS	63	2	31.50
PROCTER R. HUG HIGH SCHOOL	UKULELE 1	30	1	30.00
PROCTER R. HUG HIGH SCHOOL	US HISTORY 1	221	7	31.57
PROCTER R. HUG HIGH SCHOOL	WEB DESG DEV I	23	1	23.00
PROCTER R. HUG HIGH SCHOOL	WIND ENSEMBLE (H)	12	1	12.00
PROCTER R. HUG HIGH SCHOOL	WORLD GEOG 1	83	3	27.67
PROCTER R. HUG HIGH SCHOOL	WORLD HISTORY 1	187	6	31.17
PROCTER R. HUG HIGH SCHOOL	YEARBOOK	26	1	26.00
RENO HIGH SCHOOL	2D 3D MULTIMED 1	31	1	31.00

School	Class	Enrollment	# of Classes	Class Size
RENO HIGH SCHOOL	ADV ALGEBRA 3 S1	33	1	33.00
RENO HIGH SCHOOL	ADV FB COND	63	1	63.00
RENO HIGH SCHOOL	ADV SPCH/DEBATE	32	1	32.00
RENO HIGH SCHOOL	ALGEBRA 2 S1	166	6	27.67
RENO HIGH SCHOOL	ALGEBRA 2 S1 (H)	227	7	32.43
RENO HIGH SCHOOL	ALGEBRA 2 SUPPORT	22	2	11.00
RENO HIGH SCHOOL	AMER GOVT 1	229	8	28.63
RENO HIGH SCHOOL	ANIMATE I	37	1	37.00
RENO HIGH SCHOOL	ANIMATE III (H)	21	2	10.50
RENO HIGH SCHOOL	AP AM GOVT/PPL S1	26	1	26.00
RENO HIGH SCHOOL	AP BIOLOGY S1	33	1	33.00
RENO HIGH SCHOOL	AP CALCULUS AB S1	61	2	30.50
RENO HIGH SCHOOL	AP CHEMISTRY S1	17	1	17.00
RENO HIGH SCHOOL	AP COMP SCI PRIN	28	1	28.00
RENO HIGH SCHOOL	AP ENG LANG S1	105	4	26.25
RENO HIGH SCHOOL	AP ENG LIT S1	49	2	24.50
RENO HIGH SCHOOL	AP ENVIRON SCI S1	43	2	21.50
RENO HIGH SCHOOL	AP EUROP HIST S1	120	4	30.00
RENO HIGH SCHOOL	AP FRENCH LANGUAGE	13	1	13.00
RENO HIGH SCHOOL	AP PHYSICS 1	52	2	26.00
RENO HIGH SCHOOL	AP PHYSICS C: Mech S1	70	2	35.00
RENO HIGH SCHOOL	AP PSYCHOLOGY S1	58	2	29.00
RENO HIGH SCHOOL	AP SPANISH LANGUAGE & CULTURE	65	2	32.50
RENO HIGH SCHOOL	AP STATISTICS S1	90	3	30.00
RENO HIGH SCHOOL	AP US GOVT & POL S1	131	4	32.75
RENO HIGH SCHOOL	AP US HISTORY S1	141	5	28.20
RENO HIGH SCHOOL	ART 1	243	8	30.38
RENO HIGH SCHOOL	ART 3	53	2	26.50
RENO HIGH SCHOOL	BIOLOGY 1 (H)	104	3	34.67
RENO HIGH SCHOOL	BOYS CROSS-COUNTRY	30	1	30.00
RENO HIGH SCHOOL	BOYS SOCCER - JUNIOR VARSITY	21	1	21.00
RENO HIGH SCHOOL	CHAMBER ORCH	17	1	17.00
RENO HIGH SCHOOL	CHEERLEADING - JUNIOR VARSITY	16	1	16.00
RENO HIGH SCHOOL	CHEERLEADING - VARSITY	19	1	19.00
RENO HIGH SCHOOL	CHEM LAB (H)	17	1	17.00
RENO HIGH SCHOOL	CHEMISTRY 1	194	6	32.33
RENO HIGH SCHOOL	CHEMISTRY 1 (H)	126	4	31.50
RENO HIGH SCHOOL	CHORALE	28	1	28.00
RENO HIGH SCHOOL	COMPUTER SCI II (H)	26	2	13.00
RENO HIGH SCHOOL	COMPUTER SCIENCE & APPS	88	3	29.33
RENO HIGH SCHOOL	CONCERT BAND	48	1	48.00
RENO HIGH SCHOOL	CONCERT BAND	26		26.00
	COND/WGHT TRNG		1	
RENO HIGH SCHOOL	·	301	6	50.17
RENO HIGH SCHOOL	DIGITAL MUSIC	31	1	31.00
RENO HIGH SCHOOL	EARLY COLLEGE MATH 095	46	2	23.00
RENO HIGH SCHOOL	EARLY COLLEGE MATH 096	40	2	20.00
RENO HIGH SCHOOL	EARTH SCI 1 (H)	91	3	30.33
RENO HIGH SCHOOL	EARTH SCIENCE 1	54	2	27.00
RENO HIGH SCHOOL	ENGLISH 1 (H)	154	5	30.80
RENO HIGH SCHOOL	ENGLISH 3	292	10	29.20
RENO HIGH SCHOOL	ENGLISH 3 (H)	184	7	26.29
RENO HIGH SCHOOL	ENGLISH 5	253	8	31.63
RENO HIGH SCHOOL	ENGLISH 7	231	8	28.88
RENO HIGH SCHOOL	ENGLISH DUAL CR	22	2	11.00

School	Class	Enrollment	# of Classes	Class Size
RENO HIGH SCHOOL	ENGLISH DUAL CR (H)	45	2	22.50
RENO HIGH SCHOOL	ENVIRON SCI 1	58	2	29.00
RENO HIGH SCHOOL	FITNESS/WT TRNG	54	1	54.00
RENO HIGH SCHOOL	FOOTBALL - FRESHMEN	46	1	46.00
RENO HIGH SCHOOL	FOOTBALL - JUNIOR VARSITY	30	1	30.00
RENO HIGH SCHOOL	FOOTBALL - VARSITY	49	1	49.00
RENO HIGH SCHOOL	FRENCH 1	96	3	32.00
RENO HIGH SCHOOL	FRENCH 3	91	3	30.33
RENO HIGH SCHOOL	FRENCH 5 (H)	24	1	24.00
RENO HIGH SCHOOL	FRESHMAN SEMINAR	485	33	14.70
RENO HIGH SCHOOL	FRML GEO 1 (H)	164	5	32.80
RENO HIGH SCHOOL	GEOMETRY 1	231	8	28.88
RENO HIGH SCHOOL	GIRLS GOLF	17	1	17.00
RENO HIGH SCHOOL	GIRLS SOCCER - JUNIOR VARSITY	21	1	21.00
RENO HIGH SCHOOL	GIRLS SOCCER - VARSITY	22	1	22.00
RENO HIGH SCHOOL	GIRLS TENNIS	15	1	15.00
RENO HIGH SCHOOL	GRAPHIC DESG I	59	2	29.50
RENO HIGH SCHOOL	GRAPHIC DESG II (H)	33	2	16.50
RENO HIGH SCHOOL	GRAPHIC DESG III (H)	25	2	12.50
RENO HIGH SCHOOL	HEALTH	122	4	30.50
RENO HIGH SCHOOL	HEALTH SCIENCE I	92	3	30.67
RENO HIGH SCHOOL	HSROTC I	74	5	14.80
RENO HIGH SCHOOL	HUM ANT/PHS 1 (H)	55	2	27.50
RENO HIGH SCHOOL	INSTRUCTNL CNTR	169	5	33.80
RENO HIGH SCHOOL	INTRO DIGITAL PHOTOGRAPHY & AD	56	2	28.00
RENO HIGH SCHOOL	JAG ELECTIVE G10 S1	20	1	20.00
RENO HIGH SCHOOL	JAG ELECTIVE G10 31	22	1	22.00
RENO HIGH SCHOOL	JAG ELECTIVE G12 S1	18	1	18.00
RENO HIGH SCHOOL	JAZZ BAND	20	1	20.00
RENO HIGH SCHOOL	JOB EXP	27	1	27.00
RENO HIGH SCHOOL	JOURNALISM	17	1	17.00
RENO HIGH SCHOOL	LIFETIME FIT/YOGA	119	3	39.67
RENO HIGH SCHOOL	MADRIGAL SNGRS	22	1	22.00
RENO HIGH SCHOOL				12.00
	MASTERY ENGLISH 6	12	1	
RENO HIGH SCHOOL	MECHANICAL P&D	46	2	23.00
RENO HIGH SCHOOL	MIXED CHOIR	44	1	44.00
RENO HIGH SCHOOL	MUSIC APPREC	30	1	30.00
RENO HIGH SCHOOL	OFF CAMPUS 1	28	1	28.00
RENO HIGH SCHOOL	OFF CAMPUS 3	29	1	29.00
RENO HIGH SCHOOL	OFF CAMPUS 5	38	1	38.00
RENO HIGH SCHOOL	OFF CAMPUS 6	117	1	117.00
RENO HIGH SCHOOL	OFF CAMPUS 7	174	1	174.00
RENO HIGH SCHOOL	PAC RIM/DEV NTN	30	1	30.00
RENO HIGH SCHOOL	PE	338	8	42.25
RENO HIGH SCHOOL	PHYSICAL SCI 1	180	6	30.00
RENO HIGH SCHOOL	PLTW CIVIL ENG	18	1	18.00
RENO HIGH SCHOOL	PLTW ENG DESG	23	1	23.00
RENO HIGH SCHOOL	PLTW PRIN ENG (H)	26	1	26.00
RENO HIGH SCHOOL	POWER WALKING	41	1	41.00
RENO HIGH SCHOOL	PRE-CALC W/TRIG (H) S1	185	6	30.83
RENO HIGH SCHOOL	PROB/STAT/DM S1	34	1	34.00
RENO HIGH SCHOOL	PSYCHOLOGY 1	62	2	31.00
RENO HIGH SCHOOL	RHP	260	1	260.00
RENO HIGH SCHOOL	SENIOR SEMINAR	62	3	20.67

School	Class	Enrollment	# of Classes	Class Size
RENO HIGH SCHOOL	SINFONIA ORCH	18	1	18.00
RENO HIGH SCHOOL	SPANISH 1	187	6	31.17
RENO HIGH SCHOOL	SPANISH 3	207	7	29.57
RENO HIGH SCHOOL	SPANISH 5 (H)	83	3	27.67
RENO HIGH SCHOOL	SPEECH/DEBATE	33	1	33.00
RENO HIGH SCHOOL	SPORTS MED I (H)	63	2	31.50
RENO HIGH SCHOOL	SPORTS MED II (H)	42	2	21.00
RENO HIGH SCHOOL	STUDENT LEADERSHIP	35	1	35.00
RENO HIGH SCHOOL	TECH THEATER	12	1	12.00
RENO HIGH SCHOOL	THEATER 1	30	1	30.00
RENO HIGH SCHOOL	US HISTORY 1	224	8	28.00
RENO HIGH SCHOOL	VIDEO PROD I	31	1	31.00
RENO HIGH SCHOOL	VIDEO PROD II (H)	24	1	24.00
RENO HIGH SCHOOL	VIDEO PROD III (H)	25	2	12.50
RENO HIGH SCHOOL	VOLLEYBALL - FRESHMEN	11	1	11.00
RENO HIGH SCHOOL	VOLLEYBALL - VARSITY	11	1	11.00
RENO HIGH SCHOOL	WIND ENSEMBLE	44	1	44.00
RENO HIGH SCHOOL	WORLD HIST 1 (H)	102	3	34.00
RENO HIGH SCHOOL	WORLD HISTORY 1	253	9	28.11
RENO HIGH SCHOOL	YEARBOOK	23	1	23.00
ROBERT MCQUEEN HIGH SCHOOL	ACAP/JAZZ CHOIR	49	1	49.00
ROBERT MCQUEEN HIGH SCHOOL	ADV DRAMA	21	1	21.00
ROBERT MCQUEEN HIGH SCHOOL	ADV GUITAR	11	1	11.00
ROBERT MCQUEEN HIGH SCHOOL	ALGEBRA 2 S1	208	8	26.00
ROBERT MCQUEEN HIGH SCHOOL	ALGEBRA 2 S1 (H)	139	4	34.75
ROBERT MCQUEEN HIGH SCHOOL	AM GOVT/PPL 1 (H)	21	1	21.00
ROBERT MCQUEEN HIGH SCHOOL	AMER GOVT 1	221	7	31.57
ROBERT MCQUEEN HIGH SCHOOL	AP BIOLOGY S1	43	2	21.50
ROBERT MCQUEEN HIGH SCHOOL	AP CALCULUS AB S1	44	2	22.00
ROBERT MCQUEEN HIGH SCHOOL	AP CHEMISTRY S1	22	1	22.00
ROBERT MCQUEEN HIGH SCHOOL	AP COMP SCI PRIN	98	3	32.67
ROBERT MCQUEEN HIGH SCHOOL	AP COMPUTER SCI A	22	1	22.00
ROBERT MCQUEEN HIGH SCHOOL	AP ENG LANG S1	46	2	23.00
ROBERT MCQUEEN HIGH SCHOOL	AP ENG LIT S1	84	3	28.00
ROBERT MCQUEEN HIGH SCHOOL	AP ENVIRON SCI S1	13	1	13.00
ROBERT MCQUEEN HIGH SCHOOL	AP FRENCH LANGUAGE	12	1	12.00
ROBERT MCQUEEN HIGH SCHOOL	AP GERMAN LANGUAGE & CULTURE	31	1	31.00
ROBERT MCQUEEN HIGH SCHOOL	AP HUMAN GEOG S1	45	2	22.50
ROBERT MCQUEEN HIGH SCHOOL	AP MUSIC THEORY	20	1	20.00
ROBERT MCQUEEN HIGH SCHOOL	AP PHYSICS 1	50	2	25.00
ROBERT MCQUEEN HIGH SCHOOL	AP PSYCHOLOGY S1	62	2	31.00
ROBERT MCQUEEN HIGH SCHOOL	AP SPANISH LANGUAGE & CULTURE	91	3	30.33
ROBERT MCQUEEN HIGH SCHOOL	AP SPANISH LITERATURE	17	1	17.00
ROBERT MCQUEEN HIGH SCHOOL	AP STATISTICS S1	39	2	19.50
ROBERT MCQUEEN HIGH SCHOOL	AP US GOVT & POL S1	132	4	33.00
ROBERT MCQUEEN HIGH SCHOOL	AP US HISTORY S1	137	5	27.40
ROBERT MCQUEEN HIGH SCHOOL	AP WORLD HISTORY S1	91	3	30.33
ROBERT MCQUEEN HIGH SCHOOL	ART 1	99	3	33.00
ROBERT MCQUEEN HIGH SCHOOL	ART 3	46	2	23.00
ROBERT MCQUEEN HIGH SCHOOL	ATH COND/WT TRN	200	5	40.00
ROBERT MCQUEEN HIGH SCHOOL	AUTO TECH I	92	3	30.67
ROBERT MCQUEEN HIGH SCHOOL	BAKING I (H)	14	1	14.00
ROBERT MCQUEEN HIGH SCHOOL	BBALL COND	83	2	41.50
ROBERT MCQUEEN HIGH SCHOOL	BEG GUITAR	39	1	39.00

School	Class	Enrollment	# of Classes	Class Size
ROBERT MCQUEEN HIGH SCHOOL	BIOLOGY 1 (H)	167	5	33.40
ROBERT MCQUEEN HIGH SCHOOL	CERAMICS 1	65	2	32.50
ROBERT MCQUEEN HIGH SCHOOL	CERAMICS 3	40	2	20.00
ROBERT MCQUEEN HIGH SCHOOL	CERAMICS 5 (H)	13	1	13.00
ROBERT MCQUEEN HIGH SCHOOL	CHAMBER ORCH	20	1	20.00
ROBERT MCQUEEN HIGH SCHOOL	CHEM LAB (H)	21	1	21.00
ROBERT MCQUEEN HIGH SCHOOL	CHEMISTRY 1	165	6	27.50
ROBERT MCQUEEN HIGH SCHOOL	CHEMISTRY 1 (H)	155	6	25.83
ROBERT MCQUEEN HIGH SCHOOL	CHINESE 3	16	1	16.00
ROBERT MCQUEEN HIGH SCHOOL	COMPUTER SCI II (H)	51	2	25.50
ROBERT MCQUEEN HIGH SCHOOL	COMPUTER SCIENCE & APPS	186	6	31.00
ROBERT MCQUEEN HIGH SCHOOL	CONCERT BAND	28	1	28.00
ROBERT MCQUEEN HIGH SCHOOL	CONCERT CHOIR	20	1	20.00
ROBERT MCQUEEN HIGH SCHOOL	CONCERT ORCH	49	2	24.50
ROBERT MCQUEEN HIGH SCHOOL	COND/WGHT TRNG	124	3	41.33
ROBERT MCQUEEN HIGH SCHOOL	CUL ARTS I	67	2	33.50
ROBERT MCQUEEN HIGH SCHOOL	CULINARY ARTS II (H)	61	2	30.50
ROBERT MCQUEEN HIGH SCHOOL	CULINARY ARTS III (H)	29	1	29.00
ROBERT MCQUEEN HIGH SCHOOL	DRAMA 1	47	1	47.00
ROBERT MCQUEEN HIGH SCHOOL	DRAMA 3	17	1	17.00
ROBERT MCQUEEN HIGH SCHOOL	EARLY COLLEGE MATH 095	74	3	24.67
ROBERT MCQUEEN HIGH SCHOOL	EARTH SCIENCE 1	53	2	26.50
ROBERT MCQUEEN HIGH SCHOOL	ENGINEER YOUR WORLD	117	4	29.25
•		117	4	29.25
ROBERT MCQUEEN HIGH SCHOOL	ENGLISH 1 (H)			
ROBERT MCQUEEN HIGH SCHOOL	ENGLISH 3	223	7	31.86
ROBERT MCQUEEN HIGH SCHOOL	ENGLISH 3 (H)	178	6	29.67
ROBERT MCQUEEN HIGH SCHOOL	ENGLISH 5	302	11	27.45
ROBERT MCQUEEN HIGH SCHOOL	ENGLISH 7	286	9	31.78
ROBERT MCQUEEN HIGH SCHOOL	ENVIRON SCI 1	61	2	30.50
ROBERT MCQUEEN HIGH SCHOOL	FORENSIC SCI 1	49	2	24.50
ROBERT MCQUEEN HIGH SCHOOL	FRENCH 1	46	2	23.00
ROBERT MCQUEEN HIGH SCHOOL	FRENCH 3	27	1	27.00
ROBERT MCQUEEN HIGH SCHOOL	FRENCH 5 (H)	22	1	22.00
ROBERT MCQUEEN HIGH SCHOOL	FRESHMAN SEMINAR	396	13	30.46
ROBERT MCQUEEN HIGH SCHOOL	FRML GEO 1 (H)	136	4	34.00
ROBERT MCQUEEN HIGH SCHOOL	GEOMETRY 1	311	11	28.27
ROBERT MCQUEEN HIGH SCHOOL	GERMAN 1	54	2	27.00
ROBERT MCQUEEN HIGH SCHOOL	GERMAN 3	57	2	28.50
ROBERT MCQUEEN HIGH SCHOOL	GERMAN 5 (H)	38	2	19.00
ROBERT MCQUEEN HIGH SCHOOL	HEALTH	170	5	34.00
ROBERT MCQUEEN HIGH SCHOOL	HSROTC ADV LDR (H)	12	1	12.00
ROBERT MCQUEEN HIGH SCHOOL	HUM ANT/PHS 1 (H)	173	6	28.83
ROBERT MCQUEEN HIGH SCHOOL	HUMAN DEVLOP AS	18	1	18.00
ROBERT MCQUEEN HIGH SCHOOL	HUMAN DEVLOP I	109	3	36.33
ROBERT MCQUEEN HIGH SCHOOL	HUMAN DEVLOP II (H)	34	1	34.00
ROBERT MCQUEEN HIGH SCHOOL	HUMAN DEVLOP III (H)	33	1	33.00
ROBERT MCQUEEN HIGH SCHOOL	INTRO TO YOGA	95	2	47.50
ROBERT MCQUEEN HIGH SCHOOL	JAG ELECTIVE G10 S1	31	2	15.50
ROBERT MCQUEEN HIGH SCHOOL	JAG ELECTIVE G11 S1	33	2	16.50
ROBERT MCQUEEN HIGH SCHOOL	JAG ELECTIVE G12 S1	36	2	18.00
ROBERT MCQUEEN HIGH SCHOOL	JAZZ BAND	20	1	20.00
ROBERT MCQUEEN HIGH SCHOOL	JOB EXP	26	1	26.00
ROBERT MCQUEEN HIGH SCHOOL	MANUF TECH I	79	3	26.33
ROBERT MCQUEEN HIGH SCHOOL	MEDIA PRODCTN	22	1	22.00

School	Class	Enrollment	# of Classes	Class Size
ROBERT MCQUEEN HIGH SCHOOL	PE	134	3	44.67
ROBERT MCQUEEN HIGH SCHOOL	PE 10-11-12	154	3	51.33
ROBERT MCQUEEN HIGH SCHOOL	PERCUS ENSEMBLE	16	1	16.00
ROBERT MCQUEEN HIGH SCHOOL	PHYSICAL SCI 1	93	3	31.00
ROBERT MCQUEEN HIGH SCHOOL	PRE-CALC W/TRIG (H) S1	112	4	28.00
ROBERT MCQUEEN HIGH SCHOOL	PRE-COLLEGE MATH	100	4	25.00
ROBERT MCQUEEN HIGH SCHOOL	PROB/STAT/DM S1	47	2	23.50
ROBERT MCQUEEN HIGH SCHOOL	PWR SPINNING	38	1	38.00
ROBERT MCQUEEN HIGH SCHOOL	READ FOR PLSURE	84	2	42.00
ROBERT MCQUEEN HIGH SCHOOL	SINFONIA ORCH	51	1	51.00
ROBERT MCQUEEN HIGH SCHOOL	SPANISH 1	105	3	35.00
ROBERT MCQUEEN HIGH SCHOOL	SPANISH 3	172	5	34.40
ROBERT MCQUEEN HIGH SCHOOL	SPANISH 5 (H)	116	4	29.00
ROBERT MCQUEEN HIGH SCHOOL	SPANISH LITERACY 3	36	2	18.00
ROBERT MCQUEEN HIGH SCHOOL	SPANISH LITERACY 5 (H)	12	1	12.00
ROBERT MCQUEEN HIGH SCHOOL	SPEECH/DEBATE	30	1	30.00
ROBERT MCQUEEN HIGH SCHOOL	STUDENT LEADERSHIP	32	1	32.00
ROBERT MCQUEEN HIGH SCHOOL	TECH THEATER	13	1	13.00
ROBERT MCQUEEN HIGH SCHOOL	US HISTORY 1	283	9	31.44
ROBERT MCQUEEN HIGH SCHOOL	WIND ENSEMBLE	41	1	41.00
ROBERT MCQUEEN HIGH SCHOOL	WOMEN'S CHORUS	25	1	25.00
ROBERT MCQUEEN HIGH SCHOOL	WORLD GEOG 1	122	4	30.50
ROBERT MCQUEEN HIGH SCHOOL	WORLD GEOG 1 (H)	26	1	26.00
ROBERT MCQUEEN HIGH SCHOOL	WORLD HISTORY 1	215	7	30.71
ROBERT MCQUEEN HIGH SCHOOL	YEARBOOK	14	1	14.00
SPANISH SPRINGS HIGH SCHOOL	ADV BBALL COND	46	1	46.00
SPANISH SPRINGS HIGH SCHOOL	ADV CHOIR	28	1	28.00
SPANISH SPRINGS HIGH SCHOOL	ADV DRAMA	11	1	11.00
SPANISH SPRINGS HIGH SCHOOL	ALGEBRA 1 SUPPORT	22	1	22.00
SPANISH SPRINGS HIGH SCHOOL	ALGEBRA 2 S1	478	16	29.88
SPANISH SPRINGS HIGH SCHOOL	ALGEBRA 2 S1 (H)	103	3	34.33
SPANISH SPRINGS HIGH SCHOOL	ALGEBRA 2 SUPPORT	26	1	26.00
SPANISH SPRINGS HIGH SCHOOL	AMER GOVT 1	433	13	33.31
SPANISH SPRINGS HIGH SCHOOL	ANIMATE I	63	2	31.50
SPANISH SPRINGS HIGH SCHOOL	ANIMATE II (H)	31	1	31.00
SPANISH SPRINGS HIGH SCHOOL	ANIMATE III (H)	21	1	21.00
SPANISH SPRINGS HIGH SCHOOL	AP BIOLOGY S1	93	3	31.00
SPANISH SPRINGS HIGH SCHOOL	AP CALCULUS AB S1	59	2	29.50
SPANISH SPRINGS HIGH SCHOOL	AP CHEMISTRY S1	20	1	20.00
SPANISH SPRINGS HIGH SCHOOL	AP ENG LANG S1	87	3	29.00
SPANISH SPRINGS HIGH SCHOOL	AP ENG LIT S1	20	1	20.00
SPANISH SPRINGS HIGH SCHOOL	AP ENVIRON SCI S1	30	1	30.00
SPANISH SPRINGS HIGH SCHOOL	AP EUROP HIST S1	22	1	22.00
SPANISH SPRINGS HIGH SCHOOL	AP HUMAN GEOG S1	92	3	30.67
SPANISH SPRINGS HIGH SCHOOL	AP PSYCHOLOGY S1	35	1	35.00
SPANISH SPRINGS HIGH SCHOOL	AP SPANISH LANGUAGE & CULTURE	69	3	23.00
SPANISH SPRINGS HIGH SCHOOL	AP US GOVT & POL S1	136	4	34.00
SPANISH SPRINGS HIGH SCHOOL	AP US HISTORY S1	65	2	32.50
SPANISH SPRINGS HIGH SCHOOL	ART 1	286	9	31.78
SPANISH SPRINGS HIGH SCHOOL	ATH COND/WT TRN	274	6	45.67
SPANISH SPRINGS HIGH SCHOOL	AUTO TECH I	89	3	29.67
SPANISH SPRINGS HIGH SCHOOL	AUTO TECH II (H)	39	2	19.50
SPANISH SPRINGS HIGH SCHOOL	AUTO TECH III (H)	15	1	15.00
SPANISH SPRINGS HIGH SCHOOL	BBALL COND	54	1	54.00

School	Class	Enrollment	# of Classes	Class Size
SPANISH SPRINGS HIGH SCHOOL	BEG GUITAR	40	2	20.00
SPANISH SPRINGS HIGH SCHOOL	CERAMICS 1	47	2	23.50
SPANISH SPRINGS HIGH SCHOOL	CERAMICS 3	11	1	11.00
SPANISH SPRINGS HIGH SCHOOL	CHAMBER ORCH (H)	11	1	11.00
SPANISH SPRINGS HIGH SCHOOL	CHEMISTRY 1 (H)	321	11	29.18
SPANISH SPRINGS HIGH SCHOOL	COMPUTER SCI I	63	2	31.50
SPANISH SPRINGS HIGH SCHOOL	COMPUTER SCI II (H)	27	1	27.00
SPANISH SPRINGS HIGH SCHOOL	COMPUTER SCIENCE & APPS	239	7	34.14
SPANISH SPRINGS HIGH SCHOOL	CONCERT CHOIR	17	1	17.00
SPANISH SPRINGS HIGH SCHOOL	CONCERT ORCH	18	1	18.00
SPANISH SPRINGS HIGH SCHOOL	CYBERSECU I	52	2	26.00
SPANISH SPRINGS HIGH SCHOOL	DRAMA 1	44	1	44.00
SPANISH SPRINGS HIGH SCHOOL	DRAMA 3	17	1	17.00
SPANISH SPRINGS HIGH SCHOOL	DRAWING 1	56	2	28.00
SPANISH SPRINGS HIGH SCHOOL	EARTH SCIENCE 1	160	5	32.00
SPANISH SPRINGS HIGH SCHOOL	ENGLISH 1 (H)	102	3	34.00
SPANISH SPRINGS HIGH SCHOOL	ENGLISH 3	443	13	34.08
SPANISH SPRINGS HIGH SCHOOL	ENGLISH 3 (H)	184	6	30.67
SPANISH SPRINGS HIGH SCHOOL	ENGLISH 5	490	15	32.67
SPANISH SPRINGS HIGH SCHOOL	ENGLISH 7	348	11	31.64
SPANISH SPRINGS HIGH SCHOOL	ENTREPRENEUR I (H)	14	1	14.00
SPANISH SPRINGS HIGH SCHOOL	ENVIRON SCI 1	106	3	35.33
SPANISH SPRINGS HIGH SCHOOL	FASHION CONST I	54	2	27.00
SPANISH SPRINGS HIGH SCHOOL	FASHION CONST II (H)	11	1	11.00
SPANISH SPRINGS HIGH SCHOOL	FB COND/FUNDTLS	42	1	42.00
SPANISH SPRINGS HIGH SCHOOL	FITNESS/WT TRNG	129	3	43.00
SPANISH SPRINGS HIGH SCHOOL	FNDTNS IN ART	26	1	26.00
SPANISH SPRINGS HIGH SCHOOL	FOODS II	100	3	33.33
SPANISH SPRINGS HIGH SCHOOL	FOODS II (H)	59	2	29.50
SPANISH SPRINGS HIGH SCHOOL	FOODS III (H)	47	2	23.50
SPANISH SPRINGS HIGH SCHOOL	FOUNDATIONS PERSONAL FINANCE	96	3	32.00
SPANISH SPRINGS HIGH SCHOOL	FRENCH 1	71 31	2	35.50
SPANISH SPRINGS HIGH SCHOOL	FRENCH 3	348		31.00 26.77
SPANISH SPRINGS HIGH SCHOOL SPANISH SPRINGS HIGH SCHOOL	FRESHMAN SEMINAR FRML GEO 1 (H)	87	13	29.00
	GEOM SUPPORT		3	
SPANISH SPRINGS HIGH SCHOOL SPANISH SPRINGS HIGH SCHOOL	GEOM SUPPORT	18 537	1 18	18.00 29.83
SPANISH SPRINGS HIGH SCHOOL	GRAPHIC DESG I	64	2	32.00
SPANISH SPRINGS HIGH SCHOOL	GRAPHIC DESG II (H)	24	1	24.00
SPANISH SPRINGS HIGH SCHOOL	GRAPHIC DESG II (H) GRAPHIC DESG III (H)	14	1	14.00
SPANISH SPRINGS HIGH SCHOOL	HEALTH	240	7	34.29
SPANISH SPRINGS HIGH SCHOOL	HEALTH SCIENCE I	127		31.75
SPANISH SPRINGS HIGH SCHOOL SPANISH SPRINGS HIGH SCHOOL	HISTORY THROUGH FILM	34	4	34.00
SPANISH SPRINGS HIGH SCHOOL	HSROTC ADV LDR (H)	11	1	11.00
SPANISH SPRINGS HIGH SCHOOL	HSROTC I	89	5	17.80
SPANISH SPRINGS HIGH SCHOOL	HUM ANT/PHS 1 (H)	170	5	34.00
SPANISH SPRINGS HIGH SCHOOL	INTRO TO YOGA	113	2	56.50
SPANISH SPRINGS HIGH SCHOOL	IT ESST II (H)	14	1	14.00
SPANISH SPRINGS HIGH SCHOOL	JAG ELECTIVE G10 S1	30	2	15.00
SPANISH SPRINGS HIGH SCHOOL	JAG ELECTIVE G10 S1 JAG ELECTIVE G11 S1	51	2	25.50
SPANISH SPRINGS HIGH SCHOOL	JAG ELECTIVE G11 S1	53	2	26.50
SPANISH SPRINGS HIGH SCHOOL	JAZZ BAND	13	1	13.00
SPANISH SPRINGS HIGH SCHOOL	JOURNALISM	26	1	26.00
SPANISH SPRINGS HIGH SCHOOL	MARCH/SYMP BAND	55	1	55.00

School	Class	Enrollment	# of Classes	Class Size
SPANISH SPRINGS HIGH SCHOOL	MEDICAL TERM (H)	38	1	38.00
SPANISH SPRINGS HIGH SCHOOL	MIXED CHOIR	15	1	15.00
SPANISH SPRINGS HIGH SCHOOL	MUS THTR WRKSHP	30	1	30.00
SPANISH SPRINGS HIGH SCHOOL	MUSIC APPREC	22	1	22.00
SPANISH SPRINGS HIGH SCHOOL	PAINTING 1	41	2	20.50
SPANISH SPRINGS HIGH SCHOOL	PAIUTE LANG 1	17	1	17.00
SPANISH SPRINGS HIGH SCHOOL	PE	251	5	50.20
SPANISH SPRINGS HIGH SCHOOL	PE 10-11-12	290	6	48.33
SPANISH SPRINGS HIGH SCHOOL	РНОТО І	96	3	32.00
SPANISH SPRINGS HIGH SCHOOL	РНОТО II (H)	22	1	22.00
SPANISH SPRINGS HIGH SCHOOL	PHOTO III (H)	11	1	11.00
SPANISH SPRINGS HIGH SCHOOL	PHYSICAL SCI 1	387	12	32.25
SPANISH SPRINGS HIGH SCHOOL	PHYSICS 1 (H)	27	1	27.00
SPANISH SPRINGS HIGH SCHOOL	POWER WALKING	50	1	50.00
SPANISH SPRINGS HIGH SCHOOL	PRE-CALC W/TRIG (H) S1	154	5	30.80
SPANISH SPRINGS HIGH SCHOOL	PRE-COLLEGE MATH	189	6	31.50
SPANISH SPRINGS HIGH SCHOOL	PRIN BUS MKTG	30	1	30.00
SPANISH SPRINGS HIGH SCHOOL	PROB/STAT/DM S1	138	4	34.50
SPANISH SPRINGS HIGH SCHOOL	PSYCH IN LIT (H)	143	5	28.60
SPANISH SPRINGS HIGH SCHOOL	READ 180 I	14	1	14.00
SPANISH SPRINGS HIGH SCHOOL	SINFONIA ORCH	37	1	37.00
SPANISH SPRINGS HIGH SCHOOL	SOCCER & CONDITIONING	93	2	46.50
SPANISH SPRINGS HIGH SCHOOL	SPANISH 1	257	8	32.13
SPANISH SPRINGS HIGH SCHOOL	SPANISH 3	181	6	30.17
SPANISH SPRINGS HIGH SCHOOL	SPANISH 5 (H)	85	3	28.33
SPANISH SPRINGS HIGH SCHOOL	SPANISH LITERACY 3	58	2	29.00
SPANISH SPRINGS HIGH SCHOOL	SPANISH LITERACY 5 (H)	35	1	35.00
SPANISH SPRINGS HIGH SCHOOL	SPEECH/DEBATE	15	1	15.00
SPANISH SPRINGS HIGH SCHOOL	SPORTS LIT	35	1	35.00
SPANISH SPRINGS HIGH SCHOOL	SPORTS MED I (H)	102	3	34.00
SPANISH SPRINGS HIGH SCHOOL	SPORTS MED II (H)	103	3	34.33
SPANISH SPRINGS HIGH SCHOOL	STUDENT LEADERSHIP	25	1	25.00
SPANISH SPRINGS HIGH SCHOOL	TEACHING and TRAINING I	67	2	33.50
SPANISH SPRINGS HIGH SCHOOL	TEACHING and TRAINING II (H)	21	1	21.00
SPANISH SPRINGS HIGH SCHOOL	TEACHING and TRAINING III (H)	20	1	20.00
SPANISH SPRINGS HIGH SCHOOL	UKULELE 1	26	1	26.00
SPANISH SPRINGS HIGH SCHOOL	US HISTORY 1	542	16	33.88
SPANISH SPRINGS HIGH SCHOOL	VIDEO PROD I	67	2	33.50
SPANISH SPRINGS HIGH SCHOOL	VIDEO PROD II (H)	34	1	34.00
SPANISH SPRINGS HIGH SCHOOL	VIDEO PROD III (H)	32	1	32.00
SPANISH SPRINGS HIGH SCHOOL	VIDEO PROD III L	16	1	16.00
SPANISH SPRINGS HIGH SCHOOL	VOLLEYBALL	149	3	49.67
SPANISH SPRINGS HIGH SCHOOL	WEB DESG DEV I	34	1	34.00
SPANISH SPRINGS HIGH SCHOOL	WEB DESG DEV II (H)	16	1	16.00
SPANISH SPRINGS HIGH SCHOOL	WOMEN'S CHORUS	13	1	13.00
SPANISH SPRINGS HIGH SCHOOL	WORLD HISTORY 1	528	17	31.06
SPANISH SPRINGS HIGH SCHOOL	WRITER'S CRAFT I	33	1	33.00
SPANISH SPRINGS HIGH SCHOOL	YEARBOOK	23	1	23.00
SPANISH SPRINGS HIGH SCHOOL	ZOOLOGY S1	27	1	27.00
SPARKS HIGH SCHOOL	ADV ALGEBRA 3 S1	116	4	29.00
SPARKS HIGH SCHOOL	ALGEBRA 2 S1	264	8	33.00
SPARKS HIGH SCHOOL	ALGEBRA 2 S1 (H)	40	2	20.00
SPARKS HIGH SCHOOL	AMER GOVT 1	214	7	30.57
SPARKS HIGH SCHOOL	AP CALCULUS AB S1	20	1	20.00

School	Class	Enrollment	# of Classes	Class Size
SPARKS HIGH SCHOOL	AP CHEMISTRY S1	46	2	23.00
SPARKS HIGH SCHOOL	AP COMP SCI PRIN	89	3	29.67
SPARKS HIGH SCHOOL	AP ENG LANG S1	69	2	34.50
SPARKS HIGH SCHOOL	AP ENG LIT S1	78	3	26.00
SPARKS HIGH SCHOOL	AP ENVIRON SCI S1	12	1	12.00
SPARKS HIGH SCHOOL	AP SPANISH LANGUAGE & CULTURE	41	4	10.25
SPARKS HIGH SCHOOL	AP US GOVT & POL S1	102	3	34.00
SPARKS HIGH SCHOOL	AP US HISTORY S1	40	2	20.00
SPARKS HIGH SCHOOL	AP WORLD HISTORY S1	46	2	23.00
SPARKS HIGH SCHOOL	ART 1	164	5	32.80
SPARKS HIGH SCHOOL	ART 3	24	2	12.00
SPARKS HIGH SCHOOL	ART 5 (H)	14	1	14.00
SPARKS HIGH SCHOOL	AVID 1	31	1	31.00
SPARKS HIGH SCHOOL	BIOLOGY 1 (H)	62	2	31.00
SPARKS HIGH SCHOOL	CERAMICS 1	61	2	30.50
SPARKS HIGH SCHOOL	CHEM LAB (H)	46	2	23.00
SPARKS HIGH SCHOOL	CHEMISTRY 1 (H)	144	5	28.80
SPARKS HIGH SCHOOL	COMPUTER SCIENCE & APPS	111	4	27.75
SPARKS HIGH SCHOOL	CONCERT ORCH	16	1	16.00
SPARKS HIGH SCHOOL	COND/WGHT TRNG	84	2	42.00
SPARKS HIGH SCHOOL	CONST TECH I	52	2	26.00
SPARKS HIGH SCHOOL	CONST TECH II (H)	13	1	13.00
SPARKS HIGH SCHOOL	CREATIVE WRITING	31	1	31.00
SPARKS HIGH SCHOOL	EARTH SCIENCE 1	101	3	33.67
SPARKS HIGH SCHOOL	ENGLISH 1 (H)	87	3	29.00
SPARKS HIGH SCHOOL	ENGLISH 3	209	7	29.86
SPARKS HIGH SCHOOL	ENGLISH 3 (H)	86	3	28.67
SPARKS HIGH SCHOOL	ENGLISH 5	224	7	32.00
SPARKS HIGH SCHOOL	ENGLISH 7	204	6	34.00
SPARKS HIGH SCHOOL	ENRICH/INTERV	734	32	22.94
SPARKS HIGH SCHOOL	ENVIRON SCI 1	28	1	28.00
SPARKS HIGH SCHOOL	FASHION CONST I	26	1	26.00
SPARKS HIGH SCHOOL	FITNESS/WT TRNG	81	3	27.00
SPARKS HIGH SCHOOL	FOODS I	85	3	28.33
SPARKS HIGH SCHOOL	FRENCH 1	49	2	24.50
SPARKS HIGH SCHOOL	FRENCH 3	36	2	18.00
SPARKS HIGH SCHOOL	FRESHMAN SEMINAR	324	13	24.92
SPARKS HIGH SCHOOL	FRML GEO 1 (H)	23	1	23.00
SPARKS HIGH SCHOOL	GEOMETRY 1	369	13	28.38
SPARKS HIGH SCHOOL	HEALTH	117	4	29.25
SPARKS HIGH SCHOOL	HSROTC I	73	5	14.60
SPARKS HIGH SCHOOL	HUM ANT/PHS 1 (H)	95	3	31.67
SPARKS HIGH SCHOOL	HUMAN DEVLOP I	34	1	34.00
SPARKS HIGH SCHOOL	MANUF TECH I	91	3	30.33
SPARKS HIGH SCHOOL	MANUF TECH II (H)	28	1	28.00
SPARKS HIGH SCHOOL	MARCH/SYMP BAND	22	1	22.00
SPARKS HIGH SCHOOL	OFF CAMPUS 1	40	1	40.00
SPARKS HIGH SCHOOL	OFF CAMPUS 6	50	1	50.00
SPARKS HIGH SCHOOL SPARKS HIGH SCHOOL	PE	512	11	46.55
SPARKS HIGH SCHOOL SPARKS HIGH SCHOOL	PHOTO I	26		26.00
			1	
SPARKS HIGH SCHOOL	PHYSICAL SCI 1	145	6	24.17
SPARKS HIGH SCHOOL SPARKS HIGH SCHOOL	PRE-CALC W/TRIG (H) S1 SINFONIA ORCH	109 23	3 1	36.33 23.00
SEARKS DIGIT SERVER	MINEUMA UKUM	2.5		25.00

School	Class	Enrollment	# of Classes	Class Size
SPARKS HIGH SCHOOL	SPANISH 3	29	1	29.00
SPARKS HIGH SCHOOL	SPANISH LITERACY 3	36	1	36.00
SPARKS HIGH SCHOOL	SPANISH LITERACY 5 (H)	59	2	29.50
SPARKS HIGH SCHOOL	STUDENT LEADERSHIP	30	1	30.00
SPARKS HIGH SCHOOL	US HISTORY 1	251	7	35.86
SPARKS HIGH SCHOOL	WEB DESG DEV I	23	1	23.00
SPARKS HIGH SCHOOL	WEB DESG DEV II (H)	14	1	14.00
SPARKS HIGH SCHOOL	WORLD HISTORY 1	256	8	32.00
TMCC MAGNET SCHOOL	ALGEBRA 2 S1 (H)	57	3	19.00
TMCC MAGNET SCHOOL	AMER GOVT 1	60	3	20.00
TMCC MAGNET SCHOOL	ENGLISH 3 (H)	54	2	27.00
TMCC MAGNET SCHOOL	ENGLISH 5 (H)	90	4	22.50
TMCC MAGNET SCHOOL	ENRICH/INTERV	168	11	15.27
TMCC MAGNET SCHOOL	FRML GEO 1 (H)	17	1	17.00
TMCC MAGNET SCHOOL	STUDENT LEADERSHIP	24	2	12.00
TMCC MAGNET SCHOOL	US HISTORY 1	88	4	22.00
TMCC MAGNET SCHOOL	WORLD HISTORY 1	54	2	27.00
TMCC MAGNET SCHOOL	YEARBOOK	13	1	13.00